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To Whom It May Concern:

The purpose of this letter is to provide the Arizona Corporation Commission
(“Commission”) with additional information in support of Sulphur Springs Valley
Electric Cooperative, Inc.’s (“SSVEC” or “Cooperative™) Petition to Amend Decision No.
71274 Pursuant to A.R.S. §40-252 and for Related Authorization (“Petition”) that was not
available at the time of the January 14, 2010, filing of the Petition. The Cooperative
believes this information is relevant to the public interest considerations that the
Commission is currently considering with respect to its determination as to whether to
grant the relief requested in the Petition.

Background

Prior to the filing of SSVEC’s last rate case, the Cooperative (and the Commission)
rarely received any complaints from its members regarding the Cooperative’s relationship
with its members. However, because of SSVEC’s plans to construct the 69 kV line in the
Sonoita/Patagonia area, a well-organized small group of members who own property
along the 69 kV route, who purchased their property with full knowledge that SSVEC
had an easement to construct a power line that would be visible from their property,
orchestrated a campaign at the Commission (using the rate case docket) to stop
construction of the line. As part of this campaign, those in opposition to the line made
oral claims to the Commission, e-mailed Commissioners, and filed numerous letters,
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comments, and complaints in the docket alleging, among other things, that (i) SSVEC
was not cooperating with its members, (ii) SSVEC was providing inaccurate information
to its members and to the Commission, and (iii) the vast majority of SSVEC members in
the Sonoita/Patagonia area opposed the 69 kV line. As a result, the Commission stopped
SSVEC from constructing the 69 kV line pending the filing of an independent feasibility
study (“Independent Study”) and has ordered further proceedings. These actions have
already cost SSVEC member/ratepayers hundreds of thousands of dollars and if this
matter continues it will cost SSVEC member/ratepayers considerably more money.
Moreover, at recent Open Meetings of the Commission, various Commissioners have told
SSVEC representatives that they are concerned about the level of complaints they
continue to receive and that the Cooperative does not appear to have a good relationship
with its members.

This greatly concerned SSVEC’s member-elected Board of Directors and management
and prompted the Cooperative to initiate an independent survey of its membership to
primarily address how the members feel about their Cooperative, as well as test the
vehement claims of those that oppose the 69 kV line, that the approximately 2,500
members in the Sonoita/Patagonia area oppose the construction of the line. The Survey
was conducted by RBI Strategies and Research and Severson & Associates at no cost to
SSVEC thanks to the assistance of TWN, the internet partner of SSVEC to whom the cost
of this survey will be billed.

Survey Results

Attached for your consideration is a copy of the Survey Report. Suffice it to say, the
Survey Report by an overwhelming margin confirms that SSVEC’s membership,
including those members from the Sonoita/Patagonia area, give their Cooperative high
marks regarding customer relations, rates, environmental stewardship, and
communication. Additionally, the poll also refutes the claims made by those who oppose
the 69 kV line that a majority of members residing within the Sonoita/Patagonia area

oppose the line. To the contrary, after hearing the pros and cons, 83% percent of
SSVEC’s total membership supports the proposed line, while 8% oppose it and the
remainder are undecided. Within the Sonoita/Elgin/Patagonia area, 72% support
construction of the 69 kV line, 22% oppose it, and 6% are undecided. The survey found
that while SSVEC received good marks for electric service reliability in the service
territory as a whole, the electric service reliability scores in the Sonoita/Elgin/Patagonia
area were the worst the polling company has seen in two decades of polling cooperative
memberships around the nation.
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Conclusion

Given the results of the Independent Study, the Survey Report, and the reasons set forth
in the Petition, SSVEC respectfully requests that the Commission find that construction
of the line is in the overall best interest of SSVEC members and grant the relief requested
in its Petition.'

Wy

Creden W. Huber
Chief Executive Officer
Sulphur Springs Valley Electric Cooperative, Inc.

Cc:  Kiristin K. Mayes, Chairman
Gary Pierce, Commissioner
Paul Newman, Commissioner
Sandra D. Kennedy, Commissioner
Bob Stump, Commissioner
Steve Olea, Director of Utilities
Wesley C. Van Cleve, Attorney
Jane Rodda, Administrative Law Judge (via mail)
Susan Scott, Intervenor (via mail)
Susan J. Downing, Intervenor (via mail)
James F. Rowley, III, Intervenor (via mail)
Docket Control (13 copies)

' In consideration of the granting of the relief requested in the Petition, SSVEC will withdraw its
Application for Reconsideration and its Application for a Moratorium.
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SSVEC Survey Report - Executive Summary -January 26, 2010

TO: Jack Blair
FROM: Jody Severson / Severson & Associates

By landslide margins, the member-owners of SSVEC favor building the
69KV line to the Sonoita, Elgin and Patagonia area (SEP). Within that area
itself, ground zero for the opposition, the new line is favored by 70% with 18%
opposed and 11% undecided. Among the entire membership, 63% favor the line

while 8% oppose it and 29% are undecided.

Within the SEP area, SSVEC receives the lowest scores for’ the‘reliabilit’y
of its service that we have seen in more than 20 years of polling electric

cooperative memberships around the nation.

In that area, merely 46% give SSVEC a positive rating for "keeping blinks
and momentary outages to a minimum," while 24% give the co-op a negative
rating. On "keeping longer outages to a minimum," the score is 58% positive to
15% negative, and on "restoring power quickly after an outage," the score is

65% positive and 15% negative.

These questions were asked with the same wording and methodology
we've used through the years, at co-ops large and small, rural and suburban.
Typically a co-op would expect to see its positive ratings on these questions in

the mid-to-high 80s and the negatives in the single digits, occasionally

‘breaking into double digits. You're below the national norm in the SEP area by

30 to 50 points on these reliability questions. It's not surprising that they want

that new line by such overwhelming numbers.

We used the same technique in this poll that is often used in political
campaign polling. Without indicating who was paying for the survey, we asked

to speak to the person responsible for paying the electric bills.

We then asked an open-ended question, “What would you say is the most

important issue facing your community today?” As would be expected, "jobs and
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the economy" top the list, with immigration trailing a far distant second, utility
and electric bills coming in behind that, and a smattering of other issues
getting a mention (schools, government spending, crime, health care, taxes,

etc.).

By way of introducing the topic for this evening's poll, we then asked the
standard question about overall member satisfaction with SSVEC, and received

an 88% positive rating over 7% negative, which is slightly above average.

We then asked members how much they had heard about SSVEC's plans
to build a new power line to the SEP area. As would be expected, 95% of those
in the area had heard about it, including 58% who said they have heard "a lot."
For the membership as a whole, 48% said they've heard either a lot or a fair

amount about the line, while 52% had heard not much or nothing.

Then we asked the "first horse race” question. Without explaining any of
the justification for the line or any of the reasons given to oppose it we asked,
“Based on everything you've heard about this issue so far, do you think the new
power line to the Sonoita / Elgin / Patagonia area should be allowed to built or
not?" People who were uncertain were asked which way they lean (standard
technique). That produced the result referred to a moment ago: among all
members, the new line is favored 63% to 8% and in the SEP area it is favored
70% to 18%.

If an election were held tomorrow, it would be a landslide of those

__proportions. That's the score as it stands right now.

We then asked a series of standard questions to probe member attitudes

about the co-op's performance (including those reliability questions).

Then we introduced the Sonoita line. We gave them some background
information, explaining that only one feeder line serves the area, that it has
270 hours of outages per year compared to under 3 for the rest of the system,

and that SSVEC requested a ban on new hookups because the line is

overloaded. We told them that the co-op wants to build a second line to relieve
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the overloading and provide a backup route for power. Little of this would be
news to anyone in the SEP area, nor would it be news to about half of the other

members.

We then tested four sets of pro and con arguments, juggling the order in
which they were asked as much as practical from one interview to the next so
as to minimize the bias that naturally comes when people hear questions and

the information presented by the questions in sequence.

We asked about the view-shed issue versus SSVEC's right of way, as

follows:

"Opponents say that the new line will hurt their property values because it
will interfere with their view of the mountains. The cooperative says that it has
owned the right of way to build that line for 28 years and that it was public
record when property owners bought their property. As regards concerns about
the view of the mountains, which of these two sides do you most agree with --

even if neither is exactly your opinion?"

By 81% to 12%, the overall membership sided with SSVEC and 12%
sided with the opponents. Within the SEP area, 71% sided with SSVEC while
18% sided with the opponents. In the affected area, then, the opponents' view-
shed argument nets about 16 points better than it does overall, but it's still a
blowout. Please note that our statement of the oppbnents' position deliberately
referenced the protection of property values, which we thought would play
favorably in a conservative place like Arizona. Our goal in writing these

questions is to allow both sides to put their best foot forward.

We asked the view-shed argument another way, this time raising the
issue of unfairness visited upon property owners, versus the study's finding

that the chosen route affects the fewest people. The exact wording:

"Opponents say that putting the new line in the view of the mountains is
unfair to them because one of the primary reasons they bought their property

was the view of the mountains. The cooperative says that the path they chose for
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the new line is the path that affects the fewest number of people, a statement
with which an independent study has agreed."

Among all members, 80% side with the co-op and 12% with the
opponents. In the SEP area, again the opponents did a little better (72% for the
co-op, 19% for opponents), but still a landslide. Please note that we are not
using any hot-button language to describe opponents, such as "a small
handful" or "tiny minority" or "extremists" or even "environmentalist." Indeed,
by referring to the "unfairness" cited by opponents, we perhaps gave them
whatever advantage there may be in being seen as the underdog against the big
utility.

We then tested another major pairing of pro and con statementé, as

follows:

"Opponents say that alternative energy sources, like wind or solar power,
could take care of much of the problem. They want the cooperative to build
enough alternative energy sources in the area to reduce the need for a new line
and say that would be positive for the environment as well. The cooperative says
that renewable energy would not solve the reliability and power quality problems
caused by having only one line into the area, would not provide enough
electricity when it is needed, would be only a short term fix and would be far
more expensive, a statement with which an independent study on the matter has

agreed."

Overall the membership sided with the co-op by 78% to 14%, and in the
SEP area they sided with the co-op 74% to 21% for the opponents.

Next we related the findings of the Navigant study and paired that

against the notion of further studies, as follows:

"I'd like to ask your opinion on another issue. Opponents of the Sonoita/
Elgin/ Patagonia line asked the Arizona Corporate Commission, which regulates
electric utilities, to order Sulphur Springs Valley Electric Cooperative to conduct

an independent, third party study of the alternatives to building a new feeder
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line, including wind and solar power. That study has just been completed and
found that the proposed new feeder line is the most realistic, affordable and long
term way to solve the reliability and power quality problems. Opponents are
expected to criticize the study or ask for more studies of the various alternatives.
The cooperative says that further delays will significantly increase costs to put in
the new line to the Sonoita/ Elgin/ Patagonia area and that such cost increases

are unfair to all other ratepayers who have to pay for the new line."

Overall the membership sided with the co-op 84% to 11%, and in the
SEP area 75% to 17%.

Overall, members gave SSVEC a solid ranking on "being good stewards of
the environment," with 58% rating the co-op "pretty good" or "excellent" on this
issue. Merely 7% gave SSVEC a negative rating on environmental stewardship.

In the SEP area it was a tad softer: 51% positive, 18% negative.

When political campaigns use this polling technique, they do what we've
done. First, almost immediately into the survey and with the minimum amount
of information introduced to bias the answers, they ask which side the
respondent will support. Then they test a variety of issues, as we just did.
Then they ask a "re-vote" question to see what has happened now that
respondents have spent a little more time thinking about the issue and after
having heard more of the pros and cons. Here's the wording (again, it's a

standard way of phrasing the question):

"Sometimes, over the course of a survey like this one, with more
information, people change their minds. Do you think the new power line to the
Sonoita/ Elgin/ Patagonia area should be allowed to be built or not? (IF OPINION
GIVEN:) Is that strongly SUPPORT/ OPPOSE or just sdmewhat

SUPPORT/ OPPOSE? (IF UNDECIDED:} Well, which way would you say you

lean?"
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Among all members, support for the line is overwhelming: 83% in favor,
8% opposed. In the SEP area, only slightly less overwhelming: 72% favor the
line 22% oppose it.

Taken together, this means that when the entire membership hears the

| pros and cons, support for the line rises from its initial 63% to an astounding
83%, while opposition remains the same at 8%. The undecideds fell 20 points

and support for the line gained 20 points.

In the SEP area, after hearing all the pros and cons, support for the line
rose by 2 points from its initial standing while opposition to the line increased
by 4 points. Residents of the area favored the line by 3 to 1 after hearing the

pros and cons, with 72% favoring it, 22% opposed, and 5% undecided.

In designing the questions, we wanted to test what appeared to be the
most effective arguments advanced by the opposition (property rights,
unfairness, renewables, environment). If indeed that’s the best they've got,
then opponents don't yet have a case with any prayer of prevailing. That's a key
point to remember in a utility that is 100% owned by its members. Cooperative
members cast 100% of the votes for the board of directors that governs the

organization.

Fewer than 1 in 10 members oppose the line, and in the SEP area itself,
one in five. In the minds of the members, SSVEC's responses powerfully

overwhelm the concerns raised by opponents.

If we were to offer consolation to opponents, it would be to say that it's
possible they might fare better if the economy were not such a large concern
and if people in the affected area were not as torqued off about blinks and
outages as they appear to be, but based on years of experience reading such
polls and absent an earth-shattering new event, we don't think that would

change the final outcome.

For whatever it may be worth as your rate case moves forward, members

give SSVEC a 2:1 positive over negative rating on "working to keep rates low."

6



Severson & Associates

Fully 45% said you are either "pretty good" or excellent in your efforts to keep
rates low, while 21% rated SSVEC either "fair" or "very poor.“ Since no one will
ever tell a pollster, "Your service is so good you ought to raise my rates," this
2:1 positive is about as good as it ever gets on the rate question. Occasionally

we see a system that does slightly better than this, and often we see worse.

In the SEP area, it was 38% positive over 25% negative on "working to
keep rates low." In such surveys, sentiment about rates is always correlated to
sentiment about the quality of the service. The more outages you have, the
more it seems your rates are too high. You have way too many outages in the

SEP area to expect a strong rating on your rates.

Methodology

This survey was jointly sponsored by Transworld Network and Sulphur
Springs Valley Electric. The Transworld portion of the surVey measured
customer awareness of, interest in, satisfaction with, and market penetration
levels of its Internet and digital phone service. Those findings have been

provided to Transworld in a separate written report.

The survey was conducted by Severson & Associates and RBI Strategies
& Research. We completed 600 interviews of SSVEC residential members,
limited to people who indicated that they were the person in the household

responsible for paying the household electric bill.

A total of 500 interviews was conducted among a statistically valid cross-
section of all residential members of SSVEC. In order to increase the statistical
validity of the Sonoita, Elgin, and Patagonia area, an oversample of 100
interviews was conducted among only SSVEC members in director district
seven. The base sample and subsample have margin of errors of +/-4.4% and
+/-8.5% at the 95% confidence level respectively. Survey interviews were
conducted from January 18 — January 20, 2010 by professional telemarketers
using a statistically valid random sample drawn from a list of SSVEC member

households.
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Severson & Associates has provided polling and communication services
to electric and telecom cooperatives since 1987 through electric cooperative
statewide associations, generation & transmission cooperatives, the co-ops’
national trade association (NRECA), the National Rural Utilities Cooperative
Finance Corporation (CFC), and a host of individual cooperatives facing
territorial, rate, facility siting, board controversies, and other challenges, from
Delaware to Hawaii and from the north woods of Minnesota to Louisiana

bayous.

On the political side, Severson's clients have included current or former
Presidential candidates, U.S. Senators and U.S. Representatives Tom Daschle,
James Abourezk, George McGovern, Ben Nelson, Robert Kerrey, J.J. Exon,
Gary Hart, Dick Gephardt, and Tim Johnson, among others. The roster also
includes scores of progressive or moderate candidates for Legislature, statewide
office, and local office (and a few conservatives here and there). Ballot issues
include voter approval of the Denver International Airport and a series of
successful statewide ballot initiatives aimed at limiting open pit mining,
nuclear waste disposal, and industrial garbage dumps in the Black Hills of

South Dakota.

RBI's clients have included Congressman Mark Udall, the National
Wildlife Action Fund, the National Wildlife Federation, Coloradans United for
Bears, Colorado Conservation Voters, Bill Bradley for President, the Colorado
Council of Teamsters, the AFL-CIO, Howard Dean for President, the Democratic
National Committee, Social Democrats of Sweden, AFSCME, Trust for Public
Lands, the Leadership Conference on Civil Rights, Fund for Animals, and the
Sierra Club.



Public Opinion in Sulphur Springs Valley, Arizona
Transworld Network
A Survey by RBI Strategies and Research / Severson & Associates
Survey Conducted January 18 - January 20, 2010
N=600; Base Sample Margin of Error is $4.4% | Oversample Margin of Error is £8.5%

TOPLINE REFERENCE
BASE SAMPLE | OVERSAMPLE
Iscreen ]
My name is ' from Standage Market Research, a public opinion polling firm. We’re not selling

anything. We are conducting a survey about some issues people have been talking about lately. It will take only a
few minutes and all responses will remain anonymous and used only for research purposes.

ASK IF THEY ARE THE PERSON IN THE HOUSEHOLD IN CHARGE OF PAYING ELECTRIC BILLS.

IF YES: PROCEED WITH SURVEY
IF NO: ASK FOR THE PERSON IN THE HOUSEHOLD IN CHARGE OF PAYING ELECTRIC BILLS.

{Mood of Consumers . ]

1. What would you say is the most serious problem facing your community today? (OPEN ENDED WITH
PRECODES)

Jobs and the economy 39%  40%
Immigration 11
Utility bills/ electric bills
Schools/ education
Government spending/budget
Crime

Health care

Bills (general)

Taxes

Roads and public transportation
City services

Other

REFUSED

DK/NA

—_—O\ = = NN W RV OO

2 15

2. Please consider all your experiences to date with Sulphur Springs Valley Electric Cooperative. Can you
tell me if you are very satisfied, somewhat satisfied, neither satisfied nor dissatisfied, somewhat dissatisfied
B or very dissatisfied with Sulphur Springs Valley Electric Cooperative?

Very satisfied 59%  46%  TOTAL SATISFIED: 88% 75%
Somewhat satisfied 29 29

Neither satisfied nor dissatisfied 5 9 TOTAL DISSATISFIED: 7% 15%
Somewhat dissatisfied 5 10

Very dissatisfied 2 5

Unsure (VOL.) - 2

REFUSED - -

DK/NA - -



|Power line |

! 3. Recently, there has been some publicity you may or may not have heard about Sulphur Springs Valley
Electric Cooperative’s plans to build a new power line to the Sonoita (sun-OY-tah) / Elgin (EL-jin)/
Patagonia (pat-uh-GO-nyuh) area. How much would you say you have heard about this: (READ LIST)

Alot 18% 58%  TOTAL HIGH INFO: 48% 95%
A fair amount 30 37
Not much 30 5 TOTAL LOW INFO: 52% 5%
Nothing at all 21 -
Unsure (VOL.) - -
REFUSED - -
DK/NA - -
4, Based on everything you have heard about this issue so far, do you think the new power line to the Sonoita/

Elgin/ Patagonia area should be allowed to be built or not? (IF UNSURE:) Well, which way would you
say you lean? :

Build 52%  64%  TOTAL BUILD: 63% 70%
Lean build 11 6
Lean not built 2 2 TOTAL NOT BUILD: 8% 18%
Not build 7 16
Hard undecided (VOL.) 24 11
REFUSED - -
DK/NA 5 -
|Basic Performance ]

I'm going to read you a list of qualities that might be used to evaluate an electric utility. I'd like you to use a scale
from 1 to 5 to rate how well Sulphur Springs Valley Electric Cooperative is performing on each one. Give a rating
of 1 if you think it does a very poor job, 2 for only a fair job, 3 for an average job, 4 for a pretty good job or 5 for an
excellent job. Here's the first question: how would you rate Sulphur Springs Valley Electric Cooperative on:

ALL AREAS
ROTATE ALL TOTAL TOTAL Very . Pretty
GOOD/EXC | FAIR/POOR | Poor | FoIr | AVE | .4 |Exclnt|Unsure] DK
5.a. Keeping blinks
and momentary 78% 5% 1% 4% 14% | 35% [43% | 2% | 1%
outages {0 @ minimum
6.a. Restoring power 77% 50, 1 4 12 34 43 4 2

quickly after an outage

7.4, Communicating ~f R Tl R - :
with you and keeping 67% 12% 5 8 18 33 34 1 1
you informed
8.a. Handling
customer questions 58% 7% 3 4 13 25 33 12 | 10
and complaints
rZ‘t:S Y‘(’)‘v’:}““g tokeep | 450, 21% 9o | 12 | 25 | 25 | 20| 6 | 3
10.a. Being good
stewards of the 57% 7% 2 5 17 29 28 12 7
environment.

11.a. Keeping longer
power outages o a 80% 4% 1 3 11 34 46 3 2
minimum.




ONLY SONOITA/ PATAGOINA/ ELGIN AREA

OTATE ALL TOTAL TOTAL Very . Pretty
GOOD/EXC | FAIR/POOR | Poor | F&F | Av8 | ,50q |Exclnt|Unsure] DK
5.b. Keeping blinks ‘
and momentary 46% 24%, 11% | 13% | 29% | 30% | 16% | 2% | %
outages to a minimum ‘
6.b. Restoring power 65% 15% 5 10 20 45 20 ) .

quickly after an outage
7.b. Communicating ,
with you and keeping . 73% 16% 10 6 10 30 43 - 1
you informed
8.b..Handling
customer questions 55% 12% 6 6 17 20 35 8 9
and complaints
b Workingtokeep | 3804 25% | 13| 12 | 28 | 24 |14] s |5
10.b. Being good
stewards of the 51% 18% 12 6 16 28 23 9 6
environment.
11.b. Keeping longer
power outages to a 58% 15% 6 9 24 35 23 2 -
minimum.

|Sonoita Line

I want to ask a few questions about the proposed power line to the Sonoita/ Elgin/ Patagonia area but first let me
give you some background information. There is currently only one feeder line serving the Sonoita, Patagonia and
Elgin area and the electric cooperative says demand for electricity there has outgrown the line. As a result, that area
has averaged 270 hours of outages a year, compared with an average of under 3 hours of outages in the rest of their
service territory. Sulphur Springs Valley Electric Cooperative requested a ban on new hookups in the area because
the feeder line serving the Sonoita, Elgin and Patagonia area is overloaded.

The co-op wants to build a second feeder line to the area to relieve that overloading and provide a backup route to
deliver electricity and protect power quality. As you may have heard, some opposition to the proposed new line has
arisen. 1 am going to read you some statements made by supporters and by opponents of the proposed new power
line.

(ROTATE Q12 AND Q13)

12, Opponents say that the new line will hurt their property values because it will interfere with their view of

the mountains. The cooperative says that it has owned the right-of-way to build that line for 28 years and
that was public record when property owners bought their property. As regards concerns about the view of
the mountains, which of these two sides do you most agree with -- the co-op or the opponents -- even if
neither is exactly your opinion? (IF UNDECIDED:) Well, which way do you lean?

Coop 73%  67%  TOTAL COOP: 81% 71%

Lean coop 8 4

Lean opponents 2 - TOTAL OPPONENTS: 12% 18%
Opponents 9 18

Undecided (VOL.) 7 9

REFUSED - -

DK/NA - 2




13. Opponents say that putting the new line in the view of the mountains is unfair to them because one of the
primary reasons they bought their property was the view of the mountain. The cooperative says that the
path they chose for the new line is the path that will affect the fewest number of people, a statement with
which an independent study on the matter has agreed. As regards concerns about the view of the
mountains, which of these two sides do you most agree with -- the co-op or the opponents -- even if neither
is exactly your opinion? (IF UNDECIDED:) Well, which way do you lean?

Coop 74%  66%  TOTAL COOP: 80% 72%

Lean coop 6 6

Lean opponents 3 2 TOTAL OPPONENTS: 12% 19%
Opponents 10 17

Undecided (VOL.) 7 8

REFUSED - -

DK/NA - -

14, Opponents say that alternative energy sources, like wind or solar power, could take care of much of the
problem. They want the cooperative to build enough alternative energy sources in the area to reduce the
need for a new line and say that would be positive for the environment as well. The cooperative says that
renewable energy would not solve the reliability and power quality problems caused by having only one
line into the area, would not provide enough electricity when it is needed, would be only a short term fix
and would be far more expensive, a statement with which an independent study on the matter has agreed.
As regards the idea of using renewable energy to reduce the need for a new line, which of these two views
do you most agree with -- the cooperative or the opponents -- even if neither is exactly your opinion? (IF
UNDECIDED:) Well, which way do you lean?

Coop 70% 68%  TOTAL COOP: 78% 74%
Lean coop 8 6
Lean opponents 3 2 TOTAL OPPONENTS: 14% 21%
Opponents 11 19
Undecided (VOL.) 7 8
REFUSED - -
DK/NA 1 2
[ Third Party Study |
15. 1"d like to ask your opinion on another issue. Opponents of the Sonoita/ Elgin/ Patagonia line asked the

Arizona Corporate Commission, which regulates electric utilities, to order Sulphur Springs Valley Electric
Cooperative to conduct an independent, third party study of the alternatives to building a new feeder line,
including wind and solar power. That study has just been completed and found that the proposed new
feeder line is the most realistic, affordable and long term way to solve the reliability and power quality
problems. Opponents are expected to criticize the study or ask for more studies of the various alternatives.
The cooperative says that further delays will significantly increase costs to put in the new line to the

Sonoita/ Elgin/ Patagonia area and that such cost increases are unfair to all other ratepayers who have to
pay for the new line.

As regards conducting more studies of the issue, which of these two views do you most agree with -- the
cooperative or the opponents -- even if neither is exactly your opinion? (IF UNDECIDED:) Well, which
way do you lean?

Coop 77%  72%  TOTAL COOP: 84% 75%

Lean coop 6 3

Lean opponents 2 2 TOTAL OPPONENTS: 11% 17%
Opponents 9 15

Undecided (VOL.) 4 4

REFUSED - -

DK/NA - 4




IRevote

16. Sometimes, over the course of a survey like this one, with more information, people change their minds.
Do you think the new power line to the Sonoita/ Elgin/ Patagonia area should be allowed to be built or not?
(IF OPINION GIVEN:) Is that strongly SUPPORT/OPPOSE or just somewhat SUPPORT/OPPOSE? (IF
UNDECIDED:) Well, which way would you say you lean?

Strong build 66%  63%  TOTAL BUILD: 83% 72%
Somewhat build 13 7

Lean build 3 2

Lean not built 1 2 TOTAL NOT BUILD: 8% 22%
Somewhat not build 1 2

Strong not build 6 18

Hard undecided (VOL.) 9 5

REFUSED - -

DK/NA - -

17. IF SUPPORT: In your opinion, what is the best reason to support building a new power line to the Sonoita,
Patagonia, and Elgin area? (OPEN ENDED)
SEE_VERBATIMS

18. IF OPPOSE: In your opinion, what is the best reason to oppose building a new power line to Sonoita,
Patagonia, and Elgin area? (OPEN ENDED)
SEE_VERBATIMS

19. IF UNDECIDED: Ofall of the things you have heard about the proposed new power line, whether in this

survey or anywhere else, what are the one or two things that you think are the most important points to consider

when deciding whether to build a new power line to the Sonoita, Patagonia, and Elgin area? (OPEN ENDED)
SEE_VERBATIMS

|Heating and Cooling Systems

20. What is the primary way you heat your home -- do you heat your home with electric heat, natural gas,
propane, wood, solar, or something else?

Electric heat 31%  3%9% (GO TOQ21)
Natural gas 46 17 (GO TO Q22)
Propane 13 19 (GO TO Q22)
Wood , 6 23 (GO TO Q22)
Solar - 1 (GO TO Q22)
Something else 2 1 (GO TO Q22)
REFUSED - - (GO TO Q22)
DK/NA ‘ - 2 (GO TO Q22)




21, (ONLY ASK IF ELECTRIC IN Q20) About how many years old is your electric heating system?

(N=156)
Several months 4% 4% % OF TOTAL: 1% 2%
About a year 9 12 % OF TOTAL: 3% 5%
Between a year and 3 years 23 18 % OF TOTAL: 7% 7%
Older than 4 years 47 63 % OF TOTAL: 15% 24%
Unsure (VOL.) 14 2
REFUSED 1 -
DK/NA 2 -
22, Do you have a central air conditioning and heating system?
Yes 62% 54%
No 37 45
Unsure (VOL.) - -
REFUSED - -
DK/NA - 1

|Transworld Network

23. Again, we are not selling anything and these questions are for research purposes only. Are you aware that
Sulphur Springs Valley Electric Cooperative offers Wi-power high speed internet and digital phone service
throughout Cochise county?

(REGARDLESS OF RECORDED RESPONSE ON THIS QUESTION, IF RESPONDENT IS IN
PATAGONIA/ ELGIN/ SONOITA AREA, ASK Q25; ALL OTHERS FOLLOW SKIP PATTERN)

Yes 59% 57%

No 40 43 (GO TO Q29)
Unsure (VOL.) 1 1 (GO TO Q29)
REFUSED 1 - (GO TO Q29)
DK/NA - - (GO TO Q29)

24, (SKIP IF IN PATAGONIA/ ELGIN/ SONOITA AREA) Do you currently subscribe to this service?

Yes 18% - (GOTOQ26) % OF TOTAL: 10% -
No 79 - (GO TO Q28)
Unsure (VOL.) 3 - (GO TO Q29)
REFUSED - - (GO TO Q29)
DK/NA - - (GO TO Q29)

25. (ONLY ASK IF IN PATAGONIA/ ELGIN/ SONOITA AREA) If Wi-power high speed internet and
digital phone service were available in your area, how likely would you be to subscribe in the next twelve

months.
Extremely likely - 23% (GO TO Q29)
Somewhat likely - 22 (GO TO Q29)
Not very likely - 43 (GO TO Q29)
Not sure (VOL.) - 12 (GO TO Q29)
REFUSED - - (GO TO Q29)
DK/NA - - (GO TO Q29y




26. How satisfied are you with your internet and/or digital phone service? Please rate your satisfaction level on
a scale of 1-5 where 1 is "extremely dissatisfied" and 5 means "extremely satisfied".

Very dissatisfied 6% - (GO TO Q27)
Somewhat dissatisfied 5 - (GO TO Q27)
Neither satisfied nor dissatisfied 6 - (GO TO Q29)
Somewhat satisfied 27 - (GO TO Q29)
Very satisfied 56 - (GO TO Q29)
Unsure (VOL.) 1 - (GO TO Q29)
REFUSED - - (GO TO Q29)
DK/NA - - (GO TO Q29)

27. Why do you say that? (OPEN ENDED)
SEE VERBATIMS

(SKIP TO Q29)

28. What is the main reason you have chosen not to subscribe to this service? (OPEN ENDED)
SEE_VERBATIMS

|Demographics

I only have a few questions left for statistical purposes.

29, Is your home in this area a seasonal residence or your primary residence?
Primary 94%  93%
Seasonal 5 6
Both (VOL.) 1 1
REFUSED 1 -
DK/NA - -

30. Which of the following age groups do you fall into?

18-34 14% 5%
35-44 9 7
45-54 15 19
55-64 19 28
65+ 42 39
REFUSED 1 1
DK/NA - 2
31. Would you please tell me if you or one of your immediate family members is from a Hispanic or Spanish-
speaking background?
Hispanic 15% 18%
Not Hispanic 83 78
REFUSED 1 1

DK/NA - 3



32. How would you describe your race? (READ LIST)

White/Caucasian
Hispanic/Latino
Black/African-American
Asian

Other

REFUSED

DK/NA

81% 85% White non-Hispanic: 75% 75%
Hispanic/Latino: 15% 18%
Black non-Hispanic: 2% -

- N NN
W H O

33. What was your approximate household income for 2008 before taxes? (READ LIST)

Under $25,000 18%  15%
$25,000 to $49,999 24 21
$50,000 to $74,999 19 17
$75,000 to $99,999 10 12
$100,001 to $150,000 7 9
Over $150,000 4 6
DK/NA/REFUSED 18 20
34. What is the highest level of education you have completed?
Less than high school 5% 3%
High school grad 18 11
Some college 28 21
College grad 22 28
Grad school or advanced degree 22 33
Technical/junior college 3 2
DK/NA/REFUSED 2 2

35. Are you currently a student, unemployed, employed, retired or a homemaker? (IF EMPLOYED:) Is that

fulltime or part time?

Full time
Part time
Unemployed
Student
Retired
Homemaker
REFUSED
DK/NA

34%  37%

L T Ll SN =)
=3

N R s
W

That concludes our survey. Thank you VERY MUCH for your time.

CODE THE FOLLOWING

36. GENDER

Male
Female

51%  4%%
49 51




37.

38.

39.

40.

CON DATE

2008 or after
2005 - 2007
1998 — 2004
1997 or before

DISTRICT

Sierra Vista

Benson

Wilcox

Elgin Sonoita Patagonia
Sunsites/Elfrida

BILL
0-55
56 - 85
86 -130
130+
PATAGONIA SONOITA ELGIN

Y
N

26%
23
23
28

59%
20

23%
23
26
28

4%
96

N/A
N/A
N/A
N/A

%

100

20%

19

21
40

100%



010Z Albnupf

ASAINS DIASS — SAD}sSSOID

UoJeosay
salbelens g4y




yoieasay pue salbajens 1gy Aq pasedaly

evL” , 100" €19° 100" T11°
LS°ST 6917 918 pLSE 9678 asenbg 1Yo
€8°T |oL°T |€9°T |99°T |8s't 88T |#0'z |sL°T }e€9°T |[89°T |e9'1 |eo°T |28°T }89°T 891 |89'T uesiy
%0 %0 ‘30 30 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0
20 %0 %0 %0 %0 %0 %0 50 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 xd
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
3L9 %0 %0 3€€ %0 s€¢ $L9 5€€ %0 $L9 %L9 $€€ %0 %00T %0 .
£ X4 %0 %0 5T %0 %0 X4 %2 %0 %0 3T %0 %0 3T 30 $T
4 0 0 T 0 T 4 T 0 Z 2 1 0 £ 0 £ alnsun
$6T %€2 %ST %8¢ %8 $%S 39% 38 %51 $LL $9% %8¢ $ST %69 31E
%2 32 32 5F 51 3T %6 Y4 %2 %2 %2 %z %2 3£ $T %2
z £ z 5 T L 9 T z 01 9 g Z 6 b €1 paysnessip Asa
50€ 38T 361 $8T 281 %19 36€ %6 %6 %28 519 $ST Y74 36¢€ 519
36 %8 37 5p %9 37 30T %9 %€ %9 %8 32 $L 14 $L 29
01 9 S 9 9 0z €1 3 £ Lz 0z S 8 €1 0z €€ paysyessip MS
344 $LT $1¢ 312 %6 $L9 $E€ $ST %81 $L9 $ST $8% $€€ $9¢ %59
%9 3L %9 %S %€ S %6 %01 %9 35 $Z 3L %6 sy $L %9 paysnessip Jou
L 6 L L £ 44 11 S 9 144 S 91 T1 141 12 €€ paysies JaylioN
EYAS %€2 36T $12 361 36L $1C %9 $81 $LL $0€ £1°44 %92 $TS 367
$LT Y43 30€ %92 Y4 $6¢ %6¢ %02 $€€ 30€ $12 %S¢ sLE 20¢€ %62 %62
0¢ 184 ve 9¢ 43 8€T LE 01 1€ VET zs LL S¥ 68 98 SLT paysies Mg
$8T %02 $6T 114 %81 $€8 sLT %6 $ST £372 $8% 1129 %91 $TS 36%
32 35S %86 $19 £85 %09 9% $19 %95 $LS %99 $€9 $S¥ $8S %95 3LS
09 69 §9 98 29 v8¢ 8s 1€ €S 862 €91 LTT SS £LT 691 (423 paisijes AoA
36T 312 36T $¥E 28T $6L $1C %6 %91 £9¢ $T¥ $LE %02 %06 %05
111 821 €11 1%t 90T Ly LZ1 15 56 €Sk 8%z 122 12T 662 00€ 666 aseg
NG HAGL PISI0GIM0S-AGZ| IS N A Jayio Jiy] dsiH d +G9 vo-sy | b8l |Slewad| SieN felol
opun SIH-uou
UM
¢,$OXe} 310}5q 800 10} SWOOU! ealy Ryouyig eoey aby 19puan)
pioyasnoy sjewixosdde Jnok sem Jeym uibi3 epiouos
eluobejey .

£onneiadoo? ousig AsjieA sbuudg Inyding Yim paysiessip AIsA Jo PaySESSIP JBYMBLIOS ‘paysiessIp Jou PaYSHes Jayjisu
‘paysnes Jeymawos ‘peysiies s aie nok i s jjo) noA ued  “eAesedood oupdsig AsiieA sbulds inyding yim sjep o) seousiiadxe nok |je Jopisuod esesid (Z sjqel

si1oquay aanesadoo a1yas13 Asjjea sbupds anyding jo Aeaing v




yoseasay pue salbajells 19y Ag paredald

656" £20° 982" 010"
€6°¢ £€8°LZ LG LT GG LE alenbg O
LL°T |29°T {6L°T |%9°T |96°T |TL°T |6§°T |09°T €9°T |€9°T |8p'T |60z |LS5°T |6v°T |€9°T |89°1 uesiy
%0 %0 %0 30 %0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 30 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 o] 0 0 0 XA
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
$L9 $€€ %0 %0 %0 3001 20 3€€ 30 20 $0 $L9 %0 %0 3€€
3T %0 30 %0 %0 22 %0 31 %0 %0 %0 32 %0 %0 30 31
z 1 0 0 0 £ 0 1 0 0 0 2z 0 0 T £ ainsun
3bs 299 $v6 38 %8 $1¢ $T1¢€ %8 31¢€ %0 %8 sbs %0 %8 31¢
3¢ 32 3b 3T sT %€ %€ 5T 3¢ %0 32 %9 %0 5T %2 %2
L 9 L 1 1 b b T b 0 T L 0 T b €1 paysiessip AaA
%Sb %28 374 $LT %12 $LT %12 %81 $ST %81 %0 $6€ %9 39T $6€
3L %S 12 %9 %5 $L %S %5 £17 35 %0 $0T 3L L1 %S %9
ST LT 8 6 L 6 L 3 S 9 g €1 4 S €T £€ paysiessip MS
%6€ %19 %SY $LT %67 $CT $ST $%T %6 312 %€ 3€€ $€ %6 %25
%9 %S %8 %9 b 3€ % 3L %€ 39 $Z 26 $€ 3€ 29 29 paysiessip Jou
€T 0z ST 6 S 4 S 8 £ L T 1T T € LT €€ payshes jsyjisN
$6€E %09 $€€ $LT 3€C $LT $1C %91 312 %92 $ST 312 %S %81 3TY
30E %62 $€€ $T1E 30€ 322 %92 374 $1€ $LE $6€ 30¢€ 30€ $LZ 3LZ %62
69 S0T 8s Ly 0¥ 0€ LE 8¢ 9¢ 9% 92 LE 6 1€ ZL GLT palysies MS
29€ %€9 %92 %52 E3174 $5C %92 %22 %02 361 $1T %91 %S %22 %9%
276 266G 3TS %96 %19 3€9 %€9 %€9 %8S %28 $8S $hb %09 %59 365 %LS
K21 912 06 78 Z8 98 68 vL L9 S9 8¢ S 81 vL LST Zhe paysijes AsA
%8¢ $T9 $0€ 352 $€2 $€T E1%4 $02 %61 31T $TT 312 %S %61 £127
0€2 59¢ 8LT 0ST GET 9€T Zh1 8TT STT (241 99 T4 0€ VIt v92Z 665 aseq
ON seA | +0ci$ | OEL$ cgs G6$ | aJojeq ¥0 20 Jaye | eplyg |uobeled] xoojipp |uosuag| eisiA | [ejoL
-98% | -96% -0$ [0 /66l |02-8661|02-G00C[10 00T |/SSUSUS| ellouoS Blieig
L]
¢bunesy 7718 31vQa NOD LO1sIa
pue i1y [enua)d

éaneiadood ouosig Aajjen sbunds Jnyding yym paysiessip AlaA Jo palSiESSIP JeUMSLLOS ‘PalsessIp Jou payshes Jayysu
‘paysies Jeumallos ‘paysies AleA ale noA )i sw |9 oA uen  aAjeladoo?) ouoslg AsileA sbuuds nyding yim a)ep 0} seousuadxs UnoA [|e Jepisuod esedld gz olgel

sisquIgy aanetadoo o1a91g Asjjep sbuuds anyding jo Asnung v



yoseasay pue saibajens |9y Aq paredaid

€21° 100° 100" 100" 100"
ah 12 8£°99 6€ 9L 00°965 £6°6¢€ asenbsg 1Yo
9171 |ee't |ss't jtecr |80tz |2ktz |wstT |eLcT |sbrz |TSTT |sLce |wetT |LLcT [LsTT leLT 89T uesp
%0 %0 $0 30 30 %0 %0 %0 %0 %0 %0 %0 30 %0 30
%0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0 30 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 AQ
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 %0 %0 %0 %0 %0 20 %0 %0 30 30 %0 %0 %0
0 0 0 0 0. 0 0 0 0 0 0 0 0 0 0 0 434
30 3€€ $L9 30 30 $L9 3€€ 3€€ $€€ 3€€ 30 30 30 $L9 %€E
%0 3T 5T %0 %0 3€ %0 3T %2 20 %0 %0 %0 3T %0 5T
0 T z 0 0 Z 1 T T T 0 0 0 z T € alnsun
$€2 35T 3TE $£2 3T1¢ %9% %€£2 35T 329 3£2 %001 %0 %8 3bS %8¢
%G 32 32 3T %8 $0T 3T 31 $€T 3T %91 20 31 %2 L34 32
€ z v . g b 9 £ z 8 £ €1 0 T L g €1 paysnessip AoA
%€ ETA $LZ £137 36T $81 $L9 XA $1¢ 356 $00T %0 %ST %28 $e€ .
L4 %5 $F %L $0T %0T %S %S $21 %S E¥A 30 $L %9 %5 %9
T 4 6 ST S 9 44 38 L 8T £€ 0 S LT 11 X psysnessip MS
%6 31T $0€ %9¢ %9 36T 36L 35S %6 $9€ 3007 %0 312 $TC %85
%S 38 %% %9 $v %8 25 $2T 35 € Y4, %0 20T $Z %8 39 paysiessip Jou
€ L 0T (42 4 S 92 81 € Z1 €€ 0 L L 61T £€ paysnes JaylsN
Eia 36T $2¢ $6€ $1T 3ST SPL 362 $€T %8G %0 3001 $ET $GE %28
L3414 3TE CYZ4 31¢ $6€E 2k $LT $€€ 28€ 392 %0 $BE $1€E 312 %8¢ 362
ve 9z 96 29 0c 9z 62T 18 £2 10T 0 SLT 144 29 16 SLI paysies pmSs
%8 $€T £144 32€ %9 %S 368 %22 %S $EL $0 %001 31T $LS $2¢
SLY %28 359 $bS %6€ $L2 3€9 36% 20€ %59 30 %99 31§ 3L9 $9b $LS
82 ids €61 60T 0¢ LT SO€ 9L 81T 8% 0 (44 9¢g 961 0TT Zhe paysnpes AsA
%01 $HT $6€ 3HE %6 $0T $18 $92 %01 $%9 $€T 298 %21 360 30%
65 v8 {444 102 15 29 98% 96T 09 €8¢ 6L LIS 1L 162 LEZ 665 aseg
POOAA C] seb | jesy ya/mun| ues | ues] [Ma/pun| ues | uesT |spessip| pisieS | JOYIO | paIjey | ewy lejoL
uedold | jeinjen | ouos|3 /ping | /piing /oing | /piting 10 |[MS+A Hedping
10N ION jejjneN

¢awoy 1ok 9J0ARY 8ull piing Ning oq sun pjnoys O3NSS snyels awdojdwg

Jeay noA Aem Asewid ay sl Jeumm UM uonoejsies

saaneladoon ouos|g AsjieA sBulids anuding ypim paysiessip AiaA 1o paysnessip JEYMaLUIOS ‘palsiessip Jou payshes Jayysu
‘paysHES JBYMSLIOS ‘paysies A1aa ale nok JI swi [j8) noA ued  “aaneladoos) oupoalg AsjleA sbuuds nyding uim ajep 0} saousliadxs JNoA jje Jspisuco aseald 9 algel

sisquisiy aApeIadoo o193 AojeA sbupds anyding jo Asning v

-




yoieasay pue salbajens gy Aq paedaid

€22 100" z€2" 100" 8g¢e "

G6°61 §5°921 6% 0T £hLL LE ¥ alenbg 4O
62°2 0£°2 0€°2 0£°2 £9°2 09°2 9% 1 LE"2 10" 2 e 2 1t-e 62°2 66°C 1%°2 0£°2 9¢°¢ uesiy
%0 30 %0 %0 %001 %007 %0 %0 %0 %001 %00T %0 %0 %0 2001
%0 30 %0 20 %1 %0 %0 %0 %0 %0 %0 %0 %0 30 %0 %0
0 0 0 0 1 1 0 0 0 1 T 0 0 0 I 1 N4
%0 %0 %0 20 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 20 30
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
%0 %0 %0 30 %0 30 30 30 %0 %0 %0 %0 %0 %0 %0
%0 20 %0 30 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 alnsun
36T %61 312 512 %22 2001 30 $L $bZ $0L $22 %82 $6b %26 28k
$LT 38T %61 36T 312 %22 %0 $PT %62 391 %6 3€T 3Tb %81 %91 3L1
61 61 12 12 (44 01 0 L vz TL ZZ 62 0§ £6 60 201 e Je BuiyioN
$L1 L3 24 3T %22 £3 44 %96 17 $TT $0T $8L $6€ $8¢ $12 %S %9%
$vC $6C %61 £3:14 $6¢ X4 3S $S€ $LT $LZ %S¢ $LT $LZ %82 E124 %92
LT LE 12 5¢ LE 15T 9 81 91 €21 29 65 £€ S8 ZL LST yonw joN

| $LT %67 %22 $LT 35T $SL 362 $L %91 $LL E1%4 %20 $E€T %05 20§
362 %82 $LE 36€ %52 %0€ $LE 352 $2¢€ $2¢ $2€ $9¢€ $1¢ $TE $TE $1€
43 9¢€ (44 0s Lz 0%t Ly €1 0€ (448 08 6L 14 49 £6 L8T junolue Jigj
| szz Y 14 36T $£T S€T 316G %67 %6 %91 $SL $GS $9¢ %6 by %96
$0€ %82 %92 %ST %81 $L1 %86 35T 292 £3°74 $€€ £ x4 31T %22 %82 %52
€€ 9€ 62 S€ 61 8L i3 €1 14 PIT £8 vS €T L9 S8 ZST oy
26T 312 $6T EY 24 %81 $6L 31C %6 $91 29L $Th $LE 302 %06 30§
1T 821 €11 1Al 30T Ly LZI 15 56 %12 8¥e 122 121 662 00¢ 666G aseg
Ma PIGL  [ASLMN0GI0SNSGC] ST N A [eyo v dsiH d +99 vo-S¥ | vb-81 |Sfewsd; Sjely | [ejol
Japun SIH-uou
SYM
£ S9xe} 210}3q 00Z 10} SWOodUI ealy Apiuyg /eoey oby 19puan)
pioyasnoy sjewixoidde InoA sem Jeupn uib|3 eyouog
eluofejed

'SIY} Jnoge piesy aAey NoA Aes noA pinom yonw moH ‘eale ejuobejed / uib|3 / elouos ay)
0} aulj Jamod mau e pjing o} sueid s,aAeIdoos) ouoelg AajleA sbuuds Jnyding Jnoge piesy aney jou Aew Jo Aew noA Ajdignd swos udaq sey alay ‘Apusdey ¢ sjgel

sisquialy aapesedoos o1309|3 AojjeA sbuudg inyding jo faaing v



yolessay pue saibsjens jgy Aq pasedaid

899" 6€Y " 100° 100"

LE"Z 60°21 Z0° S 98°€VT alenbg 1Yo
otz |o9g'z |9gz Jogz |ev'z |setz |tz |wpz |ustz |86tz |setz fostT |e9tz |19tz 19T |9gT ueaiy
3001 %0 3001 %0 %0 %0 %0 %0 %0 $00T %0 %0 $00T %0 %0
%0 %0 3T %0 %0 %0 %0 %0 %0 31 20 30 %€ 30 %0 %0
1 0 1 0 0 0 0 0 0 T 0 0 T 0 0 T Ad
%0 30 $0 %0 %0 %0 %0 %0 %0 30 30 20 %0 30 %0
%0 $0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 o 0 434
%0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0 %0
20 30 30 %0 %0 %0 %0 30 20 %0 30 %0 20 30 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 alnsun
%6¢€ %09 $LT %8¢ $5C $€C $0T EY A4 %S¢ F1% 74 $0T %1 %9 $1C $€9
$LT $LT %91 SLT 26T SLT $L 36T $£C 3¢ $ST 3T %02 28T $¥2 SLT
oF 19 8z Y4 9¢ £2 0T (44 9z 44 01 1 9 1z v9 Z0T lle ye BuiyloN
%9€ 359 30€ 352 352 %61 %62 e 24 3€C $1C 3€T Y7 137 $LT EY4
$HT $8C $9¢ $LT $0€ $2C E¥4S $TE 31E $LZ $0€E %9 $€2 $8€ 3TE %92
9g T0T Ly oy 0% 0¢ Sh LE 9€ €€ 0z 9 L €% 18 LST Yonuwi JON
30% %65 31€E 31T 36T 362 35T 28T SLT %22 $TT 362 %9 36T $6€
$2¢ 30€ 3€€ $L2 %92 30% $2¢ 362 $L2 3€€ $2¢ %8¢ 30b $TE $LZ $T€
vL I1T 8s ov se 7S 9% ve 153 v 1z LY 141 s¢ ZL L8T junowe e}
%6€ 319 %62 20€ %22 261 $LT %91 $hT $€ 30T $LY 3€ 30T $1¢€
292 %52 362 30€ 352 312 %62 $1Z %61 s¥ $€Z $LS $€T $ET $8T 362
6§ Z6 [di S¥ 2 62 184 14 44 S ST IL i ST Lb 2sT 101 v
$8¢€ 319 %0€ 352 $€2 $€2 $bZ %02 36T 312 31T 312 35 36T EY44
0€T s9¢ 8LT 06T SET 9€T 42 81T STt [ZA 93 sZt 0€ v1T 792 665 aseg

ON S9N | +0€i$ | 0¢Sl$ G8% G6¢ | alojeq 0 20 Jaye | epuy3 |uobejed| xoom [uosuag| eIsIA | lejoL
-98% | -9s% -0$ |Io /661 |02-8661|02-S00C{40 800C |/SaliSUS| ejlouos eusis
ub|y
¢bunesy 78 J1va NOD 1OId1Sia
pue aiy [esus)

'S1Y) Jnoge piesy aAeYy noA Aes noA pinom yonw moH ‘eale eluobejed ; uibig  eyouos suy
0] auij Jamod mau e pjing 0} suejd s,aAleIedooD oupalg AsjieA sBuudg Jnyding Inoge pieay aAey jou Aew Jo Aew noAk Aoljgnd awos useq sey aiay} 'ARusosy  qg sjgel

sioquisy aAneladoos a1ijas|3 AsjjeA sbuuds Jnyding jo Asaing v




yoseasay pue saibsiens |19y Aq paledald

z9v° 100" T00° 228" 100"
08°TT 61792 81°60T €61 v zg aienbg Iyo
00°2 62°2 Py 2 AR 86°2 £0°2 g€z 80°€ 50°2 1172 s2°2 8c°¢ 89°2 A £€5°¢ 9€°¢ Uesiy
%0 %0 %0 %0 %0 %0 $00T %001 %0 %0 %0 3001 $0 %0 $00T
%0 30 30 %0 %0 %0 %0 $T %0 %0 30 %0 %0 %0 %0 30
0 0 0 0 0 0 T 1 0 0 0 T 0 0 T T AQ
$0 %0 20 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
30 %0 %0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 30 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
30 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 $0 %0 $0 %0 %0 %0 %0 20 $0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 ainsun
Y4 $HT Th £372 %81 17 %8L %09 %S $5€ $€T $L8 %67 £174 %96
%L $LT $8T $LT $S€ %9 %91 $6€ %8 %6 %91 $LT $LT %6 3he SLT
v vl £p gg 81 4 08 119 S 9¢€ €1 68 61 9Z LS Z0T e 1e BuiyioN
%8 3T 3E¥ $0€ $1T $0T $6L $€€ %8 %65 31T %68 $€T £1:17 $8¢
%22 %92 %62 $£T %5¢€ $vC $9¢C 3¢ EY44 $HT %22 $L2 20€ $92 E1%4 %92
€1 [44 89 Ly 81 ST [Z4 4 €T z6 LT 6€T 12 9L 03 LGT {onw! JoN
$TT %21 $6€ $9¢ %9 32T %78 $LT %21 $TL $HT %98 $TT $HS $G€
39¢€ %92 $1E 3€E EXAA $GE $2¢ 31T $LE $G€E $€€ $1€ %82 $G€ %82 3¢
12 144 €L L9 11 [44 vST 4 [44 €eT 9z 091 0z 10T 99 L8T junouie Jle}
SHT $LT 3c¢ E3 49 $€ $PT %78 $L 3€T $08 $ST $b8 3L $85 $G€
%9¢€ 31¢€ 312 $9C %8 $¥E $92 %9 3€€ $2¢ $6Z $SZ $ST $0¢€ 322 %52
12 9z - |os 4 4 12 LZ1 01 02 (44 4 82T . |11 88 €S 2581 oy
30T $HT 36€ $hE %6 $0T $18 %92 $0T %%9 2T %98 %21 %6b 30%
65 &) PET 102 15 29 98b 9ST 09 £8¢€ 6L LTS TL 162 LET 665 aseg
POOM ] seb jesy (MQ/pun) ues | uedq (M@/pun| ues | uedT |spessip( pjsges | JSYO [ paldy | swh feoL
uedoid | [einjeN | ouioeig /eung | /ping /pling | /piing 10 (MS+A yedfing
1N 1ON feljneN
¢awoy inok 8joAay 8ul pling éiing q aul pjnoys O3ASS snje)s juawholdw
yeay nok Aem Lrewud ayj st JeYm Ui uoioejsiyes

'Sy} Jnoge piesy aAey NoA Aes NOA pinom yonli moH  “eale ejuobiejed / uib|3 / eyouos sy}
0} auj| samod mau e pjing o} sueld s,aAieladoor) oupelg AslieA sbuudg Jnyding oge piesy saey Jou Aew Jo Aew nok Aiolignd swos usaq sey alsy) ‘Apuecsy  ag s|qe|

staquisy aaneradoos oyl Asjjep sbuuds inyding jo Asaing v



yoseasay pue saibsjens |9y Ag pasedaid

190° 100" 860" [Z4R 0S0°
96°0¢ y1° 1€ 50791 €9°0¢ 60° 1T aienbg 1Yo
28"z |tz'z |ggz jsetz |9s'z €9z |eotz leLcz |eetz |15tz |€zoz |ustz lostz L9z |setz |1s°2 ues
35T 31€ %61 3€2 361 %96 E17 %8 %8 358 $1E $6T $2h %%G 39%
34 %9 $F $b 117 %S 31 37 %2 %6 $€ %2 %6 %9 £174 3%
4 8 4 9 4 %4 1 4 4 2z 8 s 11 A Z1 9¢ . [e]
%0 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 20 30 30 %0
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
%92 $ST sLT 38T $€2 %68 $TT %6 %97 $GL $2¢€ $2¥ EY %4 $2S $8%
$1€E %91 %67 $LT %82 %62 31T e %4 %22 $12 $LT 35T 392 3€¢ $12 %22
[23 0Z zZ vz 0¢ 91T A 41 12 L6 184 GS 1€ 89 z9 0€T papiospun pleH
512 36T 36T 3€2 %92 $LS EXo8 2 %6 3LT $hL E18 7 3Sh 3€1 389 32¢
26 35 %9 %8 311 %9 39T %8 %8 %8 38 20T %S $TT %5 %8
01 L L 11 Z1 L2 02 |4 8 S€ 0z 134 9 43 ST LY Piing JON
%8 $€£2 $€2 $ST $1€ SLL $£2 3ST 362 %29 $8€ 9% 36T %9% 37G
5T L ¥4 %€ 31 3¥ %2 %2 2% a€ 52 32 $€ %7 32 32 %2
1 £ £ Z 2 0t € 4 € 8 S 9 4 9 L £1 Piing jou ueat
39T 3€T %87 %8¢ 36T %G8 $€T %02 $TT %69 $6€ $8€ 312 %96 E1%4
%6 %9 30T %91 %8 $1T %9 3724 %L %6 301 %01 31T 31T %6 %01
0T 8 TI %4 6 4 8 (4 L 144 vZ €2 €1 23 9z 19 pjing uesa
39T %52 302 %62 36T $SL 352 %9 $LT SLL $9% $hE 381 3Sh %56
$LY %79 %8G £ £324 318 %79 $LE $LS %56 %09 %06 %8% 387 %65 $%S
4] 4 99 9L LY (424 18 6T ss 6%2 0sT T1t 8s ShT 8LT £2¢€ piing .
%61 312 %61 £ 24 %87 %61 $12 %6 %91 39L 3TV $LE 302 %06 306G
I1T 821 £TT ZrT 90T LY LZI 15 96 €£5¥ 8ve 122 12T 662 00¢E 009 aseg
M4 HASL PISIA0GA0SMG2| ST N A [ewojv| dsiH d +G9 | Y9-Gr | vP-8L |Sewsd| SelN | [ejol
Jepun SIH-uou
UM
£S9Xe} 210jaq g00Z 40} WO ealy Ayoiuyig /eo0ey aby 19pusn)
ployasnoy sjewixoidde inoA sem Jeuypp uibj3 ejiouog
ejuobejed

.

£lou Io
1INg 8 0} pamojfe aq pinoys eale eiuobejed /b3 felouocs sy} 0} aulj Jamod mau auy} yuly} noA op ‘Ie} 0s anss! sy} Jnoge pieay aaey nok Bulylliens uo paseg ¢ s|qe]

siaquIaly aAnesadoo ajoeg AsqjeA sbuuds anyding jo Aening v




Yoieasay pue sa1bsjes |9y Aq pasedaid

z8T" 295" 107" Z00"
LS L £€6°€T 82°22 96 ¢¥ . alenbg Y9
85°¢ S%°2 (4 Lr'z gL op-2 §2'2 89°2 L$°2 00°€ 26°2 60°2 £5°2 G%°2 29°¢ 1572 uesiy
$€T SLL %21 $LZ %2k %61 %8 361 36T %0$ 321 3b %b %61 $59
3¢ %5 %2 £3 %8 s¥ 5T 3b $b $0T | %S 3T %€ 3£ %9 3¥
9 0z € L 11 S 4 S S £1 € 1 T |2 LT 9z AQ
%0 %0 %0 %0 %0 %0 20 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 20 %0 20 20 20 50 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
3747 %56 %5€ %22 EY 4 26T %22 %52 312 362 $9T $T1 %L %02 29b
362 36T %S¢ 36T 3€2 %81 %02 %82 8€2 %92 $2¢ $TT %0€ $£2 3€2 %22
LS 1L Sh 62 1€ Y4 82 €€ L2 43 12 s 6 92 09 0€T papioapun pleH
%61 316 %8¢ %9¢ $6T %82 3€T $LT %97 $LT $6 F137 32 $TT 39¢
%01 %L $L %8 %L $0T %8 $L 29 %9 %9 %91 3€ £17 %9 28
(X4 24 €1 4 6 £1 11 8 L 8 4 0z T S LT LY PIing JON
31¢ %69 3€C %8¢ $ST $€2 %G1 3€2 %€2 $5T $ST £134 %0 $T€ 3TE
%2 %2 %2 %€ 31 $T $1 3€ %€ $¢ 3€ $C %0 $E 32 £x4
| 2 6 € S 4 € 4 3 € 4 4 € 0 |4 14 €1 piing jou ues
ﬁ $8€ %65 £1°14 %87 %12 %92 %82 %07 %9¢ %92 $ST $€T 3z 392 £ 4%
| $0T 30T %8 31T $0T %21 32T %S F1 0 3€T $HT %9 %€ ShT 30T 30T
| €2 9¢ ST LT €T 91 LT 9 91 91 6 8 T 9T L2 19 pling ues’

$LE $€9 $7€ £3°14 %12 $€2 %52 %0¢ %81 $LT %8 £ 24 %9 $6T £33

3TS %98 %95 $€G 31§ E3 2 %8G 3€S 306G £15%7 $Tb 3€9 %09 32§ %€G $¥s

8TT S0Z 00T 08 69 pL [4:] £9 LS 29 Lz 6L 8T 09 6€T £z¢ pling

36€ 319 %0€ %52 $€2 3€2 :3%4 30T 36T 512 3TT 31z %5 261 £33

1£2 G9¢ 6LT 0ST GET 9cT 42 81T ST SZT 99 S2T 0€ STT ¥92 009 aseg

ON SaA | +0cL$ | 0¢El$ 58% G6G$ | @Jojeq ¥0 10 Joye | epuj3 [uobejed| xoojpn [uosuag| BISIA | [elOL
-98% | -95% -0$ [Jo /661 |02-8661|02-S00C|I0 00T |/sslsug| ejlouog elalg
. uibig
¢buneay g 31va NOD : LOo1sIa
pue Jiy jeaus)

Zlou Jo
WINg ¢ 0} pamo|[e 8q pInoys eale eluobejed julblg felouos ay) 0 aull Jamod mau ay) Uiyl NoA op ‘Jej 0s anssi Siy} Jnoge plesy aaey noA Buiylhiens uo peseg g ajqel

sioquisiy aaneladoo a3 A9jjeA sbundg snyding jo Aanung v




yolesssy pue saibsjens |9y Ag pasedaid

€eT” 160" 100" 100" 520"
€1° 12 T1 %L +000T sZ-Le LY 02Z asenbg 1Yo
89°¢ Sh°2 92 LS°2 SE°p £€8°¢ A £€°9 8L € 91" 1 9T°¢ o2 s1°¢ 82°2 652 16°¢ uesiy
28 £17 %9% $2% 3LZ 3b %69 3001 %0 %0 ETAN %G8 36T %8¢ $2h
3¢ 3T %5 S $hT %2 sP $LT %0 30 £17 37 SL 3€ E1 st
4 T Z1 1T L T 8T 9z 0 g € 44 S 01 1T 9z AQ
%0 30 %0 %0 %0 %0 20 $0 %0 30 %0 %0 %0 %0 %0
%0 %0 %0 %0 %0 %0 20 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
31T $ST $GE $5€ $8T %21 %69 $00T %0 20 %61 318 36T %8¢ F1%7
$€2 $€2 361 %22 $LY %52 261 $€8 %0 30 $2¢ 302 35€ SLT £ 24 322
VI 61 Sh Sy Ve 91 06 0€T 0 0 sz 50T sz 6% 9§ 0€T pspioepun pleH
%61 $LT %92 %82 $ST %99 %61 %0 %001 %0 $0¢€ %89 31T £3°1 329
$ST 30T %G %9 $HT %6% 3z %0 %8L %0 38T %9 SL %6 $L %8
6 8 4 €1 L 1€ 6 0 Ly 0 v [43 S 9z 91 LY Piing JON
%0 $8€ 3£2 31E 31€E %97 $€T %0 %001 %0 $T¢E %69 36T $9% 38€
%0 %9 3T %2 %8 %01 3T %0 %22 %0 %S 3z %€ £¥4 %2 3C
0 S € 4 i 9 £ 0 €T 0 4 6 z 9 S €1 pjing jou uea
| 30T 30T $6€ $9¢ $L 39 268 %0 20 $00T %S %€6 3L F1%4 316
,
| 301 $L $0T $TT %8 %S 31T %0 30 29T £17 $1T %9 %6 $€T $0T
9 9 ja4 [44 4 € 7S 0 0 19 € LS 4 92 1€ 19 piing uean
%6 KT F3% 14 3€¢€ $Z $Z %L6 %0 %0 3001 %6 306 26 $%G $LE
38% E14] %6G $€G $0T $0T %9 %0 %0 %78 $8€ %96 $Zh $09 %30S sbs
62 17 8ET 50T S 9 Z1¢ 0 0 gee 0g z62 o€ PLT 61T £2E ping
20T $HT $6€ ShE %6 31T 318 %92 30T 3%9 3T 298 321 36% $0¥
09 78 vez 10¢ 18 £9 98k 961 09 v8€ 6L LIS 1L 162 8£Z 009 aseg
POOM E seb 1eay Ma/mpun| ues] | uea Dia/pun| ues] | uesT |snpessip| pisiies | JeyiQ | paigey | swp 1eloL
uedoid jesnieN | o399I /pling | /ping /eling | /pling o IMS+A yedying4
10N JON jesjnaN
” Zawoy ok BJ0A3Y aulT piing diing oq aui pjnoys O3NSS snje)s juawiojdwg
W 1eay noA Aem Arewid ay} st Jeypa yum uonoejsiies

élou Jo
3iNg 99 0} pamoj[e aq pjnoys esse eiuobeled uIblg felouos ay) 0} sulj Jemod mau sy} Uiyl NOA op ‘Je} oS anssi siuj Inoge pleay aaey noA Buiyifions uo paseg :Of aijgel

SIaqUIaN aanesadoos o1991g Asjep sbuudg anyding jo Aoaing v




yoseasay pue saibajens |gy Aq paiedaid

006" 100" €9L" 66C" L00"
L9°6T 61" 76 82°8 L8 FT LSTLT aienbg Yo
L6°¢ |60°% lezv [€1°% |96 |ez'vy ltece |s8s'e |stv |e0°v [vTv |sse |wip |00°%F [LT'P |80°W uespy
%02 %02 302 30V %0 %001 %0 %02 %0 %08 $09 %02 %0 30% 209
$T 3T 3T 31 %0 3T %0 32 %0 3T $1 %0 %0 3T 3T |81
T T T (4 0 S 0 T 0 4 £ 1 0 4 £ S AQ
$€€ %8 %52 352 %8 %€8 $LT %0 3L1 %€8 $L9 $€€ %0 $2h %8G
17 $T %€ %2 3T $2 $Z %0 %2 52 %€ %2 %0 52 %2 $2
|2 1 € € 1 0T Z 0 4 0T 8 1w 0 S L [4 alnsun
$ST %02 $€T E144 $LT $16 26 %8 $8T 3PL 31b $€€ E1 24 228 %8%
$z¢ $9¢ 29% ST $9¢ E144 %91 36¢€ t344 $LE $8€ $hE E114 300 $9¢ $8¢
SE 9% 144 85 8¢ 60C 0z 81 Zv. 69T 76 9L vs 0zT 60T 622 jupx3z
202 $£2 $LT %22 38T 318 261 $L $GT SLL $T¥ $8¢€ %02 %07 209
$9¢€ $LE $T¢ 32¢ $bE %G€E 30€ 362 32¢ 36€ 3€¢€ $6€E 30 $LZ $0b $HE
0% Lb GE Sh 9¢ 591 8¢ " 6T 1€ LST £8 8L T Z8 121 €02 poo9
%81 £ %4 $ST $22 312 3€9 $LE %6 %61 39L $0% EYA4 $LT %SG $SH
%91 36T $€T 36T %02 $€T %62 %81 %91 $LT 391 26T 3HT 281 $ST $LT
8T Ve ST [44 12 £9 LE 6 ST 9L 0¥ 42 LT SS GF 00T ) Bay
3£z %02 $LT %02 %02 3TS %97 $LT $11 $TL 397 %62 %02 %69 362
3L %5 %S %S %L £37 $€T 321 Y %9 %9 28 %9 28 %€ %9
8 L 9 L L 81 9T 9 {4 Y4 91 0t L ix4 0T gg Jle4
$TE 3€T %9 31E %61 $€1 %88 %€ $€1 $SL %52 %€9 $€T %69 31E
%S %2 3T 17 %€ %0 311 17 32 $€ %2 35 4 £17 %2 %€
S z T S € 4 A 4 4 Zt i 0T 4 It S 91 1004 A
36T 312 36T Y74 38T %6L 312 %6 %97 39L $Th $LE %02 306 $0S
TIT 8zt €11 441 90T LY (X4 18 96 €5 8ve |%44 12T 662 00€ 009 asegd
a MAGL PISLM0G{A06-MGT| ST N A [Hsulo |y dsiH d +S9 ¥o9-Gv | vp-gL |olewsd | SleN | [ejo]
Japun SIH-uou
SUUM
¢ Saxe] 810}8q 8007 10} SLWODU) ealy Kuoluyig /e0ey oby 19pusg)
ployasnoy ajewixosdde 1ok sem Jeypp uib|3 ejlouog
eluobejed

wnwiuw e o} sebejno Aejuswiow pue syutlq Buidssy)

aouewloled Jiseg  (L°G s|ge)

siaquay aapesadoos auyoelg AsjreA sbuuds anyding jo Asaing v




yoteasay pue saibsjens |9y Aq pasedaiyg

YA €50° czL” T00°
$9° G 5982 601 L8 HOT asenbg 1Yo
90" ¥ 60 % 68°¢ Lo b 2487 0z°% 8T ¥ 1P 0Z°¥ £p° ¥ LT°v 0£°€ 0€" ¥ 9z ¥ ey 80°F uesiy
209 $0% %02 %02 $02 30% %02 %0 %02 209 %0 %0 %0 %00 %09
3T $T 3T $T 3T 3T $T %0 31 $Z %0 %0 %0 32 3T $T
£ 4 T 1 T 14 T 0 T € 0 0 0 4 € S e}
$€€ $L9 %8 852 $LT $0G $LT 352 %8 $€€ $LT $LT %8 %5¢C 3€¢
3z 32 3T $2 %7 E374 3T 3¢ $T %€ 3€ EY4 8¢ 3€ $2 32
id 8 T € 4 9 4 € 1 4 z 4 T € 4 21 ainsun
26€ %09 %22 362 %82 $hZ 352 812 %02 392 $0T %8 3L $1¢ 3%S
36€ 38€ %82 $8€ %8b E387 %0% $1b $0% £1:17 29¢€ %61 $0§ E344 SLY $8¢€
68 LET 18 LS $9 9§ LS 8k 9% 09 vz 6T ST LY iz48 622 upRx3
she %99 $LE L1724 %02 %61 %52 %02 $2C %61 3€T 381 37 %02 144
$0€ %9¢ E¥44 3€€ $0€ %82 $9¢ 3S€ %8¢ $TE 36€ 30¢ $0€ $G€E $HE $HE
oL £€T oL 6% 0l 8€ 18 1% 44 6€ 9z LE 6 o} 16 £02 po0o9
$9% $€S $TE %82 %91 L4 EY 24 SLT $8T 36T 3TT $LE 3€ $8T $1€E
302 $ST SLT %61 $2T 38T $LT $HT 39T LYAS SLT $0€ %01 %91 %21 $LT
9% €5 1€ 82 91 Sz 24 LT 8T ST TT LE € 8T 1€ 00T Bay
$HE 399 $FE €2 362 £ SLT 302 $HI 31T %6 39¥% $€ $TT 3TE
%9 %9 $L 35 3L £14 172 %9 £17 3€ %S $€T $€ 3€ E14 39
4! £2 ZT 8 01 S 9 L S 12 € 9T T jid 1T S€ ded
e 44 %96 E327 362 %9 E1 14 %9 SE€T %0 %0 20 - | %88 %9 %9 %0
%€ $2 37 $€ 3T %€ 3T EYA 20 %0 30 $TIT $€ 3T %0 %€
L 6 L 4 T i T 4 0 0 0 A T T 0 97 Jood A
$6¢€ 319 20€ 352 $€2 3€2 £ 44 %02 %61 312 31T %1z %5 36T £33
1€2 §9¢ 6LT 0ST SET 9€T ZhT 8Tt STT S21 99 s21 0g 1611 v92 009 aseg
ON SaA | +0cL$ | OFEL$ 68% S6¢ | aJojeq ¥0 L0 Joye | epuy3 juobered| xoo|ipp [uosuag| eIsiA | [BloL
-98¢ | -9s% -0$ |40 /661 |02-8661|02-G00Z|10 800T |/s8SUS | BJIOUOS eusig
. ub|3
tbunesy BElic] 31va NOD 121d1sia
pue Jiy jenuan

wnwiuiw e 0} sebejno Aiejuswow pue syullq buidesy

soueULIOpad Jiseg  qL°G algel

siaquisiy aAneladoos o933 AsjjeA sbuudsg anyding jo Aening v




yoseassy pue saibajeng gy Aq pasedaid

§50° 100" 100" T00° 6LY"
Ly 82 , ZL"2S L8°8F 66°2h 65711 aienbg 1yo
09'c |8o'v |9zv |e€0'v |zs'e |ov'e |ozv |e66°c |[8p'e |Tz'v |zse [61°v |96°¢ |8T°F [|00°% |80°F uesy
%0 %0 %09 30% %02 %0 %08 $0% %0 %09 %0% %09 %02 %09 %02
%0 20 5T $T 52 %0 5T 51 %0 31 %€ 3T o1 3T %0 5T
0 0 £ 4 1 0 4 4 0 € Z £ T 3 T S Aa
%8 $L1 %06 362 38 E1%4 $L9 SLT %62 %8S $LT %€8 %0 3€8 SLT
¥4 %2 %€ s1 X4 %S %2 5T %S 32 %€ 32 %0 3£ 31T %2
1 4 9 £ T £ 8 z £ L 4 0t 0 0T 4 4 ainsun
%9 $HT 3SY 3€¢ $L 8¢ %06 302 %S $SL %9 2%6 $TT 316 %8¢
$€2 %8€ £144 $LE %62 311 £33 262 %02 %Sh %91 CY474 %G€ 300 $LE %8¢
A 43 Z0T SL ST L L0Z 9b 41 TLT £1 912 4 LIT L8 622 juox3
311 $hT 38¢ $€¢ $L 311 %8 $Z¢ 3L $19 311 %68 $€T $Lb $0%
$LE $€€ $€E £349 262 $S€E E32 LA $€T £43 $62 $S€E $LE $EE $vE $hE
[44 8¢ LL 89 ST [44 991 59 At vzl £2 08T 9z S6 Z8 £02 poo9
| LA %91 $5€E $1¢ 31T 381 $TL $LZ 26T %S $€2 $LL %07 %9% E1274
| 202 36T $ST $ST $2C $6C %ST $LT $2€ SV %62 %G1 $PT 29T %81 $LT
4 91 Gg 1€ 1T 81 1L Lz 61 vS £T LL 0T 9v jdi 00t Bay
3BT sV $0¢ £134 $LT $LT $99 $vE 3L $6b 362 %99 $LT $LE 39¥
%8 %9 $€ %8 %21 20T %S %8 %01 £17 $€T 37 %8 $¥ 3L %9
S S L LT 9 9 €2 49 9 LT 0T €2 9 €T 91 SE lle4
28¢ %9 35¢C $1€ $€1 347 147 $€1 %8¢ $0S $8€ 30§ %61 147 %8¢
%07 31 %2 %2 £37 31T 31T %1 30T %2 %8 £34 1 EX4 %€ %€
9 T |2 S 4 L L z 9 8 9 8 € L 9 91 1004 A
30T $¥T 36€ 3kE %6 $T1T $18 %92 %07 $¥9 $€T $98 %21 367 $0%
09 V8 vET 102 15 €9 98y 9sT 09 v8¢ 6L LIS 1L 162 8¢z 009 aseg
POOAA ° seb jeay [Ma/puni ues ] | ued] HJ/PUN| ued] | ueed |snessip( pjshes | JSYiQ |PaieY | Swh fejol
uedoyd | jeinjeN | owyoe|3 /ping | /piing /piing | /piing o |IMS+A| 7 Hed/ng
JON ION [elinaN
¢awoy ok 8j0ASY Bur] piing ¢Ming 2g aur pinoys 03ASS snjejs jushojdwl
jeay noA Aem Asewd ayj st Jeypp Ui uogoeysies

wnwiuiw e 0} sebeno Aejuswow pue syuljg Buidesy

aoueWIONed diIseg  01°G 9jqel

siaquiapy aAnesadoon suy09la AvjjeA sbuldg anyding jo Aonng vy




youeasay pue salbsjens gy Aq pesedaid

621" 100" ¥90° cTL” G80°
£6°T€ L0 2P 6T°02 88°8 TI°TT asenbg Iyo
68'¢ |62°% l{T1p®» |TZ°¢ |2z1°% |ee'v |L9'e |z8'e |9z'v |zz'v |zz'v jiiw (1w |STRF [wew |6T°F uesiy
%0 %02 $0¢ %02 30€ $00T $0 %0 $0¢€ 20L $0€ $0¢ 30% %09 30%
%0 %2 %€ $T %€ $2 %0 %0 %€ %2 5T $T 3¢ 32 3T EYA
0 (4 £ 4 £ 0T 0 0 € L £ £ v 9 |4 01 1A
%9 LY 124 892 %0 %76 %9 %0 %9 %6 $1b $62 $62 E1744 $9L
5T %9 34 $€ %0 %€ 3T %0 31 37 3¢ %z 137 3T £34 $€
1 8 4 {4 0 9T T 0 T 91 L S S [ _lET LI ajnsun
LT | %1T LY 44 3€2 $9T 368 $TT %8 36T $€L LY 47 $SE 522 $26 %8¥
3G¢ %8¢ $S¥ 38¢ 29€ F127 %02 $5¢€ %9% $LE 26€ $LE $T¥ %0¥ $LE 36€
33 6% 1s vs 8¢ 902 14 81 i34 691 96 18 0S 121 0Tt 1€2 WPX3
%81 312 $LT $92 26T ShL %92 %L $€T %08 Y47 38¢ 38T %Sh %55
€343 %S¢ 3€€ 36€ $6E $he £3574 $1¢ %6¢ 38¢ $8¢ $LE 31¢€ 3¢ %0% 39¢
8¢ SF LE 9s 144 091 LS 91 82 £LT S6 Z8 8¢ L6 0Z1 LIZ poo
EY44 %02 %02 $12 %81 $0L $0¢€ $TT $€T $9L £33 $LE $8T | 39§ 1727
39T $€T $bT L YA $FT 321 302 %81 3TT SV $vT 3y %2t 36T 37T $¥T
8T 91 9T LI ST LS s2 6 1T z9 Gg 0g ST 9y 9¢ Z8 Bay
%€¢ %02 %0 %02 $LT $€S $€Y %02 $LZ 3€S $€2 $LY 3€2 %09 $LE
%6 %S %0 17 %8 3¢ %07 321 %8 £14 3£ %9 %9 %9 £33 25
0t 9 0 9 8 9T €T 9 8 91 L jay L 8T 11 o€ Jled
%8¢ $ST $ST 3€2 %8 $%S %9p $ST 38 SLL %8¢ 29% sST 27s 29%
%6 $2 %2 %2 sT 3T %5 37 5T F14 %2 $€ 52 82 2z 52
S 4 z € T L 9 4 T 0T S 9 4 L 9 €1 J00d A
36T 312 36T $hT %8T %6L 312 %6 297 %9L $T¥ 3LE %02 %08 206
111 821 £1T ZhL 90T ZLy L21 15 96 £6¥ 8¥%2 122 121 662 00€ 009 oseg
Ma HGL  PAGLA0GI0GGZ|  NGT N A [Jeuo|iy| dsiH d +G9 | ¥9 Sy | vi-8L [dlewsd| SN | [elol
J9pun SIH-uUou
SHUM
¢,SOXe) 940}3q g00Z JO} SWIodUl ealy fyoluy3 /e0ey aby 19pusg
ployasnoy sjewixosdde jnok sem Jeypn uibj3 eyouog )
ejuobejed

| , . abeno-ue Jaye Apoinb Jamod BuLio)say

souewlopsd diseg  :Z'G ojqel

sioquisy aAnesadoos suyaelg AajjeA sbuuds inyding jo Aoning v




yoJeasay pue salbsiens 19y Aq paledasd

LSE" L9T" €00° T00°
TL°S 9°£2C LE 6E LG 69 asenbg 1Yo
4 v b 20°b €T ¥ 0% ¥ LZv ST ¥ €17 YAl 99° % 90° b G9°¢ £€°h Rl 4 (1} 28 6T° ¥ uesiy
$0E $0L %02 %0 %06 30¢ %0 %01 %02 30L 30T 30 %0 $0€ %09
3T $2 3T %0 st Y4 %0 $1 $2 %9 %2 20 %0 %€ %2 $2
€ L z 0 S [ 0 1 Zz L T 0 0 € 9 0T Ad
sbe 394 29 %81 $G¢ 31b 39 %9 $b2 %65 %9 %9 $2T %9 $TL
$¢ 3 $T %2 5P %5 3T 5T $€ %8 %2 $T 3L 31 %S 3€
v €1 T £ 9 L T T P 0T T 1 z T Zt LT alnsun
30 %65 $LT 292 3bz %€2 392 26T %02 392 %6 31T %9 322 $€6
%0% $LE %5€ $6€ E384 $0% Y44 SLE 20b 380 30€ 302 €D 137 %9b 36€
£6 9€T Z9 65 9g vS 09 42 oF 09 0z %4 £T 15 221 1€2 Jujx3
$G€E %G9 32€ %92 L 344 31¢ 3he $1¢ %61 %91 L T4 %52 %9 312 $LE
$€E %8€ $6€ $LE %S¢ $€€ $9¢€ $6€ $LE $LT %6E $bY 3€¢€ $6€ $TE $9¢
9L 0% T 69 9g Ly Sh 18 9y 4 123 9z SS 0T Sk 18 LIZ poogy
2V $LS $5E $LT %91 $22 $LT 3€T $LT $TT %81 $6¢ £17 30T 36E
$ST $€T %91 $ST 30T %€T $ST %91 $¢T $L $€T 36T 301 $L 32T $HT
13 LY 62 144 €1 81 144 61 ja 6 ST {24 € 8 [43 Z8 Bay
$EY $E£S $€E $€T $L2 $LT $LT $0Z 3€T $LT $0T b7 $L $LT 3€T
%9 3b %9 %5 %9 17 $¥ %5 %€ %¥ $S %01 SL £17 %€ 35
€1 91 01 L 8 S S 9 |2 S € €1 4 S L 0€ died
3vS 39% %97 $€T %0 3TE $€2 %8 $€2 %0 %0 $¥S %0 $ST $TE
$€ 3z 8¢ $2 30 %€ $Z $T $€ $0 %0 %9 %0 %2 32 32
L 9 9 € 0 4 € 1 € 0 0 L 0 4 4 €1 4004 A
$6E $T9 %0€ $52 $€T $£T £124 %02 %61 $1C 311 312 %S 36T £324
1£2 G9¢ 6LT 0ST SET 9€T 42! 811 STT szl 99 SZ1 0€ STT v9Z 009 aseq
ON S8A | +0€1$ | 0¢i$ Sg$ G6$ | a1ojeq ¥0 .0 Joye | epuy|3 {uobejed| xoo|z [uosuag| elsin | |ejol
-98% | -95% -0$ 4o /661 |0C-8661|02-G00Z| 10 8OQT |/S8UsSUS | ejlouog BlsIg
uib|3 .
¢Buneay g 31vQ NOD 1o1d1sia
pue sy fenusn)

sbejno ue Jeye Apjinb Jamod Buuoisay

. aoueULIONed JISeg  :GZ°S dlgeL

sioquiopy aanesadoo) ou309lg AojjeA sbunds inyding jo Asaing v



yolessay pue saibaies)s gy Aq pasedaid

800" 100" 100° T0O" 160"
6G°6¢ ¥9°99 £1°6S 61°6% €6°1T alenbg Iy
zr'e lzivy |sev |[Tzw |erce {este Jezetw |wow lsste |wew esce fogtv |90°v |z |6T°F |6T°F uesiy
%0 30T $09 $0€ %02 %07 30L $0€ $0T %09 %01 306 %0 30€ 30L
%0 3T 3¢ 31 $b XA s 52 %2 %2 31 32 %0 5T 3€ %2
0 T 9 £ z 1 L £ 1 9 T 6 0 £ L 0t Ad
30 %21 259 E3 %4 29 %21 328 %G€ $21 3€5 381 %28 %9 3Th 3€S
30 Y4 %5 32 %2 $€ %€ 5b 13 %2 3b %€ sT %2 17 $€
0 4 11 id 1 4 Al 9 4 6 € [A 1 L 6 LT ainsun
%9 3€T 3Sh 3€E %9 £37 %06 312 %5 ShL %9 3%6 $TT %26 $LE
352 39¢ £33 $8¢ $LZ 3T 3€h $1€ %02 35b %91 32v $LE $Th $9¢€ $6€
ST 0€¢ £0T LL A 6 802 8b 2T TLT €T 812 92 021 68 €2 uIox3
$21 %71 $2¢€ $LE $L $T1 %28 %82 %6 $%9 $FT %98 $€T %60 $LE
| E1+44 $LE %0¢€ %0F %62 $LE $LE $8€ %€ $9€ %8€ $9€ $Th $LE SbE %9€
| Lz 1€ oL 18 ST €T 6LT 09 61 8€T 0€ L8T 62 Lot 18 L1Z poogy
%6 $0¢C $6€ $8C %07 312 $0L %82 %91 396 $2¢ $LL $0T £/ F1474
ETA 36T $HT 31T $91 ETRA %C1 $ST %22 %21 $€2 ETA 31T $€T1 %91 HT
L 91 Zg £2 8 LT LS £2 £ 9% 81 £9 8 LE LE z8 Bay
. 3LZ %€ $LT 3E€E SLT 3€T $09 %€V %02 $LE %02 $EL SLT $€€ %30S
$€T 3T %€ %S %07 311 34 %8 %01 %€ %8 17 $L %€ %9 %S
8 T 8 01 S L 8T €T 9 It 9 2z S 0T ST o€ e
$€2 $€2 $1€ %€T $9% 31€ $€T $€2 $bS F14 $29 $1€ 35T $bS $T€
3G 3¥ %2 2T 3T | %9 3T LY4 %21 51 $0T $T $€ $C 32 32
£ € 4 € 9 4 € € L € 8 4 4 L |2 €1 1004 A
30T $HT $6€ $bE %6 $TT $18 %92 $0T 359 $€T1 %98 %21 260 30b
09 78 vee 102 15 £9 98b 96T 09 1413 6L LIS 1L 162 8¢€Z 009 asegd
POOM ® seb jesy Ma/pun| ues | ueaq [MA/pUN| uesa | ues |siessip| pisHesS | JoUlO | pamey | swy fejol
uedoid | jeinieN | 0110913 /pling | /piing /piing | /phing 10 IMS+A pedfing
JON 10N jelneN
¢awoy anok 8]J0AdY BuIq piing éling q sur pinoys O3AASS snje)g uawAhojdwy
1E3Y NOoA Aem Aiewiid sy} si Jeym Uy uonoejsijes

abejno ue Jaye Apjoinb Jjomod Bupoisay

soueULIOURd diIseg 207G Slgel

siaqusiN aAlesadoo) ou3d9|g AdjleA mm:rnw anydjng jo Aening




yolessay pue saibsjenlg |ay Aq pasedaid

9£0" GS0° 95L" 85Z" £50°
v8°LE ve 2T 9¢°8 IL°%T £v°C1 alenbg Yo
88'c {16°¢ |zi'p |ss'e |16°c lee'e |16'€ loe'e |er'v |es'e |90'v |z8'e |zse |ze'g |wee |e6°¢€ UES
$€9 %0 3€T 30 %62 %88 $€T $€1 3€1 $GL %52 %62 %8¢ %L %52
| %S %0 3T %0 %2 3T E %2 3T 3T 3T 3T 32 32 3T 5T
S 0 T 0 4 L T T 1 9 Z 4 £ 9 4 8 Ma
SLT $0S $€€ %0 %0 %001 %0 %0 $LT 3€£8 %08 $€€ $LT %0 %001
$T $2 %2 %0 %0 %1 %0 %0 3T 31 $T $T $T %0 %2 3T
1 € 4 0 0 9 0 0 1 S € 4 1 0 9 9 alnsun
387 38T $%Z %92 36T $SL %52 %8 %81 ShL $Lb %S¢ 29T 3€6 $LY
$hE $0€ 3S¥ 0% $0€ %GE €D $5€ $1¥ $S€ EY414 SvE %82 %8¢ $bE 39¢
8¢ 6€ 15 LS 43 €91 | ¥S 81 6€ 091 €01 9L vE STT 201 L1Z JpX3
Sk %92 $LT 312 $12 %08 %02 %6 $8T €L EYA4 %9¢€ 312 %9% $¥S
b2 %6€ %62 %62 %8¢ 32¢ 30€ $€€ %9¢ 3T€ $2€ $1€E $HE %6¢ 3G¢E 3¢
LZ 0§ €€ 1b 112 £61 8¢ L1 Ge 6ET 08 89 b L8 FOT 161 pooo
312 %22 3ST 31T %22 258 KT %8 $vT $8L $1€ $6€ $L2 208 $6%
38T 291 321 3BT %02 $LT 30T %91 3b1 LT $2T sLT 312 39T %91 29T
02 12 VI 0¢ 12 Z8 €1 8 £1 SL o€ LE 9z 8b Lb 96 Bay
%92 322 $TT %82 3€T %€8 $LT 3L £17 368 $1b €V $ST 39% 3%S
$TT %8 17 %6 %9 38 %9 %9 £¥4 %6 %8 %6 %9 $L %8 %8
2t 0T S €T 9 8¢ 8 £ 4 if 6T 02 L 1Z 14 9% Jied
%22 $HT 36T $TE E1 A $%9 39¢ $TT 7T $SL $TE £147 352 319 $6¢€
$L £3/ %9 %8 %S 35 20T %8 %6 29 £37 %L 3L $L %S %9
8 S L 11T S [ £1 |2 S Lz 1T 9T 6 [47 [ 9€ 1ood A
$61 312 $6T 32 - | %81 6L $1Z %6 %91 9L $1b $LE $02 %05 206
| TTL 8¢ £1T Zvl 90T Ly LZ1 15 96 £5h 8hz 122 121 662 00€ 009 aseg
| a HASL  PISLIMN0S | M0GMGT| AST N A [Byo|iy| dsiH d +G9 | ¥9-Gy | v-8l |Sjewsd| Sl | |ejol
Jepun SIH-uou
| UM
¢Soxe} 210}3q 900Z JO} swodul ealy Ryotuyy3 jeoey aby 18pusn)
ployasnoy sjewixoidde Jnok sem Jeyp uib|3 ejlouog
eiuobejed

pauLiojul noA Buidasy pue noA yum Bugesiunwiwo)

aoueuLIolad diseg  :€°G el

sisqualy aanesadoon oujaeg AsjeA sbunds anyding jo Asaung v




yoieasay pue salbsiens igy Aq paredaid

9€y " R £86° 060"
68°G £E°8T ZL L 69° €€ asenbg Iyo

88°¢ 96°€ L€ 16°€ S0°F 21y v6°¢ ¥8°¢ 88°¢ 66°€ 6L°€ £6°¢ £8°¢ 96°¢ 96°€ £6°¢ uesiy
352 $SL $€T $8€ $€T 38¢ %52 $€T $€T %8¢ 30 E14 %0 $€T 3£9
3T L¥4 3T 32 3T %2 3T $1 3T %2 30 %2 30 $T 32 5T
z 9 T € T € Z T 1 € 0 Z 0 T S 8 Ad
3€€ $L9 $LT $£€ $€€ $LT SLT $€€ $LT $€E $0 30 SLT SLT $L9
3T 31 3T 31 $T 31 3T 3z $1 %2 %0 %0 %€ 5T EY4 31
4 id T 4 4 T T 4 T 4 0 0 T T |2 9 ainsun
%8¢ 319 EY x4 $€T %LZ %92 L1 %81 $LT %81 %07 £324 %G 3£2 $8¢
%6€ 29¢ %82 3€E E3474 %2 36€ $2¢ $T¢€ EYAS 22¢ $2h $LE E1%4 $1E 39¢€
Z8 £€T 15 0§ 65 LS 56 8¢ 9€ ov 12 Z§ I1 0s £8 LTZ JUjox3
$TH %65 $€E $bC %02 $€¢ %12 %61 $€T $€T $€7 302 %% 31 %0S
3hE $1¢ $5€ $TE %62 $2€ %62 3T¢E $LE 3¢ $9€ 30€ $LT %22 %9¢ $2¢
6L 4% €9 £l 6¢ €k 1P 9€ £p a7 ve 8¢ 8 14 96 161 poo9
$€€ 359 $EE $1E $LT 36T £ 24 %92 %02 3€T 30T $€T 172 $22 $TG
$HT $LT $81 %02 $ZT $€T 391 312 $LT $81 36T %01 $€T %81 %61 %91

| 43 z9 43 0€ 91 8T £2 S2 61 44 01 49 {4 j%4 6% 96 Bry
3€€ $L9 $LE %22 L3724 LT 392 302 30T %22 $LT SLT 26 392 $0€
%9 %8 %6 $L %8 %9 28 28 38 %8 321 %9 $€T $0T %S 28
ST 1€ LT 01 1T 8 ZT 6 6 0T 8 8 i4 ZT jae 9% died
$€6 SLY 36€ 362 %61 $LT 322 $6T 3LT 31T %8 $9¢ %9 $bT $9€
%8 %S %8 %9 %G L34 %9 %9 %6 %€ %S 30T 3L 217 %G %9
61 LI 5T 6 L 9 8 L 9 4 £ €1 4 S €1 9¢ 1004 A
36E 319 %0€ %52 $€2 3€2 C1 24 %02 %61 $1C 31T 31¢ %S %61 £344
1£2 G9¢ 6L 0ST GeT 9¢1 4 811 STT szt 99 s21 0g STt X4 009 asedg

ON SeA | +0ci$ | 0cL$ Ga$ GG$ | 2lojeq 0 L0 Joye | epujg juobejed| xoojpn [uosusg| eisIA | eloL
-99% | -9s% -0$ |40 /661 |02-8661[0C-G00Z|40 00T |/selsug| ejiouog elsis
uib|3
¢bunesy g 31va NOD 101d181a

pue ay [ejuan

pausiojul noA Buideay pue noA yum Bunesiunwwo)

souBULIONa diseg  :4g'S ojqel

slaquiapy aAnReladoos ou3oalg AsjieA sbBuuds inyding jo Aoaing v




. yoieasay pue saibsiens gy Aq pasedaly

9%T" 100" 100" 100" €9T"

82 %2 g£L°€8 £8°06 89°69 59791 alenbg Iyo
zr'e lsse |ttv |este |ibe |zzce |eo'w |eece jroce lstw joote |Loty |ss'e |zov |ws'e |g6°¢ ueaiy
%0 3T 306 %8€ 352 $€T 3£9 $09 %0 $0S $€1 %88 %0 205 30S
30 $T $2 3T 17 32 3T 3¢ %0 3T $T 3T 30 31 32 3T
0 T | € 4 T S 2 0 b T L 0 2 i 8 AQ
%0 %0 %06 306 20§ $LT 3€E $L9 $L1 $LT $€€ $L9 30 %06 305
%0 %0 3T 3T %9 32 %0 %€ 32 %0 $€ 21 30 3T $T 51
0 0 € £ £ T Z 4 1 1 4 v 0 € € 9 alnsun
%6 321 €Y $€€ £17 %5 326 %971 %S 36L $2 $L6 %21 %96 $2¢
$2€ 32¢ 200 %9¢ %91 397 sip %22 38T 36b %9 E3474 $LE E¥414 362 $9¢
61 LZ v6 ZL 8 0T 66T SE 1T TLT S 01z 9z 121 0L LIZ Jupox3
%07 EYA EYA $hE %6 %07 %18 %82 %8 %79 $€T $L8 $0T 397 3EF
$€€ $LT $HE EYAS 3€E %2€ $Z¢ $vE %52 EY4 %0€ $2¢ 382 30€ $6¢€ $ZE
0z €2 08 ¥9 LT 0z pST £5 ST £2T 24 L9T 0¢ 88 £8 16T poog)
3€T 3€T 30€ $9¢€ 3% $TT 378 $2€ SHT £31 %61 308 $8T $S€ SLY
%02 $hT %21 $LT %8 $LT $LT %02 %22 3% 3€2 35T sve %21 361 $9T
44 44 62 GE 7 Tt 18 1€ £T 4% 81 LL LT 23 Sk 96 Bay
3L %22 30€ SLE sLT 36T $L9 $Tb %6 $0S $0€E $0L %6 $2S 36€
35 EYAN %9 38 39T 31T %9 32T 3L %9 %81 %9 %9 %8 %8 %8
£ 01 [ LT 8 L 1€ 61 |2 €2 P [43 {4 x4 8T 9% Jied
$LT $1E %82 %61 352 $9€ 36€ %82 £3727% %82 £Y44 296 3T $LY Y47
30T $ET st $€ %81 312 2€ %9 sLZ %€ 36T £17 39 %9 %9 39
9 11 01 L 6 €1 A 0T 9T 01 ST 0z |4 LT ST 9¢ 400d A
30T $HT 36€ $HE %6 $TT 318 %92 30T 3%9 $€T %98 32T 36b $0b
09 b8 vET 102 15 £9 98% 961 09 v8¢ 6L LIS TL 162 8€Z 009 ased
POOM ® seb jeay [Ma/pun| uesT | uesT [MQA/pun| ues | ues |spessip| pispeg | JBYIO |paIey | swg fejoL

uedoid | JesmeN | ouo9|3 /ping | /piing /ping | /ping | 40 [MS+A pedying
ION 1ON [elinsN
¢awoy mnoA SJOAsY auiq pling éitng oq aur pjnoys O3ASS snjejs ewhodwa
yeay nok Aem Arewnd ayj st Jeym Ui uonoejsies

pauwojul noA Buidesy pue noA yum Bunesiunwiwo?)

asuewIoued diseg  19¢°G a|qe |

sisquisiy aAnpe1adoon auyosg AsjjeA sbuudg inyding jo Aoning v




yoleasay pue saibajess 19y Aq paledald

v6Z" 19T 9r8” G8h " 687"
22°L2 226 L1 L 26" 1T by S alenbg IyH
s9'v 18v'v |sv'vy |zew |vLb |09p |oetv [sp'b [19°% [esp |0Lp {9€'t [2Zsk [65°v |60°F |pS5E uesiy
$€2 $LT %02 %02 %02 %28 381 %01 $LT €L 36¥ 32¢ $£2 %26 387
3€T %8 31T %8 $11 %07 %6 321 %01 %01 $TT %6 %21 $0T 30T 30T
jan 0T Z1 Z1 Z1 6F 11 9 0T by LZ 61 A 1€ 62 09 NG
%2 €2 %9 312 392 %G8 36T 38 $bT 360 $8% $2¢ 381 $T9 36€
$HT 521 £37 301 %91 %21 %8 %01 %6 31T $€T 30T $0T 3€T1 %6 $TT
91 ST |4 VI LT 95 01 5 6 2s [4 12 Z1 ov 92 99 alnsun
%87 sbe 312 $12 391 38L 322 3L 397 %94 $6b E145 %81 %06 308
$2€ $8¢ $LE $0¢ $1¢ 3€€ 3S€ %62 sbe %%€ $9¢€ 3¢ %0€ 3€¢ $PE B
9¢ 8b Zh 42 £€ LST a4 ST £€ €61 06 69 9¢ 00T 10T 102 jujox3
3%T %81 %22 %82 %81 %28 381 %8 312 %2L 307 $LE 3€£2 %Sk 356
36T %02 %82 %62 352 %52 %02 %22 3T¢ 3£2 $£2 $%2 $L2 %22 $L2 b2
1z 9¢ 43 154 9¢ 611 EX4 11 0€ S0T 8s vS €€ S9 08 9pT pPooH
$81 $£2 $8T $LT E3 A $SL %52 %21 $TT $LL $€€ E1%4 %22 360 318
$FT $ST $€T 3ST 31T 3T $LT %02 %6 3% $TT $9T 39T SV $HT $HT
ST 61 ST (44 Z1 29 12 0T 6 v9 LZ 9¢ 8T 1F Zh €8 Bay
%91 $2T 291 %9¢ 302 $TL %82 %8 %8 3%8 $2€ $9G %21 £344 %95
3% %C 14 29 %S -1 %9 37 %2 %S $€ %9 %2 £17 E1 17
|2 £ 4 6 S 81 L z z 12 8 BT € TT v 14 de4
%92 $LE 312 31T %5 %8S £¥47 31T %91 YL $2€ %% $92 %8G £
%S %S 37 $T 3T Y4 %9 17 %€ %€ %2 £174 17 117 $€ %€
S L |4 4 T 11T 8 4 3 VI 9 8 g 1T 8 61 J00d A
$6T 312 261 25z $8T %6L 312 %6 %91 $9L sT¥ $LE %02 308G %06
ITT 82t €11 428 90T LY LZ1 18 96 £S5 8b2 122 12T 662 00€ 009 . aseg
Ma +NGL [HGLM0G | H0GHMGS| ASC N A [layoy| dsiH d +69 | ¥oGy | vi8lL |Slewsd} S | [BjoL
J9pun SIH-uou )
SIYM
¢$9xe} 210199 §00Z 10} atooul ealy Ayouylg /a0ey aby 18puas
pioyasnoy sjewixosdde JNOA sem Jeuypn uibj3 ejouog
eiuobejey

sjuie|dwod pue suonsenb Jawoisno BulpueH

soueuLIOlad JiIseg  ‘p'G 9jqeL

siaquialy aajesadoo? owpoalg Asjjea sbudg anyding jo AoAing vy




yoieasay pue saibajens |gy Aq paledald

760" 7L0" ZLL” R .
18°0T 9Z°Le £€°¢€T 25 02 asenbg 1yo
0p'y | P9°F 8c"¥ 09°% £9°F 66 b 19° b 0S° ¥ 65 P L9 % oL ¥ 82°F £9°% 6V F £€9°% [ 4 uesiy
$0€ $0L $GE $LT $LT %22 3€2 $LT %81 $82 %07 38T %€ 3€2 %Sb
%8 $2T EYAY 31T $L 30T $0T %8 %01 E129 %6 %6 sl %21 $0T 30T
8T Z¥ 12 91 01 €1 A 0T 11 LT 9 11 4 2 LZ 09 Ma
$8¢€ %29 3be %92 %2¢ 281 %92 502 £ %4 3£2 %G1 $bT %9 321 %€
311 31T %6 31T %97 %6 s21 $1T 31 321 $ST $L $€T $L 3€T 311
Y4 1¥ 91 LT 12 4 LT £1 91 ST 01 6 |4 8 S€ 99 ainsun
$1b %66 %52 324 %92 %4 %92 %02 $6T %02 $TT 312 %9 $LT E127
$G€ s2¢ %82 $€€ 26¢€ %9€ $LE 36€ $92 $2¢ %G€ 3¢ 30b $0¢€ 3€E SvE
4:] 811 0§ i6F £6 6 zs 1% 0g 1] £2 £ Z1 SE 88 102 jupox3
$HE %99 $2€ £Y x4 %87 LT E3%4 312 %62 $8T 31T 381 $S $22 E114
$1C %92 %92 $€T %61 $6C $1C %92 $7¢€ $2¢ $ke $1C 3£2 $8¢ %52 £3%4
6% 96 9% SE 92 6€ 0€ 1€ LE LT 91 9z L 43 S9 9bT Poo9
%6E %09 %0¢€ $0€ %81 $2¢ $€T %97 361 $€T 28 35¢ $¥ 30T E¥A4
$HT $hT $PT $LT 31T €T $ET $T1 FY A $ST $TT $LT $0T $ST 3€T $HT
43 0S 14 14 ST 81 61 £1 91 61T L 12 £ LT 13 €8 By
%95 k347 £344 $2€ 30T 37 %87 %02 %91 EYAN %91 382 %8 $82 $0¢
%9 $€ %9 E14 $¥ $T 35 37 %€ %Z %9 39 st %9 %2 3
ia 11 11 8 S T L S |2 € |2 L 4 L S ST e
%8G $LE 3€S %0 %9¢ $1¢ %91 %92 %S 312 %0 $Zh %0 $TT 3Ly
%S %2 %9 20 37 %€ EY4 17 3T $€ %0 %9 %0 £X4 %€ %€
TT L 01 0 S 4 € S 1 |4 0 8 0 z 6 6T 4004 A
%6€ 319 $0€ %52 %€T 3£T $be %02 %61 312 $TT 312 %S 36T EY44
1€2 59¢ 6LT 08T GET 9€T1 42" 81T STT szt 99 SZt 0g STT v9z 009 asegd
ON SsA | +0¢€l$ | OCi$ S8% GG$ | @Jojeq 0 L0 Joye | epuy3 |uobejed| Xoo|IA [uosueg| EISIA | [ElOL
-98% | -99% -0$ [J0 /661 |02-866102-G00C|I0 80QT |/Sausug| ejouog eusig
LE]
¢bunesy nig 31vad NOD 121d1s1a
pue Jiy [ejusd

sjuiejdwo pue suolsanb Jsuioysno BuypueH

soueuLiopad diseg Gy’ 9lqel

siaquispy aaneiadoos oL3oe|g Asjjep sbundg inyding jo AsAing v



yoleasay pue saibajens 19y Aq paiedaid

192° T00" 100° 100" 979"
LETZ Z0°16 SLTH9 82°121 00°0T asenbg 140
A8 S5 P 89°F LE o 08" % L8'€ 09° ¥ €6 p 88°€ S9°F £b°€ LD oL'% b9 b 9" ¥ pS b uesiy
ETA $LT En4 %82 $81 SL $SL 2€€ %8 %85 $2T 5.8 321 %26 $LE
L. 321 311 28 $22 %9 |36 3€T %8 %6 %6 30T 201 $TT %6 30T
|4 0T 92 LT 11 i Sb 02 S g€ L zs L 1€ 22 09 Ad
%6 36T 295 %81 $h1 %21 3L %0€ $bT %96 $TT 368 $PT %06 39¢
%01 %21 %91 %9 %81 $€T 20T S€T 36T $0T %6 311 $€T $TT %07 31T
9 0T LE 4 6 8 6% 0z 6 LE L 65 6 €€ b2 39 ainsun
$TT SHT $6¢€ %6€ 34 % 316 %02 $b $GL $€ 316 $vT 328 3be
$LE $€€ 20€ 26€ 297 %97 $8€ 392 %61 %6€ $8 %8¢ 36€ %9€ 362 $b€
44 82 oL 8L 8 01 €81 197 6 16T 9 r6l 82 pOT 69 102 upx3y
30T %21 %8¢ 39¢ $L %21 %28 %€C %6 $89 %8 %26 %07 %60 %2
3€T %0¢ L3 44 %92 $0¢ $LT £ %4 $22 %22 %92 $hT %92 %02 %2 392 £
A LT SS £5 0T L1 611 Ve €T 66 1T vET v L 19 9vT pooO)
321 31 20b 3€€ 31T $2T $LL 3€¢ $1T $LS $6¢ $TL %21 %2 $9%
$LT SET $FT $€T $81 %91 $€1 $LT $ST %21 $0€ 31T 3% 321 %91 SHT
01 1T €€ LT 3 0T v9 LT 6 LY 24 65 01 GE 8¢ €8 Bay
£17 ETA $2€ $0% %21 EY44 379 30% 202 30F $0b %09 %8 $0b E¥4")
%2 £Y7 $€ %S 29 %01 3€ %9 %8 %€ $ET $€ 3€ $€ %5 117
| T € 8 0T £ 9 91T 0T S 0t 0t St 4 0T €T 4 dled
2971 %92 %92 $1¢ %S $Th $€S 312 %€S $92 sbL 312 %S $LE %8S
29 %9 3¢ $2 %C $ET 32 %€ $LT $T %87 3T 3T 32 %G %€ ;
£ S S 4 1 8 0T |4 01 S vl {4 1 L 1T 61 100d A
20T $HT 36€ $pE %6 $TT 318 %92 $0T %9 $€T %98 EXA 360 $0b
09 78 [4%4 102 18 €9 98% 95T 09 v8€ 6L LIS 1L 162 14 009 sseg
POOM 9 seb jeay | MQ/pun| uesa | ued] [ MQ/Pun| uest | uee |shessip| pjsheS | JBYlO | paiReY | aswh lejol
uedold | jeanieN | ojo8|3 /ping 1 /pling /ping | /pling 10 IMS+A yedping
1ON 1ON [eljnaN
¢awoy inok 8joAdy aun pling 4iing oq sul pinoys O3JASS © snje)g juswhodw3
128y noA Aem Aiewud ayj sl Jeymn yim uonoejsies :

sjurejdwiod pue suogsenb Jawojsno Buipue

souBULIOL dIseg  Op'G lqed

slaquioN aAgesadoos o293 Asjjep sbuuds inyding uo Asning y




yoseasay pue saibajens 19y Aq pasedaid

zew” 2R 972" S6¢€" 879"
1L %2 91§ 62°GT v9°21 2% asenbg 1Yo
6s'e |eLce {18¢ |eb'e |09'e |19°¢ lep'e |iee jeLce [g€9°g |6L7e |sste jove |09°€ |99°¢ |€9°¢€ uesin
$EE 3HT %6T 36T $hT 3TL %6C %5 $HT $18 %29 72 30T %8Y 32§
29 $Z 17 3¢ %€ £33 %G %2 3€ st %S L Y4 %2 %€ £37 17
L £ [ id £ ST 9 1 3 LI €1 S 4 01 1t 12 NG
312 24 36T 312 312 328 281 $21 %6 26L %09 $G€ $ST 20§ %05
%9 %9 £17 %S $L %9 %S $8 %€ 29 $L 3S 17 %9 %9 29
L 8 S L L 8z 9 4 £ LZ LT Z1 S LT LT Ve alnsun
$PT %€2 £ %4 $2¢ SLT 3€8 %91 SL 3€2 0L %2k $LE 361 38% $1S
E A 302 $5C %81 %61 %02 VT %97 $LZ 28T %61 %61 $8T 38T 202 36T
91 9z 8z 14 0¢ 96 81 8 92 18 14 44 [44 GS 6S STT JupXg
$LT %22 %02 $£T 261 $6L $1T %8 %81 $bL $2h E129 $€T %€G SLY
5€2 %92 YA 1 24 %LZ 352 sbz 3bZ %82 %52 %92 $bZ %82 $LZ E3 74 362
ST €€ o€ 23 62 021 1€ 4 LZ Z1t b9 25 22 08 1L 16T poo9)
%91 %92 38T %92 E1 A %94 3hZ %9 31T $28 $1¥ 36€ $6T £127 %96
$1¢ $0€ 3€2 %42 %02 sb2 %82 28T $8T $L2 362 292 3€2 %22 %82 $52
€2 6€ 92 6E 12 €11 Sg 6 LT 221 19 LS 82 59 £8 8¥I Bay
%82 $ST 361 %67 %61 %08 %02 LYAS 361 $69 $0¢ $LY 302 %55 £33
36T | %6 321 %07 31 $€1 321 28T 36T 37T %6 $9T EYA $hT $T1 32T
1z TT i jas 71 65 ST 6 i TG zz S€ ST 154 €€ BL die4
E3%4 $HT $TT 3€¢ %12 EYAN 382 b1 $TT %GL 300 82¢ %92 %S 39%
31T %9 %S €T STT %6 3€T 29T 29 %6 %6 %8 %2t 30T 26 $0T
48 8 9 61 4 134 91 8 9 £h €2 8T ST 1€ 9z LS 1004 A
%61 512 %61 £Y 44 %87 36L 312 %6 %97 %94 31t $LE %02 208G %06
ITT 821 €11 420 901 Ly LZT 15 96 £6b 8%Z 122 12T 662 00¢ 009 aseg
a4 HAGL NGOG H0SMGE| ASC N A Jeuloyy| dsiH d +G9 | YOG¥ | ¥i8L |elewsd| 9N | |Bjof
Jepun SIH-uou
SHUM
¢ Saxe} 210j3q §00Z 10} swooul ealy Ryoluy)g reoey oby 19puss)
ployssnoy ajeuwixoidde JnoA sem Jeyp wbg eyouog
eluobeyed

"moj sajes deoy 0} Buiop

souBWIIOLRd dIseg  6'G d|gel

siaquisy aAResadoos 2109|3 AsjjeA sBunds inyding jo feaing v




yoJeasay pue ssibajens |gy Aq pasedald

88T" 200" 85y " z6b "

SL°8 10°0% 96°LT 8v°€2 alenbg Iyn
go'e |z9o'g |ov'e |09 [z8'e |eL'e [6L°€ |es'e |8s°e |99'e |TL'e |Lbe |e€pre |Lste leLce |€9°€ uesi
$8% %25 $LS $HT %S she $€€ $HT 307 %61 %61 %62 %S 36T %62
sk $€ $L $2 3T £37 %S %€ $2 %€ 29 %S %€ %€ 32 012
01 11T 1 € T S L 3 4 4 |2 9 T 2 9 184 pila]
36E %29 sbe 312 $GE 312 312 38T 31¢ %2 321 38T %0 YA 266
%S %9 %P E1 26 86 25 35 39 %9 %9 %S %0 %€ 38 39
[43 1z 8 L “lzT L L 9 L 8 |4 9 0 {4 0z 43 alnsuf
%5h 354 %LT e XA %62 20€ $TE $LT %91 3€2Z 30T %97 %9 %02 26%
3€T $LT 3TT 36T £ %4 %52 %52 SLT %91 %22 3L EY A 3€T 302 312 %67
43 Z9 0z 8¢ €€ Ve 9¢ 0Z 81T LZ 11 8T L £2 96 STT X3
$9¢ 359 LY A $0¢g $€T E3 24 $be $LT $v2 $LT 311 %0C %€ $1¢ F147
%€2 $LZ 302 %0€ %52 %92 352 $22 $1¢ %02 $92 EY 4 SLT $LZ %92 352
& L6 9¢ 14 vE 9¢€ 9¢ 92 9¢ sz LT 0€ S 1€ 89 16T poo9)
$1E %89 $G€ £124 $12 %02 38T $92 $0T 322 $0T 322 %9 36T E1%7
%02 $82 %62 LY24 $€C $1C 38T $€¢€ $5C 392 $€T %92 $LZ $hC e %4 352
9% 10T zs 9€ 1€ 62 9z 6€ 62 £g ST €€ 8 8¢ ¥9 8FT By
E¥44 %85 3ve Y24 %92 %91 %02 36T 291 392 $HT %02 $1T 36T 3Tb
$€T %21 £ EYAN $HT %6 31T %21 30T %ST 35T $2T $L2 $0T 31T 32T
1€ £y 14 8T 61 41 ST A 4 61 0T ST 8 1T 0€ vL ed
%9% $€S %9% $€e %6 3€2 392 38T $6T _ | 39T %6 30€ %2 %62 %€
31T %8 38T 26 Y7 %07 31T 38 30T $L %8 3HT %€ $21 %8 30T
9z o€ 9z €1 S €1 ST 0T 11 6 S LT T 2 0z LS 100d A
36€ $19 $0€ 352 €2 | %€ 352 %02 361 $12 $TT $12 39 36T E344
1£2 G9¢ 6L1 06T GET 9¢1 ZhT 8TT STt szt 99 sZ1 0g STT $92 009 aseg

ON S8A | +0ci$ | 0Sl$ G8% GG$ | as0jeq ¥0 20 Jeye | epij|3 |uobejed| XOO|MA [uosuag| eISIA | [eloL
-98% | -9s% -0$ |40 /661 |02-8661 |0C-G00Z] 40 800T |/SOYSUS | Bllouog elalg
uib|3
¢ bunesy g 31va NOD 10141sia
pue liy jenuany

"MOj| sejel daay 0} Bupliopn

soueuLIOLRd oIseg  :4G°G @iqel

siaquiapy aanesadoos oujoalg AsjjeA sbundsg anyding jo Asaing v




yoleasay pue saibsiens |gy Aq pasedaid

260" 100" 100" 100" LTI
LE 9T 60°b¥ 61°2F $5°68 G9°LT asenbg 1yg

gse |19°¢ {1L'e |09°¢ lez'e (987 {irce |ob'e |so'e |zs'e |[e6s'z |6L’€ jev'c |I8'€ |SPE |€9°€ Uesiy
%S $0T %61 $LS %01 %01 318 $€E $0T $LS 30T %06 $0T $LS $€€
$Z 52 32 29 37 3¢ %€ £17 %€ %€ 3¢ st %€ 17 3¢ 3%
1 Z |2 Zt z 4 LT L z 21 z 61 4 Z1 L 12 pule]
%21 $12 £344 312 %87 %€ $6L 36€ 3€ %29 %81 %28 $ST %29 E1 24
3L %8 %9 3¢ %271 32 %9 %8 £Y4 %5 %8 | %8 $L $L %€ %9
v L ST L 9 T Lz 4 T 1%4 9 82 S 12 8 43 alnsun
30T 291 $h $LZ 3¢ %G $26 $LT %9 $LL 30 %66 %6 $€5 38¢
302 $12 322 36T %9 30T $22 EYA 321 3€T $0 $22 EY A 312 %81 361
M 81 15 1€ £ 9 90T 61 L 68 0 pIT 01 19 44 S1T WPX3
31T 31T $6€ %8€ $L %9 $L8 %61 %L $VL %9 $€6 $€T %28 $hE
$LT %61 $5C %62 %02 $¥1 $LZ 36T 381 %62 31T $L2 %82 $LZ %22 %62 X
91 91 65 8s 01 6 ZET 62 11 It 6 ovtT 0z 6L zs 16T poo9)
3L $HT $9% %62 %6 311 %08 292 31T %29 $01 306 %6 35h 39%

| %81 E1T4 362 §12 %62 $LZ EY%4 352 %82 E3 x4 36T %92 38T 3€2 %62 362

H Tt |54 89 (%4 €1 LT 81T 6€ LT Z6 ST €€T €1 L9 89 81 bay | .
31T $HT 292 EI%4 %6 %02 $0L E147 3ST 3Zh 39¢ 259 36T 36¢ %9%
3T 32T %8 %91 $HT £ 44 $TT 312 381 28 £343 %6 %02 %6 3h1 %21
8 0T 6T 143 L ST 128 [43 11T 1€ Lz 4 BT 92 vE PL dreq
$HT %81 $2¢ EXY4S $8T 3€2 %09 $2€ 261 $6¥% 3S€E $€9 32T E347 £144
3€T %21 %8 %6 %02 312 3L %27 $8T $L %52 3L %07 %6 31T 30T
8 01 8T 8T 01 €1 Ve 81 11 8¢ 4 9¢ L 114 14 LS 1004 A
301 $HT 36€ $pE %6 37T 318 %92 %07 $%9 %€1 %98 sz1 | s6p 30%
09 v8 vET 102 15 £9 98b 96T 09 v8¢ 6L LIS TL 162 8¢z 009 ased
POOAA ® seb jesy |MQ/pun| uesy | uesq |HQ/PUn| ues] | ued] (snessip) pisheg | WO | paMsyY | Bswh felol

uedold | feanjen | o109l /piing | /pling /oing | /ping 0 |IMS+A pedsind4
1ON JON [eljneN
¢awoy nok 8joAdY 8uiq piing &jing eq aur pjnoys O3NSS snie)s Juswkojdwy

Jeay noA Aem Asewud sy} st Jeyp UM uonoejsiyeg

*MO} sojel daay 0} Bupjiopn

‘souBULIOpad dised  (9G'G 9jqel

slaquisly aAReiadoon) o393 AsjeA sbuuds inyding jo Asaing v




yoseasay pue saibejens 19y Aq patedaid

TZ8° 100" G80" 8L0" 9£0"
Z9°LT 9G6°1¢ 91" 6T S 6T LY €T alenbg 1Yo
SZ'¥ ST % 9% ¥ 17407 06 ¥ b v L6°€ 5% 6E°F 0€"¥ 9£° b LZ'v 0% ¥ 65" ¥ LZ% £€°b uesiN
$€2 $HT 3£2 $pT %92 318 361 %61 %6 $cL 31§ %92 312 %8G EY4S
%6 E1 %6 $F 30T 3L %9 %91 17 $L %6 %5 $L %8 %9 $L
0T 9 0T 9 11T gg 8 8 i4 1€ 44 11T 6 4 8T £p AQ
26T E3 24 EYAN sLz | s1c 328 %87 31T 361 3vL $LZ £¥4 362 %66 $T¥
%6 $€T $L 3¢€T $€T STT %6 SPT $0T 31T $L $€T %91 $€T %6 $TT
0T 91 8 8T [ vS ZT L 0T 6F ST 82 61 6€ Lz 99 ainsun
36T 312 $€£2 3€T %81 %28 %81 $L %81 VL 29% $8¢ 36T £134 318
3€2 3LZ Ve 392 $LZ 362 3€2 %4 $TE $LZ %0€ %82 %02 $LZ %82 $L2
14 GE 8¢ LE 62 GET 62 ZT o€ 448 SL 29 24 18 £8 p91 JUOX3
202 312 %81 352 391 6L %02 %5 %02 3SL %1% 39¢ 322 25Y %56
$2€ 362 %8¢ %0€ %92 $6¢ $82 %81 $9¢€ 262 %62 %62 $2¢ 392 $2¢ %62
GE LE Z€ £h 82 6€1 S€ 6 G¢ €T 1L £9 6€ 8L 96 SLT poog)
%02 %22 26T 362 $HT 308 %02 %07 32T $8L 31¥ 36€E 3€2 £144 356
%81 $LT SLT 381 3€T $LT %91 302 $€T $LT SLT 391 36T 36T %87 $LT
02 zz 61 T4 i 08 0z 0T 4 8L 147 1 £z SF §S 001 , Bay
%02 $LT SLT 3£2 E1%4 $EL $1.2 $€ 3L %06 3€g $€€ 30T $EL $L2
3G Y7 17 %S $L %S 29 $2 32 %9 %9 %S $Z $L %€ %G :
9 S S L L 44 8 1 z LZ 9T 0T € zz 8 o¢ die4
%£2 32¢ %9 $LZ L1 32¢€ 289 $8T $HT %89 $€2 366 %81 $T¥ %65
%G E1] $T 17 %€ 3T 52T %8 %€ 3¢ 32 %S %€ 3¢ 17 s¥
S L T 9 £ L ST id 3 ST S Z1 4 6 €1 44 1004 A
26T CARA 36T ey X4 %81 %61 312 %6 %91 9L 31¥ $LE %02 %06 %0G
T1T 8zt €1T Zh1 90T ZLY LZT 1S 96 14 8%z 122 12T 662 00€ 009 aseg
AQ +AGL  PASLM0G 0SS ST N A [euyo | dsiH d +G9 | ¥9G¥ | vP-8l |Slewsd| S | [ejol
spun ‘ SiH-uou
SIUM
¢ sexe] a10§oq 800Z 40} SWodU| ealy Apoiuyyy jeoey aby lopuss)
ptoyssnoy sjewixosdde JnoA sem Jeypn uib|3 ejouog
ejuobejey

“JUSLUUOJIAUS 8Uj} JO Spiema)s poob buleg

souBULIONad diseg  :9'G 9jqe.

slequialy aanesadoon ou3oag AsjieA sbuuds snyding jo Asaing v




yoleasay pue saibsiens 19y Aq pasedaid

€%0° 028" €zT” 9£0 "
00°€T 0521 80°62 98°LE asenbg 1Yo
62°v 19¢'% L% |8V |[wvw |szv |wBow 8T b sp'vy |0S'F |6€% |00°F |o05°F |TIEW |9BP°F |€E€°® T uesyy
$0F | %09 %S¢ %61 %92 212 297 312 36T 312 26 312 %6 %91 %67
5L 3L %8 X %8 %L 28 38 3L %L 29 $L Sl %9 %8 $L
LT 9z ST 8 1T 6 1T 6 . 8 6 b 6 4 L 1z £v pi[e
Y44 $€S $0€ $ve 3124 312 SLT %02 P24 $LZ %6 281 %9 $LT %08
5T $0T $TT 51T %21 30T 28 31T $PT LY %6 %01 $€T %01 5€T $TT
62 s¢ 0z 9T 91 2 1T €T 91 8T 9 Z1 4 1T €€ 99 ainsuf
3LE $£9 822 30€ 352 $€2 E1%3 SET 28T $0T 3E€T 3LT 35 312 £33
$92 %82 %02 $€€ %0€ 382 36€ %61 %92 %92 £X43 822 50€ $0€ $LT %12
19 €0T 9g 6¥ 114 8¢ 5§ 44 0€ 43 12 82 6 Ve zL ¥oT JuPX3
$LE $€9 $€€ 562 512 EX ¢4 %61 $12 36T 3€2 $T1 %02 %6 36T %51
282 20€ 3Z¢€ %62 $LT 3Lz A4 $T€ 20€ $T¢ $0¢€ 282 $LZ $0€ 30€ %62
$9 01T LS 24 LE LE vE 9¢ vE oF 0z s€ 8 pe 8L SLT poo9
%0€ %69 $LE %22 %81 $€2 28T %52 s | %12 $TT 38T %9 312 b4
3€1 36T $1¢ 3ST $ET $LT $€T $12 $6T sLT $LT 36T %02 38T SLT SLT
0g 69 LE 44 81 4 8T sz 44 12 1T 8T 9 12 a4 00T By
%06 $0S 3€2 3€2 $€2 30¢€ 20€ s€€ $0T %01 3ET $LT $€ 3€T 157
%9 %7 214 %S 3 SL 29 38 € L4 29 %9 %€ 3€ 36 %6
ST ST L L L 6 6 01 £ £ v 8 T v £T o€ led
%79 %2¢ $2¢ 381 3€T $LZ %81 $HT %6 %6 — |30 £89 20 %87 2bT
29 8z %7 3€ 3% 3b 3€ 3€ ¥4 X4 30 EYA 20 %€ 3T 57
i L L id S 9 2 £ 4 4 0 ST 0 4 € 144 J100d A
36€ $19 $0€ 362 $€2 32 352 302 361 312 $TT 812 %S $61 144
1£2 $9¢ 6LT 0ST GET 91 [4as 81T ST1 X4 99 Sz o€ STT y92 009 aseg
ON oA [ +0ck$ | 0ci$ | G988 | 66§ |a0eq | #0 10 | 1eye | epwy3 [uobered| XoolM [uosusg| EISIA | [ejoL
-98% | -96% -0$ |40 /661 [02-866102-G00T|10 800C |/SS}IsUG| Bjlouos eusig
wb|3
¢buneay Tua 31va NOD 10141S1a
pue Jiy jejjuad

“JUSWIUOIIAUS 8Y} JO spiema)ls poob Buleg

aouewIONRd diseg  :49°G jdel

siaquisp aAgesadoo) suydalg KajjeA sbuudg anyding jo Aeaing v




yoleasay pue salbajens 19y Aq pasedaid

882" T00" 100" 100" 870"
£8°02 80°8€T 127191 05°9§ 0z 12 alenbg 1yo
ST ¥ 9% ¥ A7 Lz ¥ 19°% 15°¢ 14287 A7 £€5°¢ 8¢t €L°¢ v ¥ 2% oV ¥ 8Z'¥ €€ h uesiN
$L SHT %0% $LE %67 397 %59 SLY %91 $LE 36T %614 3L 3Ly SLY
%S SL $L %8 %97 31T $ 3€T 321 3% 130T 3L %¥ SL %8 $L
[ 9 LI 91 8 L 82 0z L 91 8 43 £ 0z 0z £¥ Xa
%21 312 $8¢ 3€T $LT $HT $0L $2§ %8 $1b %61 %58 302 1% $6€
S€T $LT $TT 3L %22 E3an %6 %22 %8 3L $€T $TT %8T %6 $TT 31T
8 2 4 ST 11 6 9% Ve S Lz 0T 9% €1 LZ 9z 99 ainsun
%6 35T $T¥ 3€€ 37 $T %56 $1T 37 368 $2 $86 %8 309 $Z¢
%52 %62 %62 $LZ 32T $€ $2¢ 321 %21 29€ %S &1¢ $81 3he %22 $LZ
ST x4 89 vs 9 Z 96T 8T L 6€T i 091 €1 66 zs F9T JIOX3
$0T $TT | %0V %SE 3L %9 $L8 3€T %9 . $TL 30T %68 $TT %S €Y
20€ 3724 30€ $1¢ $v2 $LT 31¢ $92 $LT $2€ 3£C $0€ %82 $LZ EYAS 362
8T 0z oL Z9 4 1T ZST 1% 0T vzt 81 9sT 0c 6L 9L SLT pooo
sl $€T 30% %9¢ %8 %21 %08 $L2 $TT $29 %02 %08 %91 CY4 S E¥A
32T $ST $LT $8T %91 261 $91 SLT 381 %91 %52 $ST 3€Z $vL %87 SLT
L g1 )4 9€ 8 Zt 08 LT 11 Z9 0z 08 91 44 47 00T Bry
%07 %01 $LE 30 $LT %02 $€9 $€€ $LT %05 $LT 30L 3€T 3€S 3€E
%S 37 %S 29 30T 30T £17 %9 %8 37 30T 3% %9 %5 117 %S
€ £ T1 [41 S 9 6T 0T S ST 8 1z |2 91 01 0€ e
$LZ 381 C1 Al $L2 %S SEL 3€2 $LZ %89 39 %06 el 26 $9¢ $S§
20T %S $T 3€ %2 %62 EX 3 252 30 3H1 %2 3¢ $€ %S £1
9 id € 9 1 91 S 9 ST 1 1T 0T 4 8 Z1 zZ Jo0d A
$0T $H1 $6€ E143 %6 STT 318 %92 201 %9 3€T $98 321 367 $0%
09 78 (44 102 TS €9 98% 9ST 09 p8E 6L LTS TL 162 8£2 009 aseg
POOAA 8 seb jesy DIg/pun| ues | ues [HA/PUN| ues | uesT |snessip| pisyeg [ JOyIQ. (paiey | swi jejo ]
uedoid | [esnjeN | o8| /piing | /pling /ping | /piing 0 IMS+A yedsing
JON 1ON jeljnaN

¢awoy unok SJ0ASY aul piing éiing 8q aul pinoys O3NSS snje)s Juswho|dwy

yeay noA Aem Arewud ayj si Jeypp ypm uogoeysijeg

“JUSLLIUOJIAUS 8U) JO spiema)s poob Bulayg

aouBULIONSd Jiseg  09°C Bjgel

sioqusiy aApesadoon suyoelg AsjjeA sbuuds inyding jo Asaing v




yosessoy pue saifojens 19y Ag pasedaid

T€S” 100" [ZER oLy ST0”
z8°22 82709 89°6 0L TT €L°GT asenbg 1Yo
60° ¥ % S°F 0Z°% 0E" b 4728 L9°€ 80° % 8E ¥ YAl 0€°F LT b 9E ¥ 9T°F% 9c° ¥ 9Z° ¥ ueaiy
322 %0 %22 3€€ %22 %001 %0 %0 %22 %8L %96 %0 £347 3€€ $L9
82 30 %2 32 $Z £Y4 %0 %0 %2 %2 X4 30 %€ 3T £Y4 £Y4
4 0 4 £ 4 6 0 0 4 L S 0 4 € 9 6 p.[a]
$ST 20€ %02 30T 352 %58 3ST %9 %01 $58 0% $S€ %02 %0% %09
%€ %S $F 3T %S b 3T E¥4 %2 Y $€ %€ 3€ 3¢ 17 %€
€ 9 jid 4 S LT £ T 4 LT 8 L |4 8 ZtT 0z alnsun
%91 312 %€T %22 36T $88 %71 %8 %87 VL $Zh $9¢€ %02 316 $6F
3GE Fa84 %05 $8¢€ F127 LY $€2 $Tb %90 $Th 3EY $1b 3Th 3Eh $1b %2k ’
6€E €S LS A LY 1% 44 62 12 a4 58T 901 06 0§ 8zt 448 0S¢ upx3
361 202 26T 382 35T %8L 322 $L $L1 SLL $1¥ $9¢ %22 3€h $LS
%6¢€ $2¢ 3G€E 0% 382 £3 15 3G€ $LZ %S¢ 25¢ 3HE 3hE $LE %62 $6€ 2bE
6€ 157 6€ LG 0g 0971 Sh [ 29 86T 78 GL S¥ 88 LTT 902 poo9
$22 %92 $21 312 %61 %29 $8€ 36T CYA $EL $LE %9% $ST %8S 3Zh
39T %91 %6 $2T E3 A $TT E1 44 £1 %4 30T 3€T %21 $LT %07 %91 $1T $HT
81 1z 01 LT ST 0s 1€ [41 01 65 o€ LE 48 Ly vE 18 Bay
362 312 17 362 312 %S $9% %8 $LT $SL %06 362 $LT %SL 362
%9 £37 3T 17 25 $€ %6 37 -1/ %% %S %€ %€ %9 32 £34
L S T 9 S €1 11 z 4 8T A4 L |4 8T 9 |24 Jieq
$0€ %02 %0 $0€ %02 %02 208 %07 %0 206 30€ 206 $02 $0L $0€
%€ 32 %0 $Z ¥4 %0 %9 $2 %0 L4 3T 32 %2 EY4 3T $Z
€ 4 0 £ 4 Z 8 T 0 6 € S 4 L € 0T 100d A
361 312 361 £ 24 %81 36L E1%4 %6 %91 39L $T¥ $LE %02 %06 %06
TTT 821 €11 ZhT 901 LY L2T 18 96 £6F 8¥¢c 122 jt4 662 00¢€ 009 aseq
b (6] HAGL PISIOI0GH0SMSGC| AST N A [eyo|y| dsiH d +G9 | ¥9-GF | P8l |Slewsd| SN | [ejoL
Jspun SIH-uou
SUUM
¢,S9Xe) 240J2q 800Z 10} aWOodUl ealy Auotuy)g raoey by 19puas
ployssnoy ajewsixoidde inok sem Jeupp uib|3 ejouos
eluobejed

"wnuiuiw e o) sabejno jemod Jebuoj Buideayy

souelULopad diseg  :/'G sjqel.

siaquiapy aAnel1adoos J1399]3 AsjeA sbuudg anyding jo Aenung v




yoseasay pue saibsjens 19y Ag pasedsid

£68° 020" L99° 100"
Lz°z 0¥ 2¢ 26 ¥1 617 0L asenbg 1Yo
€TV 82°Fb A 81°% 47287 9e" b 6E° P AN LE' T A4 2% oL"€ 0% ¥ 155787 9% ¥ 9z % uesiy
E3727 $95 %22 %0 $€€ £1472 %22 %0 %22 %95 $TT $TT %0 322 %96
EY4 5T 3T 20 EY4 3€ $1 %0 %2 £34 $2 sT %0 %2 3z 32
4 S z 0 € |2 Z 0 4 S T T 0 4 S 6 AQ
%0% 309 $0T 30€ 30€ 30€ %52 36T 36T 30E %G1 3ST 35 %02 £144
%€ %€ 3T EY4 EY £32 sk %€ %€ 25 %S %2 8€ 3¢ $€ %€
8 48 4 9 9 9 S € € 9 € € T |4 6 02 alnsun
$LE $29 %92 E124 %92 344 382 26T $02 36z |26 $TT %S 372 $TS
30% CY44 $9¢ 36€ %60 F1 26¥ $T¥ E32% 299 35€E 32¢ 3€h $TS $8% P47
€6 GST &) 65 29 19 0L 8% 18 LS ¥4 82 €1 65 LZ1 062 jupxzg
%8€ 319 $SE 124 %02 %0¢ $1C $€C 302 36T $CT 31¢ %9 $LT £1%7
$HE 3G€ %07 $€€ $T¢ $1E $1E %00 $LE ETA %8¢ %S¢ 2EY $0€E sbe Ve
6L 921 ZL 0% zh [4i4 4% Ly 474 op 14 144 €T SE 68 30¢ poo9)
%07 $6S $LE $G€ $TT $LT $LT $LT %91 $6T 321 %8¢ 3b 20T $9¢
, SHT $€1 $LT %61 $L 30T 30T 32T $TT %21 $GT 352 30T 3L $TT $HT
| 4% 8% o€ 82 6 A BT BT €T ST 0T 1€ € 8 62 18 Bay
| 38€ $€9 312 312 $8€E 312 312 $LT LT %8 SLT E¥41 %0 312 312
37 3% $€ 3¢ %L $P $b %€ %€ $Z %9 %8 %0 37 %2 £Y
6 ST S S 6 S S 12 i 4 v 0T 0 S S 44 dle4
309 $0% %0% 202 %0 307 %02 %02 %0 %0 %0 308 30 302 20
%€ 3T °X4 3T %0 %€ 3T %z %0 %0 %0 %9 %0 32 20 %2
9 2 {4 4 0 4 4 4 0 0 0 8 0 4 0 0t 100d A
$6€ 319 $0€ %52 3€T $€2 $v2 302 367 $T2 $TT 312 1 36T £134
1€2 s9¢ 6LT 0§t GET 9£T 42 811 SIT T4 99 SZ1 0€ STT v9¢ 009 ased
ON saA | +0gi$ | 0ELS 8% G6$ | al0)eq 0 20 Joye | epujq [uobejed| xodjipy [uosuag | BISIA | [eloL
| -98% | -95¢ -0$ [Jo .66} |02-8661|02-G00Z|10 800C |/selisug| ejiouos euslg
wb|3
¢bunesy mnig 31va NOO 1214d1sia
pue ity [enua)

‘winwiunu e o} sabejno Jamod sebuoj Buidasy

souBULIONSd Jiseg  q/°G oiqel

W sloquiaiy aApeladoo ou3o9|g AsjieA sbuudg Inyding jo AsAing v




yoiessay pue saibsiens 19y Aq pasedaid

v10° T00° 100" ) 100" S16°
oL €€ 09°€0T 80°0L 1L°8S 9T IT asenbg 140
0T ¥ IT°¥% 6€° ¥ 82" ¥ 01" ¥ 65°€ LE" T SZT'¥ 0L € 9¢" ¥ 85°¢ 8E" Y 2087 €€ A 9Z°¥ uesiy
%0 %0 %96 £Y47 by %0 296 296 %0 E¥a4 $TT %68 %0 %96 +34
%0 %0 $Z 32 %8 %0 3T $€ %0 3T %1 32 %0 32 %2 %z )
0 0 S 2 v 0 S S 0 4 T 8 0 s * 4 6 AGQ
%02 36T 30€ $0€ %02 30€ %06 35S 262 %02 $0Z - | %08 39T $0§ %5€
$L £37 3€ £33 %8 30T 5z $L %8 3T %S 3€ 117 %€ 3¢ %€
4 € 9 9 v 9 0T 1T S v 4 9T £ 0T L 0z alnsun
%6 EYA 39% $2€ %S 82 %€6 $6T %S %9L 37 296 %07 3€§ %8€E
$LE $G€ 361 $6€ %2 %0T %8% $0€ %22 360 $TT 3Ly $vE 35k 26€ $2h
[44 62 FTT 6L 4! 9 434 L¥ €1 06T 6 124 ve ZET v6 062 Jupx3
$0T $LT $S€ %9¢ %9 $TT $€8 %82 %8 %v9 $ST 378 $ST $LY $6¢€
$S€ %2k $TE $LE 3 %4 $G€ %S¢ $LE $LT $he $6E 3HE %2k 3€€ $be £33
12 SE €L FL 4 44 ZLT 8s 91 ZET IE VLI 0€ 96 08 902 poos)
%6 321 $1€E 3LE $ST $€T $29 $€€ %61 38% 35¢ ShL 32T $LE 316G
%21 %21 31T 35T E1 %4 %0€ %0T SLT %52 $0T E1 4 %21 $hT 30T $LT $HT
L 0T ST 0€ 4 61 0S LZ ST 6E 0z 09 0T 0€ 184 18 Bay
1374 $1¢ %8¢ | 36T $5Z 21Z $%S 362 %62 39% $8€ %86 %8 %G %8¢
%z %9 £37 $€ %21 %8 3¢ s¥ %21 $€ $TT $€ 3€ 2% 214 3%
T S 6 L 9 S €T 9 L 11 6 A 4 €T 6 24 die4
%06 $0¢ $0¢ 301 30T %0S $0% %02 30b 30% %08 307 %02 %0S $0€
%8 %2 3T %0 EY4 %8 3T $1T $L 31 %9 3T 3¢ $2 3T 14 :
S z z 1 T S 4 Z 4 4 S i4 z S £ 0T J00d A
30T $hT $6€ she %6 311 318 %92 301 $%9 $€T %98 32T 367 $0%
09 4] vee 102 15 £9 98k 95T 09 ¥8E 6L LIG 1L 162 8ez 009 aseg
POOM 9 seb 1eay Maspeun| ues] | ueeq |MQ/pun| ues] | uee [snessip| pjspeg | JBYO | paidYy | Bu el
uedold | jeinjeN | oL3o9I3 /eling | /ping /ping | /ping 0 IMS+A yed/ng
1ON JON [elnsN

¢awoy anok 8J0AdY 3ul7 piing iling 8q sui pjnoys OJNSS snje)s swAhojduig

1eay nok Aem Kiewud sy st Jeypn UM uonoejsies

‘winwiuw e o} sabeyno Jamod sabuo) Buideay

souBULIONed JiISeg  :0/°G 8jqel

slaquisy aanetadoos 2139913 AejjeA sbuuds anyding jo Aaaing v




\

yoiessay pue saibajens jgy Aq pasedaid

0% " 100° L90° ZeL” 818"
60°62 £6°22 66 61 G9°8 £6°C alenbg o
0T°z €T |so'1 {9s'1T |28t |eo°t |rotz |[®1°z |2LT |€L°T |69°T [s68°T |69°T |[18°T |OL°T {9L'T uesiy
362 %0 %0 362 208 482 261 %0 20 3001 %08 %06 %0 %06 %06
3T %0 %0 $1 YA %0 52 %0 %0 3T 51 31 %0 3T 3T $1
T 0 0 1 4 1 £ 0 0 4 4 4 0 2z 4 i4 Ma
30 %0 30 2001 30 $00T %0 %0 %0 $00T $00T %0 %0 %0 %001
30 %0 %0 5T %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 1 0 1 0 0 0 1 T 0 0 0 T 1 434
3€¢ $vZ E3a $L 312 ShL 392 $%2 $LT %09 $€€ $0b 512 %56 %6b
3€T %8 %6 %2 %8 $L %6 302 %L %9 %9 38 SL %8 %9 %1,
jay 01 9 £ 6 1€ 11 01 L sZ A LT 6 £2 61 4 papioapuf
$€2 %22 361 %22 3y %£9 %9¢ %9 $LT $LL 36E 36€ $LT %5S %bb
E1 A 311 $17T %01 %8 38 387 %8 31T 311 $0T 311 %6 %21 %6 311
ST ! z1 v1 6 o £z b 11 6 sz sz 11 s¢ 8z 79 spusuoddo
352 $SC SLT $5T %8 %00T %0 %0 $LT $£8 $EE 30§ $LT %8S STV
£33 32 X4 -4 3T $€ %0 20 %2 32 32 %€ 32 $2 £14 LY
3 € z £ 1 4 0 0 z 01 v 9 z L S Z1 sjusuoddo ueaq
312 $HT $1C $1¢ $€T $88 $CT %7 %6 3LL $5€E 60 $HT LY $€S
%8 %5 %8 %9 %6 $8 17 CYA £14 3L %9 $0T %5 st %8 $L
6 9 6 6 0T 8€ S 9 4 €g ST 12 9 0z €2 %44 dooy ueay
%91 322 36T %92 $LT %08 302 %L $LT $9L €Y $S€E 312 60 $TS
329 $hL shL %8L $TL E37A %L9 319 $SL 3L %G1 %89 SLL 3TL kL $CL
69 56 78 11T SL (24 58 1€ ZL €€ L8T 0ST £6 444 222 vER doo)
%61 512 $6T 3hZ %87 $6L $1C %6 $91 39L $1p $LE %02 %06 205
11T 82T €11 [42° 90T LY Lzl 15 96 £GF 8y T 122 121 662 00¢ 009 aseg
Ma HAGL  PISLIM0SPI0SMMGE MSE N A [®woy] dsiH d +G9 | ¥9-G¥ | P81 |Slewsd) Sep | [ejoL
Jspun SIH-uou
ANYM
£, S8Xe] 910}oq S00Z 10} SWIOoU| ealy Apoiuyg jeoey aby Jopuscy
pioyssnoy sjewixoidde INoA sem Jeym uibig eyouog
eluobejed

‘Apedoud say 1ybnog sieumo Apedoid usym piodsas olgnd sem Jey; pue sJeeA gz 1oj aul jeyl piing o3 Aem-jo-1ybu ay) psumo sey )i Jey; sAes aalesadooo syl
"SUIBIUNOW BY] JO MBIA JIBY] UM SJou8lUl [IM )l 9snedeq senjeA Aladoud iyl Uny [m sulf mau ay) jeyy Aes sjusuoddO - 8 INSWILVLS HO V INFWILVLIS 98|qet

s1aquiapy aanesadoon suyaelg AojjeA sbuuds inyding jo AsAIng v



yoleasoy pue seibejens 19y Aq pasedaid

TR GEG” 06€" 70T "

L6°2T £8°91 20°'61 66 " 2€ arenbg Yo
18°1 |eL'T |1L T [#8°T |wvo'T |s8T et {eecT oLt (et fest [60°z |estT LT |e69°T [oLcT uesiy
%0 $00T %05 %05 %0 %0 %0 %52 %62 %0 %0 $SL %0 %0 %62
%0 31 3T 31 %0 %0 30 31 3T %0 %0 32 %0 %0 %0 3T
0 2 4 Z 0 0 0 T 1 0 0 £ 0 0 T id AQ
%0 %001 %0 %00T %0 %0 %007 %0 %0 %0 30 %0 %0 %0 %001
%0 %0 %0 3T %0 %0 3T %0 %0 %0 %0 %0 %0 %0 %0 %0
0 T 0 T 0 0 1 0 0 0 0 0 0 0 1 T 434
%0% $LS 512 %92 36T 3€€ 3TE EY AN $LT 312 %2 %92 %G 312 3Gt
$L SL %S 3L %9 $0T %6 %5 %9 %L 32 %6 $L %8 %L $L
LT 24 6 11 8 A €T 9 L 6 T 1T 4 6 61 144 papioapun
$€6 3Lb 30€ %52 %61 %LT $LI $£2 %€T %02 31T $9¢ %€ $02 30¢€
25T 38 $11 $TT. %6 $€1 %8 $€1 %L %0T $TT 38T 3L $TT 3L 31T
bE o€ 61 91 4 LT 11 ST 8 €1 L €z z €1 61 F9 sjusuoddQ
352 $SL $Ch 3€€ $LI $8 %30S 3L $€€ %0 $LT 30 %8 $LT %89
%1 %2 %€ $€ 31 $1 17 $¢ %€ $0 3¢ 30 $€ $2 $€ 32
3 6 s p z I 9 z y 0 z 0 T z L 1 sjusuoddo ueay
397 shL %82 $1C $5€ %971 %61 %61 $€€ $12 $2T 321 %0 3€T $€S
E3 %6 $L %9 $1T %S %9 $L 22T 3L %8 17 %0 %6 %6 $L
11T [43 4 3 ST L 8 8 v 6 S S 0 0T €2 144 dood uea
$8¢€ 319 %0€ %52 $€2 Y44 £ %4 %02 26T %22 ETA %61 %9 36T Y
$2L 3€L ShL $TL $€L $TL $€L $EL 20L $SL $LL %99 $€8 $0L $EL $2L
991 592 ZEl LOT 86 L6 €01 98 18 V6 18 €8 14 18 b6l vED doo)
$6E 319 %0€ 86z | sez $€T E174 %02 %61 312 $TT 312 %5 361 £14%
1€z G9€ 6LT 0ST GET 9€T 42 811 STt s21 99 S2t 0g STT 792 009 aseg

ON saA | +0e1$ | OcEL$ G8% G6$ | 8iojeq ¥0 L0 Jeye | epuy3 |uobejed| xoofip fuosusg| EISIA | fejol
-98% [ -96% -0$ |40 /661 |0C-8663|02-G00Z|10 800C |/sausug| eliouog elslg
uibi3
¢Buneay Ta 31va NOD 1o1disia
pue Jiy |ejuad

‘Auadoud Jiay Jybnog sisumo Apadold usym piogas olgnd sem Jey) pue sJesA gz 10 aul| Jey} pjing o} Aem-Jo-jubu sy} vmsso.wmc } 1} sAes aAljesadood sy
"SUIBJUNOW BY} JO MBI JIBU] UNM SIBLIBJUI [|IM )t 8SNEoaq senjea Apadoid Jisy) LNy [ suil mau sy} ey} Aes sjusuoddO —- g INIWILYLS ¥O V INFJWILVLS Q9 8iqeL

sioquay aaneiadoon ouyoalg AojjeA sbuudg inyding jo Asaing vy



Uosessdy pue saibajens igy Aq pasedaid

190° 100" T00° T00° TR
90°82 9L°02¢ $6°612 $9°pE 2L asenbs Iyo
L6°T les 1 |89°1 l69°T |8T°t |89°¢c. |oe'1 |st'z |zee |9e°T |zecz |99°T [z6'T |89°T Jes8 T (oLT ueapy
%52 %0 352 20§ %62 $52 %08 $SL %0 %52 20 %001 %0 305 %06
32 30 30 5T 82 32 %0 $2 %0 %0 %0 5T %0 3T 3T $T
T 0 T 4 T 1 4 € 0 1 0 |2 0 Z Z | p. [a]
%0 %0 2001 %0 %0 $00T %0 %0 %0 3001 %0 $00T %0 %007 20
%0 %0 20 %0 %0 YA %0 30 %0 %0 %0 %0 %0 %0 30 %0
0 0 T 0 0 1 0 0 0 T 0 T 0 T 0 T 439
%6 $vT %8b $TE 29¢ 312 %€h %8€E $LT %Sb $LT 318 $LT 39¢ $8%
%€ $L %6 %9 %62 C1A £172 30T %21 %5 %6 $L 30T %S %8 St
4 9 0z €T ST 6 8T 9T L 6T L 23 L ST 0z 144 papapun
%02 EYA4 $€2 LT %71 %19 %52 $1¢ 2€S %91 $hE $€9 %91 $Lb %8¢
LY 44 $LT %9 %8 %81 $29 %€ $€T1 $LS %€ %82 38 $bT $0T %01 31T
€1 4 ST LT 6 6 91 0z e 0T 44 0% 01 o€ v v sjuauoddg
20 $€€ %5C 3€E $€E %8 %85 $L9 $LT $LT %8 326 %8 $0S 32V
%0 %S 31 %z %8 %2 $T $5 $€ 3T 31 %2 3T $2 %2 %2
0 ¥ £ ¥ ¥ T L 8 z Z T TT T 9 g zt sjuauoddo uea
32T %6 $LE $LE 3£2 %L %0L 367 $TT 0% 36T 318 $2T %20 $LE
38 %S $L %8 302 %S %9 %€ %8 37 $0T 3L $L %9 %8 3L
S {4 91 91 01 € 0€ 12 S LT 8 13 S 8T 0T %4 dood uesq
26 3€T 31b $he %€ 32 %56 %02 3¢ $LL %6 %06 31T 306 %8¢
%59 $L9 %9L $hL $¥Z $vT 358 %95 $02 $L8 328 39L %89 $SL $0L $2L
6€ as 8LT 6p1 49 6 1284 88 45 vEE 144 Z6¢€ 8% 612 L9T bED doop
30T $PT 36€ $PE %6 31T 318 %92 %01 $%9 3€T %98 %21 36% 30%
09 v8 X4 102 1s €9 98% 96T 09 v8E 6L LIS TL 162 8€C 009 eseg
POOM o seb 1esy |MQa/Puni uesd | ues |MQG/pun| uesT | ues [snessip| pjshHeS | Y0 |paaeY | Bwh felol
uedold | [enieN | oMo /ping | /pling /piing | /pling 0 IMS+A yed/ing
1IN 1ON lesjnaN

éawoy 1nok 9joAsy aul piing &Nng eq aur pinoys O3NSS snjels juswiodwz

Jeay noA Aem Arewnd ays s1 JeUM yim uonoejsies

‘Ruadoud siayy ybnog sieumo Ausdoid usym piodsel algnd sem Jey) pue siesA gz Joj aulj Jeys pling o) Aem-jo-Jybii ay} paumo sey )i jey} sAes saneladood ay |
"SUIBJUNOW BU} JO MBIA JIBY} UM BJjI8jUl [IM Ji 8sneoaq senfea Apadoid Jiau Uny | aull mau 8y Jey Aes sjusuoddO -- g LINFWILVLS HO V INIWILVIS :299jqeL

staquIsiy aAaljesadoo) 21439913 AdjjeA sbuudsg anyding jo Asaing v




yoseasay pue salbajells |gy Aq paiedaid

£€90° 6ST" 021" L€S" Zve”

R . S6°L £€°6T 568 $9°¢ asenbg 1Yo
90°2 LT oLt ST 06°T 0L"T 10°2 96°1 69°T LL°T £€9°1 98°1T 6L°T 981 L9°1 LL°T uesiy
352 %62 %0 30 %08 %06 206 %0 %0 %001 362 %62 $0§ 305G %06
3T $T %0 30 %2 %0 X4 %0 %0 5T %0 %0 52 3T $T 5T
T T 0 0 4 z z 0 0 |4 T 1 4 Z 4 ¥ AQ
%0 %0 %0 20 20 30 20 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 o 0 0 0 0 0 434
352 $0€ $¥T %S $LZ $SL 3€2 %81 %02 319 30€ $Th $€2 319 %9¢
%07 %01 %S 3T $TT $L %8 %91 %6 %9 %S %8 %8 %6 %S St
11 €1 9 4 21 €€ jorT 8 6 LZ €1 81 0T Lz 9T bh paplospun
$82 521 %02 392 $vT 289 32¢ %9 %6 358 %8¢ 1% 7% 5LT %SG %SP
%91 29 YA 321 %8 36 $LT %8 %9 321 30T %21 %6 %21 30T $TT
81 8 €1 L1 6 b 12 b 9 56 sz Lz 11 9¢ 62 59 sjusuoddp
$LZ $€T $c¢ $LT %0 %08 %02 %0 $LT $EL $€€ $LY %02 $€€ $L9
%y %2 17 $€ %0 %€ $C %0 34 %2 %2 %€ %2 %2 3¢ 3¢
v Z 5 b 0 zT € 0 ¥ 11 g L € S 01 ST sjusuoddo uesn
$91 %61 $971 $LC %22 318 361 sb1 $TT $9L $8€ 360 $PT 367 31§

%5 %S 3 3L %8 %9 %9 %07 £14 %9 %9 %8 %7 %9 %9 %9
9 L 9 0T 8 ol L S 4 8z A 81 S 81T 61T LE doo) ues
$91 Y44 $61 $5C $LT %18 %61 %8 $LT $SL E1 44 $bE 31T %67 31§
%59 39L $EL $LL $TL SVL %99 $L9 %9L EXAA $LL %89 $hL $TL $SL 3EL
TL L6 €8 60T St 15€ v8 Ve €L 8z¢ 061 0ST 06 112 {244 SER doon
26T 312 $6T $HT %87 $6L 312 %6 %91 $9L 3TV $LE %02 %30S %08
T1t 82T €11 ZhT 90T LY LZ1 16 96 £SF 8kz 122 12T 662 00¢ 009 aseqg
Ma HASL PIGL0GA0SAGT| A6C N A [®uopy| dsiH d +59 | ¥O-GY | vP8l [Slewed| SN | [ejol
Jepun SIH-uou
AYM
¢S8xXe} 810jaq 800z 10} swooul ealy Ayoiuyig /aoey aby 19puan)
ployesnoy ajewixoidde JnoA sem Jeysn uib|g ejiouos
ejuobejed

‘pealbe sey Jejew oy} uo Apnis Juspusdspul Ue YoIym ypm Juswisie)s e ‘sidoad Jo Jaquinu jsems)
8y} Joaye |IM Jey) yied ayj si sulj mau sy} 1oy asoyo Asy) yied ay) jey; sAes aAiesadooo ay] -utejunouw sy} jo mala au} sem Auadoud ey Jubnoq Asyy suoseal
Aewd ay) Jo U0 asnedaq WayY) 0} JBjun Si SUIBIUNOLL 8Y} JO MBIA 8y} Ul Uil mau ay} Bumind jey) Aes sjusuoddO -- g INIWILVYLS HO ¥V INIWILVLIS :Lojqel

s1aquioiy anjesadoo sua9|g AojeA sbuldg Inyding jo Asaing v




yoieasay pue saibsjel)s |gy Aq paledaid

8€0 " ve” 168" 092"
08°1T 0% 81 €L°8 09°€2 asenbg 1Yo
681 L't oLt SLT LLT 88°1 §9°1 L1 18°1 8L°1 89°1 z0°2 0r°T £€8°1 69°1 LL°T uesiy
30 3001 %05 20§ %0 %0 $0 $62 %0 %05 30 %05 %0 %52 362
20 $T 31 3T %0 20 %0 &1 %0 %2 %0 %2 %0 5T %0 $1
0 4 4 4 0 0 0 T 0 4 0 Z 0 T T 4 1a
%0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 20 30 %0 30
30 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
%87 %06 %87 %02 $be $L2 %62 291 %02 3€£2 %6 252 %0 391 %05
%6 %9 214 %9 311 26 %8 39 %8 %8 %9 36 %0 %9 %8 5L
12 [44 8 6 ST 45 11 L 6 0t |2 11T 0 L 22 bb papioapun
367 316 362 352 %91 32¢ 3ST %02 %22 %81 31T $1€ %G %52 %62
3T %6 311 311 3L 1861 $L $T11 321 30T 31T %97 30T $h1 $L 31T
43 €€ 61 91 6 12 0T £1 A 21 L 0z € 9T 61 S9 sjusuoddQ
%0¢ $08 $€E $€¢ %02 $€1 3€€ 3T $0C $€T %0 302 $L $€T1 %09
$T $€ $€ %€ %2 31 17 $Z 3€ $2 %0 $Z %€ %2 8¢ %€
€ 71 S S 3 4 S 4 £ Z 0 € 1 4 6 ST sjusuoddo ues
$LZ $€L %8€ %61 $0€ $PT E 44 36T she %91 %22 %91 %€ E12A $S¢€
| 14 $L %8 %G %8 17 %9 %9 %8 %G $2T %S %€ %8 %G %9
| 0T Le [a L 11 S 6 L 6 9 8 9 1 6 €1 LE doop ues
%8¢ 319 $0€ 392 %22 LY 44 %52 %02 %81 312 $1T 36T %9 %81 $9%
$TL €L $EL 3HL $CL $TL %SL $SL $0L 3hL 3TL 299 3€8 30L $9L €L
69T L92 €1 11T L6 96 LOT 88 08 £6 Lk £8 4 08 002 GER doog
%6¢€ 319 30€ 352 $€2 $€T £1 24 %02 %67 $12 $TT 31e 35 26T £1727
1£2 S9¢€ 6LT 06T SET 9ET [4a 81T STT S2I 99 s2l 0g STT 792 009 aseg
ON SaA | +0€1$ | 02i$ G8% GG$ | au0jeq ¥0 .0 Joye | eply|3 juobeled| xoojipn |uosuag | EISIA | [ejol
-98% | -96% -0$ |40 /661 |02-8661|02-G00Z|40 800T |/SSUSUS | EJIOUOS eusIg
LE]
¢bunesy Tnig 31vQ NOD 12141sia
pue Jy [eaua)

‘peaibe sey Jepew ay uo Apnjs juspuadspul ue yoiym yum Juswajes e ‘ajdoad Jo Jsquinu Jsoma)
8y} 1o8jje |Im Jey) yled au) Si suip mau ay) Joj asoyo Asu yied aif} Jey) sAes aanesadood sy "UIBJUNOW ay} Jo Mala ay) sem Auadoid Jiay) Jybnog Asyj suoseal
Atewd ay) Jo auo asnedaq Way) 0} Jiejun S SUIBJUNOLW Sy} JO M3IA Y} Ul sulj mau sy} Bumnd Jey; Aes sjusuoddO - g INJWILVYLS HO V INIWILVLIS 9/ 8lqel

siaquisiy aAesadoon 21439913 AsjjeA sbuudg Jnyding jo Asaing vy




yoiessoy pue saibsjel}s 19y Aq pesedaid

100" 100" 100° 100° 6bT"
00°8¢ 98°T1E LZ°902 80°22 96 p1 asenbg 1Yo

L1z 80°¢ 65°T L9°1 se°¢ 7°€ 6€°1T A4 0Z°¢€ €1 ve'z 89°1 80°¢ 69°1 LL1 LL°T uespy

252 %0 362 %06 %0 E1%4 %SL $SL %0 %62 %0 %001 %0 %52 254

32 %0 %0 3T %0 %2 3T 32 %0 %0 %0 $T %0 30 31 $T

1 0 T 4 0 T £ € 0 1 0 |2 0 T € i Ad

%0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 30 %0 %0

30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 $0 %0 %0 %0

0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434

31T %02 36€ $€2 £33 $hT 3Eh $Eh 297 E3874 291 %08 %€2 $6¢€ $6¢€

%8 $TT $L 35 $LE 301 £172 32T 321 %S %6 34 3vT %9 $L SL

S 6 LT 01 61 9 61 61 L 81 L s¢ 0T LT LT 44 papiospun

%02 %22 522 262 86T %09 $S2 $0¥ %67 311 %62 %69 %G1 26% 3¢

%Z2 SLT 39 56 502 %29 5 SLT 3€8 52 E12A %6 SV $TT 20T $TT

£l - s 7T 61 01 6€ 9T 9z [43 L 6T 4 0T [43 £2 59 sjusuoddo

%0 %0% %02 3€€ $LZ $€T %09 %€5 %02 $LZ $LZ 3EL %0 209 %0%

%0 SL 3T 32 %8 3¢ 2z %G %5 3T 29 32 %0 3¢ 3€ 3¢

0 9 £ g v z 6 8 € b b 11 0 6 9 s1 sjuauoddo ues
| $FT %€ €V 31¥ %91 3¢ 318 6% %5 29% $%T $98 26T %8¢ EI%4

%8 5T $L %L 82T %2 %9 321 %€ 3¥ %9 %9 $0T E1 3L %9

S T 91 ST 9 T 0€ 8T 4 LT g 43 L & 9T LE dooo uea

%8 EYAN 32y | 3bE %€ £33 2%6 36T 37 SLL 20T 206 30T 208 %0%

%09 $%9 $8L 3SL 3%T %22 $v8 3€S $L2 %88 396 $SL %29 $SL $EL $EL

9¢ bS £81 0ST Z1 P 60% z8 91 LEE a4 06€ 47 81z €LT SEV doop

30T $HT $6€ $hE %6 $TT 318 %92 20T $%9 $€T 298 $2T $6% 300

09 v8 vET 102 18 €9 98¥ 9sT 09 78¢€ 6L LTS TL 162 8€T 009 aseq

poom o seb jeay HIQ/pun| ueea | uean MIQ/pun| ued] | ues (snpessip| pisnes | JBUIQ | PaMSY | B[u fejoL

uedold | [enjeN | o083 /ping | /ping /pling | /pling 0 IMS+A pedying
JoN JON |ejnsN
¢awoy ok BJoASY aul piing éling oq sui pjnoyg O3NSS smye)g Juswhoidws
yeay nok Aem Arewnd sy st JeUup Ui uopoejsies

‘poaibe sey sapew oy} uo Apnis Juspusdapul Ue Yoiym Ypm Juswajels e ‘sidoad jo tequinu 1somay
s 10aye I Jey) yied auj Si aul| mau sy Joy asoyo Aay} yied au Jey) sAes aAneladood syl "ulejunow sy} Jo maia aui sem Apedoud sisu) Jybnog Asy) suosesl
Alewud 8y} JO U0 asnNeBIaq WISy} 0} JIBjUn SI SUIRJUNOUL U JO MBIA 8y} Ui aull mau ay) Bumind jey) Aes siusuoddo - § INTFWILVLS HO V INIWILVIS O/ elgel

sIaquisiy aAneledoos o14309|g AsjleA sbBuuids unyding jo Aeaing v



uoaesssy pue saibojeils 19y Ag paledald

s10° SLO" 86€ " 9%6° 150°
L6°6€ £0°01 00°TT £0° 0 £0°TT alenbg 1yQ
96°T |T19°T |€9°1 |se°t jogez |o8'T |¥e6'T |9tz |wer ezt |eect 6Lt |weT |Totz |s9tT g8 uesiy
%0 $€¢€ $LT SLT $€¢€ $L9 $€€ %0 %0 %007 $LT %05 s€¢ $L9 $€¢€
%0 $C s ST X4 3T %2 50 %0 31 %0 3T sz 5T 5T 3T
0 4 T T 4 |4 z 0 0 9 T 3 4 4 4 9 AQ
%0 %0 20 %0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
%0 %0 %0 %0 20 %0 50 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
$LZ $LT %21 $0T $be %68 $GT $ST SLT %89 sTP $Z¢ $2Z- $99 $bE
%01 %5 $¥ 3€ S€T $L %S $2T $L %9 $L %9 3L %6 25 $L
11 L S i4 2 Sg 9 9 L 8¢z L1 £1 6 Lz v ¥ papospun
$1¢ $2T 26T $0¢€ EY44 $99 3€€ ST $TT $SL- $8¢€ s€¢ $€2 %65 %0
$pT $L 20T 35T $ST $0T %67 %02 %8 LA $TT $TT 2% ST 30T %71
ST 6 11 ze 91 b vz 0T 8 5§ 8z v L1 €p 62 €L syusuoddo
$vZ $21 321 521 $1¥ 288 521 %9 Y24 $TL $6€ $LY %81 $1¥ %66
£17 L Y4 %2 $1 $L %€ Y4 %2 14 %€ %2 134 $¢ 32 %€ $€
¥ z 4 z L ST z 1 ) z1 9 8 € L 0T LT sjusuoddo uea
312 38T $LT $0¢ $LT %58 36T %9 $€2 $0L SLY SpE %61 %65 £1:17
%6 %G $L %01 %8 %8 %9 %9 $T1 $L %6 %L $L %6 sL %8
01 L k] A 8 ob L £ 11 €€ (44 9T 6 9z 12 Ly doo) ues
sLT 324 $12 £Y 24 $HT $6L $12 $L %91 3LL LYA4 $8€ %67 %9% 2¥S
b9 %6L 39L $0L %95 $0L 289 319 %69 $0L $0L $TL $L9 $%9 3SL 269
TL 10T 98 66 66 0£E 98 1€ 39 61¢€ pLT LST 18 z61 244 91h doo)
%67 $12 $67 Y44 %87 36L 312 %6 %91 39L $T¥ $LE 302 %06 %05
11T 82T €11 [4a 90T ZL¥ LZT 16 96 £5¥ 82 122 121 662 00¢ 009 aseg
Ma HAGL  [ASL0G A0G-MGE] ASE N A [8yiojly| dsiH d +69 | ¥9-S¥ | vi8l |Slewsd| SleN | |ejol
19pun SiH-uou
SHUM
£S8Xe) al1o}aq g0z 10} Swiodul ealy Aoyl /aoey aby 189puUsS
ployssnoy ajewnxoidde JNOA sem Jeupn uibj3 ejouog
ejuobejed

‘poaibe sey Jeyew sy} uo Apnjs

jJuspuadapul UB UDIYM UM JUSLLDIE]S B ‘aAISUSdXS 2I0W I} 8¢ PINOM PUR Xij LIS} LOUS & A|UO aq pjnom ‘papasu si Ji usym Aioujoate ybnous spiaosd Jou pinom

‘eaJe sy} ojul aul auo Aluo Buiney Aq pesnes swsjgoid Ayjenb Jemod pue Ajigelal sU) 2Aj0s Jou pinom ABisus sigemauai jeyl sAes aanesadood ay] jlom se

JuaWIUOIIAUS B} Joj dAlsod ag pInom jeu) ABS pue aul Mau B 1o} pesu st} aonpal 0} Bale ay) Ul saainos ABiaua aajjeulajie ybnous pjing o} eAnesedood sy} juem
Aay . "wisjqoid 8y} Jo yonui Jo aled e} pinod ‘lemod JBjos 10 pum a8yl ‘seainos ABisus aaewisle jey) Aes sjusuoddO — g INFWILVLIS HO V INJWILVLS :geiqel

sisquialy aapesadoos o1399)3 AsjjeA sBunids anyding jo Asaing v




yoseasay pue saibajens 19y Aq pasedaid

60% - LSL” ¥S6° 88€ "
S0°S ] €607 Tl L 9112 asenbg 1Yo
L8°T 18°1 6L T v6° 1 LT L8 1 LLTT 98°1 LL°t 98°1 £€8°T S6°1 et ZL°T 88°1 €8°T uesiy
SLT 3€8 205 3€€ 30 $LT 3L %0 $LT $€€ sLT | s€e 30 %0 306
%0 $T %2 3T %0 E 31 %0 3T %2 L4 %2 %0 %0 3T $1
T S € 4 0 T 1 0 1 Z T 4 0 0 € 9 Aa
%0 30 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 30 %0 %0
30 %0 %0 30 %0 %0 $0 %0 %0 %0 $0 20 %0 %0 %0 30
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
26€E 319 %62 $LT $¥Z %02 %2 $0Z $LT $LZ $ST SLT %2 %02 %9%
%L 3L $L $L %L %9 28 3L 29 %6 %6 29 %€ $L 31 $L
91 ¥4 21 1T 01 8 11 8 L 11 9 L T 8 61 154 papioapun
SLY %25 %52 $LZ $8T $0¢ %91 3€T 387 %91 %8 $2¢ $T %21 $LY
36T %07 30T 3€T $0T 291 %8 SV 31T %01 %6 28T 3€ %8 3€T 321 .
23 8¢ 8t 02 €1 44 4 LT €1 4 9 €27 I 6 ve €L sjusuoddg
$Tb %66 281 $G¢€ s¥2 sb2 262 %62 b2 %21 %9 321 %0 3T 37
%€ $€ EYA4 Y %€ 3¢ £17 37 %€ %2 %2 %2 %0 %9 %€ %€
L 01 £ 9 b b g 5 b z I 2 0 L L LT sjusuoddo ues
%0€ %0L $2¢ %82 %82 $€T %82 361 $LT 3€2 31T 3€T %9 372 %67
29 %6 %8 %6 %01 Y %6 %8 $L 36 %8 %S 30T %6 %6 %8
BT €€ ST €1 £1 9 €1 6 8 1T 5 9 € ot €2z Ly doo) ueaq
%8¢ 319 31€ 2%T 3£T s€2 $¥2 26T %02 312 311 %02 %9 361 E%4
%69 30L $2L $59 $0L $0L $0L $L9 $TL $0L $TL %89 3€8 30L $L9 %69
6GT AT 82T 86 S6 S6 00T 6L 28 L8 LE S8 14 18 8LT 91b ' doog
%6€ 319 $0€ 36T $€2 $€2 %2 %02 36T %12 $TT $12 %5 36T E12%
1534 G9¢ 6LT 0ST SET 9¢T 42 81T STt 621 99 62t 0g STT v92 009 aseg
ON SOA | +0€L$ | Oci$ G8$ GG$ | aJojeq ¥0 20 leye | epuj|3 |uobejed| xoojipp [uosuag| eIsIA | [EjoL
-98% | -95$ -0%$ [0 .66} [02-8661|02-G00Z| 10 00T |/SSlsSuUS| BJiouog eusIs
uibi3
sbunesy g 31vAa NOD LO1SIa
pue iy jesjua)

‘paaibe sey Jajew ay} uo Apnjs Juepusdapul
UB UDIUM UM JUSWIe)s B ‘SAIsuadxa aioWl Jej g PInom pue X1 LLIS} LIoYs & Ajuo aq pjnom ‘papasu st )i uaym AjoLosie ybnous apinoid Jou pinom ‘eale sy
ojul aull auo Ajuo Buiney Aq pasned swajqoid Ajjenb Jemod pue Ayjiqeilea sy} 9A|0S Jou pinom ABlaus ajgemausi jey) sAes aanesadood oy “jlom Se JUSIUOIIAUL
8y} 104 aANsod ag PINOM Jey} ABS puB sulj MaU e 10} pasu sy} 9onpal o} eale sy} Ul seinos ABIsus aaneuss)ie ybnous pjing o} aAeI2dood 8y juem

Aayl "wajqouid ay} Jo yonw Jo a1ed axe) PINo? ‘Jamod Jejos Jo puim 9yl ‘seainos ABlaus aaneulajie jey) Aes sjusuoddO — g ININTLVYLS HO V INJNILVIS ggolgel

CYELITETT] ¢>_a~..cmooo ouyo9|3 AsjjeA sbuudsg anyding jo Aoning y




yoleasay pue saibelens 1gy Aq pasedaid

198" 100" 100" 100" 68€"
0Z°6 £2°282 OV %LT 0v°92 0901 asenbg 1yo
L0°z (18T loL°T |s8' 1T |cete {wpbe |ep'T |9tz |eroe |1FT |s8etz eLcT |LLT |6L°T | 06°T f€8°T uesiy
$LT %0 $LT 3L9 $€€ $LT 20§ 205 %0 306 $LT 3€8 %0 %0 %001
X4 20 %0 $2 £17 %2 21 52 %0 31 $1 sT %0 20 %€ 51
1 0 T i 4 1 € £ 0 [ 1 S 0 0 9 9 .8}
30 %0 %0 %0 %0 %0 %0 %0 %0 %0 50 30 %0 %0 %0
%0 %0 $0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 43y
%21 %ST 3Th EYAS 36€ $L %S 316 $LT $2¢ $6T %58 $ZT $¥S 3he
%8 $L $L %9 $1€ %G 35 3€T EYA $€ %8 3L $L %8 %9 $L
S 9 LT €1 91 € [44 12 L £1 9 S€E S 44 2 184 papiospun
$vT 36T 3€€ $0¢€ 36T %G5 %0¢€ $z¢ $T¥ $LZ $LT $L9 %21 38% 30%
sLT 2€T 20T 31T 222 2€9 %S $ST 205 %S %62 %6 s€T 32T 52T %21
otT 11 vz 44 11 0% zz €z o€ 0z 0z 6 6 sg 62 €L sjuauoddp
$8T LA 347 %62 287 35¢ LY %66 %62 ETA %62 $TL %9 $Lb $Lb
%G L Y4 s€ |32 %9 30T 32 %9 28 31 %9 %2 3T 3¢ %€ %€
€ z L g € 9 8 0T s 4 S 4 1 8 8 LT sjusuoddo uea
, 3% 35T $8¢ $8¢ $€1T 3% $€8 35h %9 360 $61T 318 $€1 SLY 30%
| 3¢ %8 %8 %6 $ZT $€ 28 $€T %S %9 $11 $L %8 %8 %8 %8
4 L 8T 8T 9 Z 6€ 12 € X4 6 8¢c 9 44 61 LY doog uesq
| %6 spT | 20¥ 3€€ %€ 3¢ 36 36T £14 $8L %6 316 32T $6F %6€
” : %59 $69 $TL $69 E174 $LT %18 %05 %62 38 $8% $EL $0L $0L 289 %69
W 6€ 8§ L9T 6€T £1 1T z6¢ 8L ST [X43 8¢ 8LE 0§ voZ Z91 91¥ doo)
30T SbT %6€ 3hE %6 $T1T 318 %92 %01 $%9 $€7 298 $21 %6% $0%
09 v8 [4X4 102 18 £9 98% 95T 09 78E 6L LIS 1L 162 184 009 aseg
POOM 9 seb jeay Ha/pun| uesy | uea | MA/puf| ueeq | ues |snessip| pisieg | JayiQ | pamsy | swh lejol
uedold | jeinjeN | o383 /oiing | /pling /eing | /piing o |[MS+A Hedping
10N IoN [elnsN
¢awoy Jnok SJ0ARY 8ul pling iling @g aul pjhoys O3ASS snjejs juawdhoidwy
1eay noA Aem Aiewd ays si JeUpA U uogoejsies

‘poaibe sey Jayew ayj uo Apms Juapuadapul
U UDIYM )M JusLLS)E]S B ‘aAIsuadxe 210w Jej 8g PINOM pue Xij Wis) Loys e Ajuo ag pjnom ‘papasu si Ji usum Ajouidsie ybnous spiroid jou pinom ‘esse ay)
ojut aulj auo Ajuo Buiaey Aq pasnes swsjqolid Aypenb semod pue Ayjiqes|al auy aAjos Jou pinom ABlsus sjgemausi ey} sAes anjesadoos sy “Jlom se JUSWUOIIAUS
8y} 4o} aAlIsod 8 pinom Jey} Aes pue aulj Mau e Joj pasu S} 9anpal 0} eale sy} Ul saoinos ABisus aapewsalje ybnous pjing o} aAR12dooo oy Juem

Aayi "wsjgold sy 4O yonw Jo aJed aye) pinood ‘Jamod Iejos Jo puim ol ‘'seaunos ABisus aajeussie Jey) Aes sjusuoddO -- g INFJWILVLS HO V INIJWILIVIS :0golgel

slaquiapy aaeladoon ouo9lg AsjieA sbuuds inyding jo Aeaing v




yoiessoy pue saibejens 19y Aq pasedald

010" 100" LGE” GeE” S00°
88° 2% L8 b2 LTET £9°€T Ly 81 alenbg YO
8°1 0e° T 86°T 5T 90°2 §6°T 16°1 90°2 £6°1 09°1 LS°T 29°1 69°1 081 91 €9°1 uesiy
%0 %0 %0% %0% 202 %0 $00T 30 %02 %08 $02 30% 30% 3001 %0
%0 %0 $2 31 31 %0 1 %0 3T $T %0 3T 82 32 %0 3T
0 0 4 4 T 0 S 0 1 {4 1 Z Z S 0 S Ad
%0 %0 %0 3001 %0 %007 %0 %0 %0 $00T 3001 %0 %0 %0 2001
%0 %0 %0 3T %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 30
0 0 0 1 0 1 0 0 0 1 T 0 0 0 T T 434
%82 %8 297 174 127 %08 %02 29T %02 %%9 300 %62 $2¢ $9L 3b2
%9 32 5P 5T %01 17 117 %8 %6 F17 3b %€ %L %9 %2 117
L z id 1 11 02 S 3 S 91 0t 9 8 6T 9 S2 pepiospun
%L2 31T 36T %61 $L2 %89 $1€ %87 %0T SEL $G€ EY414 %ST 3€8 %SP
%67 %9 38 %8 %91 %6 %61 %22 %9 50T %6 321 $L 311 26 $0T
LT L 6 Z1 LT 47 61 11T 9 Sk 22 Lz 6 €€ 82 29 sjusuoddp
352 sL1 $8 862 352 3€8 $LT $8 %8 3£8 %8G $€¢€ %8 %05 208
3€ ¥4 5T Y4 3¢ %2 $2 52 3T $2 3£ %2 $T 32 %2 52
£ z 1 £ £ 0T z 1 1 01 L b 1 9 9 z1 sjusuoddo uea
%G1 %57 39¢C 262 35T %88 LY AN %6 2ST 29L %62 $8€ £ 143 %59 $S¢€
%S 17 %8 3L %S %9 %€ %9 %S %9 37 %9 %6 $L £14 29
S S 6 0T S 0€ id 3 S 92z 0T €T 1T 144 Zt 23 doog uesy
$LT F1 24 $6T %52 $ST %08 %02 3L $LT $9L £1%4 $LE 302 %90 $¥S
$TL $88 $8L %08 %59 %8L $2L $E9 $18 $LL 6L %$9L kL $TL 328 $LL
6L 48 88 €11 69 69€ 6 43 8L 16€ L6T 691 06 [A%4 LvZ 9% doon
36T $12 %61 E324 %87 %6L 312 %6 %91 $9L $Tb $LE %02 $0S %05
IIT 821 ETT ThI 90T Ly LTI 15 96 €Sk 8hz 122 12T 662 00€ 009 osed
e} HASL PISIM0G{A0GAST| ST N A [ewo vy, dsiH d +59 | ¥9SP | 8l [Sewa4| Sie | [eloL
Jepun SIH-UoU
SNYM
¢,Saxe} 310}3q g00Z 10} aWooul ealy Ryoluyig /e0ey aby 189pua)
pioyssnoy ajewixoidde JNoA sem Jeyp uibj3 eyouog : .
eiuobejed

"aul] mau ay} Joj Aed 0} aaey oym siahedsiel Jayjo |fe o} Jiejun

ale Sasealoul JS09 YaNs Jey} pue eale euobejed /uibl3 /elouog ay; 0} aul Mau oy} ul Ind 0} Sjsoo aseasour Apueoyiubis jim sAejep Jaypuny yey shes aaijesadoos

8yl "SeAjeuss}ie SNOLEBA 8uj JO SaIpN}S IO JO} XSe 10 Apnjs ay) 9z1onuo o} pajoadxe ale sjusuoddQ  “swajqoid Ajenb Jemod pue Ajjiqeijal auyp aajos o} Aem

wwe) Buol pue sjqepioye ‘ols|ieas SOW ay} Si sulj Jopas; mau pasodoid sy jey) punos pue pajejdwos usaq jsnf sey Apnjs Jeyl  “iemod Jejos pue pum Bulpnjoul

‘aul] Jopaay mau e Buipjing 0} saAleuIa)e auy jo Apnjs Aued paiy) Juaspuadapul ue Jonpuod 0} sAjeladoo) aujs|g AsjieA sbuudg inyding Jeplo o} ‘senin
oupsie sejeinbel Yoym ‘uoissiuWoD ajeIodio) BuoZuY dy) payse aull eiuobejed /uIB[3 /eyouos sy} Jo sjusuoddo - g ININILYLS HO V INIWILVIS 6 9lqeL

sioquisiy aAReiadoo o393 AsjleA sBuudg anyding jo Asaing v



yoseasay pue salbsjens |9y Aq pasedaid /

260° L6T" TLL” 960"
68°0T ¥8°2Z GEET LEEE alenbg 1Yo
8L°T |2s'T |eS°T |1e°T |eS't 189°T |68°T |[to°T |zs'T |€9°1 Jzo1 |o6°1T |ee't {T9°T [SS°T [€9°T uesiy
, %09 %02 %08 302 %0 %0 %0 %02 %0 302 %0 %001 %0 %0 %0
3T $0 %2 31 %0 %0 %0 5T %0 31 %0 £17 %0 %0 30 31
€ T ia T 0 0 0 1 0 1 0 S 0 0 0 S p. L8]
%0 300T %0 %001 20 %0 %001 %0 %0 %0 %0 %0 %0 %0 $00T
%0 %0 %0 $ %0 %0 3T %0 %0 30 %0 %0 %0 %0 %0 30
0 T 0 1 0 0 1 0 0 0 0 0 0 0 T T 434
296 £347 202 382 $9¢ 391 352 382 %91 %02 391 %02 %0 %91 %8%
%9 3¢ 3¢ 35 SL %€ 34 %9 %€ £Y/ %9 17 %0 %€ %S 3%
[ 11 S L 6 p 9 L |4 S 4 S 0 4 4 %4 pepiospun
%8% %06 312 %62 %81 $2¢ 312 %91 28T 3€2 31T %62 35 372 £143
3€7 38 $L 32T 38 $ST %6 %8 %0T 311 31T $hT %07 311 EY] $0T
0¢ 1€ £1 8T 11 0z €1 01 11 P L 8T < €1 12 Z9 sjuauoddo
%52 $GL %52 $€€ 38 3€€ $€¢ $LT 3€€ %8 %0 $LT %0 32h 32b
%1 32 3C 33 2T 3¢ %€ %2 %€ 3T $0 %2 %0 sb %2 %2
£ 6 € b T v ¥ z b T 0 z 0 g s z1 spuauoddo ues
$2¢ %89 %$8€ 36T 3¢ 374 £144 $2¢€ %6 %92 $21 $6T %9 35T $€S
%5 %9 3L %€ %9 %9 %9 %6 %€ $L %9 £17 $L £17 $L %9
11 €z €1 S 8 8 8 11 £ 6 4 S Z S 8T Ve doog ueaq
$LE $€9 $1€E %62 3€T $2¢ (324 %61 %02 $12 $TT %02 35 36T £144
$WL 264 6L %9L $6L VL $LL $hL %18 $9L $LL 3L %€8 $LL 28L $LL
OLT 68¢ Th1 yIT 90T 00T 0Tt L8 €6 S6 15 06 %4 88 L0T 9% doo)
W $6€ 319 20¢€ %52 %€2 F334 £ 44 %02 %61 312 $TT 312 %S 261 £144
| €T S9¢€ 6LT 0ST GET 9€T 44 81T STt 149 99 Se1 o€ STT 792 009 osegd
| ON SaA | +0Ei$ | OELS$ G8$ GG¢ | au0jeq ¥0 L0 1oye | epuj(3 |uobejed| xodjiM [uosuag| BIsIA | [elo]
-98% | -95% -0$ |40 /661 |02-2661|02-G00Z|40 800T |/selisug| ejlouog LIS
ubi3
¢bunesy g 31va NOD 101M1SIa
pue Jiy jenguan

“auI] Mau 3y} Jo} Aed 0] aAey oym sishedsiel 1oy)o jie o} dejun

8Je $9SEaIOUI S0 YoNns jey) pue eale ejuobered /uib|g /e}iouos ay) 0} aul mau ayp ui Ind 0} s}soo aseasoul Auesyiubis [ sAejap Jayun jey) sAes anelsdood

8] ‘soAjeUIS)je SNOLIEA BY} JO SIPNJS 240W 10} XSk 10 ApN]S au} 8ZIoRuo 0} pajadxs ale sjusuoddo  “swajqoid Ayjenb Jamod pue Ajiqei}al ay) aA10S 0} Aem

uue) Buo| pue sjgeploye ‘onsiieal JSow 8y} Si aul| Jopas) mau pesodoid sy Jey) punoy pue pajejdwos usaq jsnl sey Apnjs jeyl “Jamod Jejos pue puim Buipnjou

‘aul} Jopes} mau e Buip|ing 0} saaneusalje ay} 1o Apms Aued paiy} ‘Juepuadspul ue Jonpuod o} aAleladoo) oudsig AsjieA sbuuds inyding Jepio o} ‘sepn
oupoe)e sejejnbal Yolym ‘uoissiwiio) ajeiodio) euoziy sy) paxse aull eluobejed /uibi3 feyouos ay) Jo sjusuoddO — g LINJWILVLS HO V INIWILVLIS 96 °lqel

slaquisiy aApeIadoo 21139913 AojjeA sbuudg nyding Jo Aeaing v




yoleasay pue saibsiens jgy Ag pasedaid

Z10° 100" © 100° 100" 290"

90" %€ L8 6LE 9€°€02 16°62 L2°02 alenbg Yo
8T°z |6L°T |01 |6b'T |stz |s8L'e |wz'T |L6°T |8T°¢ [S2'T |60°C |SS'T (08T |GS'T [89°T |€9°T uesiy
%09 502 %0 %02 302 $09 %02 %02 %0P $0% $0% %09 %0 %02 %08
%S 31 20 30 52 %G %0 31 %€ 31 %€ $T 30 30 52 3T
€ T 0 1 1 € 1 T 4 4 4 3 0 1 4 g pa[e]
30 30 %001 %0 %0 %00T %0 %0 %0 $00T %0 %007 %0 3007 %0
%0 %0 %0 %0 %0 %2 %0 %0 %0 30 %0 %0 %0 %0 %0 %0
0 0 T 0 0 T 0 0 0 T 0 T 0 T 0 I 434
202 %02 £147 %21 1:17 %91 29¢ %59 29T 302 %8 %88 YA 347 £144
%8 29 E1 sT $¥2 %9 32 $0T $L 31 %€ 34 137 17 %G 037
S S II £ 2t 12 6 91 4 S 14 144 € 11 11T 14 pspiospun
%91 $8T %92 %62 - |11 %69 %61 3TE %87 312 %92 $TL 36T £327 $LE
SLT $€T %L %6 $vT %89 %2 $2T %05 $€ %02 %6 $LT %6 30T $0T
01 11 91 8T L £p 4 61 o€ €71 91 b z1 Lz €z Z9 sjusuoddo
%0 $LT $€€ 230G 352 SLT 286 $LT %Th Y47 $£€ $L9 %0 386 L1474
30 52 £Y4 3¢ %9 %€ $1 $T %8 31 %9 %2 $0 Y4 EY4 $2
0 4 b 9 € z L z s g b 8 0 L s z1 susuoddo ues
%6 %6 %8¢ $Th e %4 %6 %89 %65 %6 $2¢ %62 $TL %92 %62 £147
%S 17 %9 st $91 %S %G $€1 %S %€ s€T %G $€T 3¢ %9 %9
€ € €1 jid8 8 € £Z 0z € 1T 01 124 6 0T ST PE doop ues
%8 3€T $1¥ E14 £14 3z %76 $12 %€ 3GL 30T 206 $0T 316 26¢€
%59 SvL 318 $6L $6€ $TT 268 $€9 $L2 %06 $LS 208 %99 %08 $9L SLL
6€ Z9 68T 661 0z L bEY 86 91 LYE 54 STF Ly pET 08t 190 doo)
%01 3¥1 %6¢€ 343 %6 $TT 318 392 %07 %9 3€T %98 32T 360 $0¥
09 ¥8 vEZ 102 18 €9 98% 96T 09 {233 6L LIS 1L 162 gcz 009 aseg
POOAA ] seb jesy |M@/pun| uea | uea [M@/pun| uee] | ues |siessip| pisnes | Jeyio |paillsy | suwg leyol

uedold | feinjeN | oMj08I3 /piing | /piing /ping [ /pling 10 (MS+A Medyjng
JoN 10N jennaN
¢awoy 1ok djoAsy 8ul pling éiing eq sul pjnoys O3ANSS snje}s Juawdhojdwy
1eay noA Aem Arewd auyj st JBUM Yyim uonoejsies

"aUl} MaU 8y} Joj Aed 0} aney ouym siafedalel Jayjo |je o} Jejun

ale sasBaIOUl JSO0 UoNs Jey) pue eale ejuobejed /uiblg feliouos ay) o) suj| mau oy} Ul jnd 0} S1S00 asealoul Apueoyiubis jiim sAejop Jayuny jey) sAes aaelsdood

SYJ 'SSAIBUIS}ER SNOLIBA U] JO SSIPNIS SJOW JOJ ¥SE JO APN]S By} 8Z1oud 0) pejoadxd aie sjusuoddp - “swiajqold Ajenb Jjemod pue Ajigel|ss ayy aAj0s 03 Aem

wus) Buoj pue sjqepioye ‘onsijeas }Sow ay) s aul| Japas) mau pasodosd ayj Jey) punoy pue pajejdwod ussq isnf sey Apnjs Jey] “Jamod Jejos pue puim Buipnjou

‘aul| Jopes} mau e BUIpjng 0} seAijeuIB)e ay) 40 Apmis Aled pay; ‘Juspuadspul ue Jonpuod o} aaleladoos auslg AsjieA sbuudg Jnyding Jepio o} ‘sepyn
auose sejenbal yoiym ‘uoISSILLWoY djelodio) BUOZUY By} payse aull eluobejed /uib|3 fepouos ay} jo sjusuoddQ —- g INJWILVLS HO V INIWILVIS 96 @Iqel

sioquialy aaneladoos) ouyoelg AajieA sbuudg anyding jo Asaing v




$0S 20§ %0 %0 %0 $00T %0 %0 %0 %001 %0 %05 $0S %08 %09
3T 3T 30 20 %0 %0 %0 30 %0 20 %0 %0 $1 %0 %0 20
T 1 0 0 0 4 0 0 0 4 0 T T T T 4 p(a]
%0 %0 30 %0 %0 %0 %0 %0 %0 %0 20 %0 %0 %0 %0
%0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 Q 0 0 0 43y
31€ %1 39T 391 $22 %88 3Z1 %9 $bT %08 360 %G€ $vT %59 $G¢€
BT %S $L %9 %01 %6 %5 %9 %L %6 %01 %8 %9 31T %9 %8
ST L 8 8 11 £b 9 £ L 6€ {4 LT L z€ LT 6F papspun
%62 $hT %01 %22 352 %€S SLb $b1 %21 $€L %LE $Lb 321 %66 3Th
$€T1 %5 17 %8 311 %9 381 sbT %9 %8 $L $0T %9 %07 $L %8
ja L S 11 Z1 92 £z L ) 9¢ 8T £2 9 62 02 6b piing Jou Buoys
262 %0 %0 3EY %62 %LS 187 362 %62 £33 7% %62 %62 £33/ 3TL %62
%2 %0 %0 L ¥4 %2 31 %2 £y %2 3T 51 3T %2 %2 5T 5T
4 0 0 £ z |4 £ 4 4 £ Z Z € S z L Piing Jou pAS
$h1 3hT $hT %62 %62 £33 £ 1A Sk $TL %62 $62 $p1 %62 3LS
$T 3T $T 31 %2 31T 52 3z 3T 31 3T 31 51 3T 5T 5T .
1 1 1 4 4 £ £ T 1 S Z Z T 4 {4 L piing jou ueat
%22 $€¢ %8¢ 31T %9 %€8 $LT %9 %8¢ $L9 $LT E1A% $6€ $9G £
£12 %S 117 $T $1 %€ Y4 $2 3 3¢ $1 117 29 %€ $€ $€
, v 39 S 4 1 ST € 1 S ZT € 8 L 0T 8 81 pitng uea
| $8T %21 30¢ %92 $%T %88 $Z1 $11T %91 $EL 3SE $9¢ %92 $29 $8€
| %21 $L $€T $€T $LT E A $L %91 3€T $2T $0T %21 %91 $ST %6 $2T
€1 6 ST 61 8T s9 6 8 44 pS 9z LZ 61 9% 8z VL Pliing MS
$ST %52 $0C %S¢ %61 308 %02 $L %91 SLL by $9¢ %02 £147 %95
%56 $9L 30L %89 $LS $L9 %€9 $LS %99 $L9 $0L $v9 %9 %8S €L %99
19 L6 6L L6 09 FIE 08 62 £9 20€ €LT (1A LL vLT [\r44 v6¢E piing Buoyg
36T 312 26T E324 %87 $6L $12 %6 %91 $9L | 31w SLE %02 306 %09
I1T 8zt €11 429 901 LY LZ1 18 96 £Sh 8kC 1844 12T 662 00g 009 asegd
Ma HAGL PISLM0G 0SS C| AST N A [1Buoiy| dsiH d +5G9 | ¥9-G¥ | vir8l |Slewsd| SN | |ejol
m Jopupn SIH-uou
SNUM
¢SOXe} a10Jaq 00T 10} SWIooUI ealy AUy /a0ey aby 18puUsD)
pioyssnoy sjewixosdde INoA sem Jeupn uib|g ejlouog
eluobejed

£10U 10 JJinq ©q 0} pamojje aq pinoys eaJe eucbeled
/ubig rejouog sy} 0} aul| Jamod Mau By} YUyl hok og  "spulw Jisy) ebueyd ajdoad ‘UOIEWLIOJUI SI0UI YJIM ‘U0 SIY} 8if ASAINS B JO 8SIN0D 8U) JOAO ‘Sewewos 0} sjqel

siaquioly aapesadoos o13o9|3 AsjjeA sbuuds inyding jo Aeaing v




yoteasay pue saibajens |gy Aq paledald

760" 100" L09° zve” 110" ;
22°8¢€ 62" 1€ 66°1T 8Z°LT LT°8T alenbg 1Yo
08z |G8°T (68T {T0°2 |18z |11°2 |Lb'Z |sv'Zz |60°C |81z |€1°2 |82z [90°Zz |9Fp'¢ |16°T |61°C uespyy
%61 312 36T E3 24 %81 %6L 312 %6 %97 39L E384 3LE %02 %06 $0S
111 8c1l €11 4 90T Ly LzZ1 15 96 €60 8ve 122 121 662 00€& 009 aseq .
Ma AMGL PIGL0GH0SMGE| Se N A - [Peyoly| dsiy d +59 | ¥o-G¥ | v8L |Sewed| SN | [ejoL
I8pun SIH-uou
AIYM
¢,S9Xe} 210J5q g00Z 10} SWOooUl ealy Apoiuyyg /s0ey aby lopus)
ployasnoy ajewixoidde JnoA sem Jeypm uibj3 eyouog
eluobeled

£10U 10 NG 8q 0} PaMojje &g pinoys eaJe ejuobeled
JuIB|3 /eliouog 8y} 0} Ul Jemod Mau S} YUl NoA o  “spulw JiBYy) sbueyo sjdoad ‘UOHEULIOJI 20 LJIM ‘BUO SIL} 8)i] ASAINS B JO BSINCO dY) JOAO 'SSWPWoS (0L S|qeL

sioquialy aanesadoon auyoelg AsjjeA sbuudg anyding jo Asaing v




yoieasay pue salbsjens |gy Aq pasedaid

TR 999 - 0L8" 890°
€1°9 €L°LT 66°€T 88766 aienbg 149
1€°2 1172 €072 34 G0°2 92 0Z°2 s1°2 Le'z 76" T 6£°2 0s"2 |oLT 81°2 50°Z 61°C uesiy
%0 3007 30§ 206 %0 %0 %0 %0 $00T %0 %0 30 30 %0 %001
%0 31 3T 3T 30 %0 %0 30 ¥4 20 $0 %0 %0 30 3T %0
0 4 T T 0 0 0 0 4 0 0 0 0 0 4 4 L€}
%0 %0 30 30 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 30
30 %0 %0 20 %0 %0 %0 30 30 %0 %0 %0 %0 %0 %0 30 )
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
£ 387 %65 $8T $LT $LZ 262 262 %81 £ 44 %87 29T $pT 3% 302 25b
%6 28 %5 %6 30T %01 $0T 28 $0T 3L 32T %9 $L %6 %8 %8
0z 62 6 €1 £1 jas s 6 44 6 8 L 4 0T [44 6% papiospun
361 260 $TE $E€ 30T $L2 %22 322 39T 30T CYAN 35% 32 29T E3 24
20T St %8 31T E17 $0T %8 %6 $L 3b %6 38T $€ 3L %S %8
X4 ve ST 91 S €1 1T 11 8 S 9 44 T 8 4 6% pling jou Buoas
$LS €Y %0 %62 %62 €Y ShT $HT $HT C1 A %0 £1%7 %0 %62 %62
%2 $T %0 $T $T %2 3T 3T $T 3T %0 %2 20 %2 3T 3T
¥ € 0 [ Z € T T 1 1 0 € 0 4 4 L PiNg JOU AAS
%€V %LS $LS F1as ST $h1 7T %0 $P1 %6C %0 %€V %0 %62 $6¢C
3T $T %2 3T 31 3T 5T 30 3T EY4 %0 $2 %0 %z $T 31
€ 14 |4 T T T 1 0 1 4 0 € 0 Z z L piing jou uea
%82 $eL 3€€ %22 322 $22 %22 %22 $2C $22 %9 $LT 20 $LT %19
%z $h $€ 3€ $€ 3¢ %€ 3¢ $€ 3£ %z %z %0 %€ 17 %€
S €1 9 id |2 v I 2 i [ T £ 0 € 1T 8T Pling uea
39¢€ 329 31€ £ 24 $LZ %81 3€T %02 %02 %82 %971 %21 %G 822 E144
%21 $€T 3ET EYAN 2ST %01 32T $€T $€T SLT %81 3L 3€T $P1 $€T %21
Lz 9% £Z 81 1oz €T LT ST ST 12 44 6 |2 9T €€ bL PINg MS
38€ $29 $1€e LY %4 $€2 $2¢ $v2 %02 38T 312 301 %02 %9 36T 29b
%H9 $L9 %89 $€9 $L9 %59 %99 %99 %$€9 %99 %66 %29 SLL $%9 %89 %99
8% T da4 121 S6 06 88 ¥6 | 8L ZL £8 6€ 8L €2 vL 081 p6¢ piing Buons
$6€E $19 30€ %52 3€2 3£2 3bZ %02 36T 312 $TT 31T %9 %61 sbb
1£2 G9¢ 6L1 0ST GET 9£T Zh1 811 STT s21 99 SZ1 0€ STT ¥92 009 aseg
ON S8 | +0¢i$ | 0EL$ Gg% G66¢ | siojsq 0 L0 isye | epuy3 [uobejed| Xoo|M |uosuag | eIsIA | [el0L
-98% | -96% -0% |Jo /664 |02-8661|02-S00Z|40 800C |/Ssksug| ejlouog BeusIS
uibig
¢Bunesy g J1vA NOD 10141Ss1a
pue iy |enusn

£10U 10 JjIng 8q 0} pamolje 2q pinoys es.e ejuobeled /uibia
/e)oUOS 8y} O} aulj Jamod mau sy} duiy) NoA og  “spulw Jiey} wmcmco sjdoad ‘uoeWLIOlL DI0W YIIM ‘BUO SIY} M1} ASAINS B JO 9SIN0O BU} JSA0 ‘SOWNdWos  (qo| sjae)

siaquuapy aAieladoo) 2132913 AsjteA sbBuuds inyding jo Aeaung v




yoseasay pue saibajens |gy Aq pasedaid

LEQ" T00" 100" 100" eTT”
98°€€ +000T 99" LE€ 6L 92 LS°02 aienbg yo

Lv-z £9°2 10°¢2 v0°2 80°L L9°G £2°1 S0°€ 8T°S LT AN £0°2 8e°¢ 61°C AN 61°2 uesiy
30 30% 306 %0 $00T 20 %0 %06 30 %08 %06 %06 %06 %0 $0§
30 3T %0 30 £34 %0 %0 $T %0 %0 3T %0 31 30 %0 %0
0 1 T 0 z 0 0 1 0 1 1 1 T 0 1 4 X4
30 %0 %0 %0 %0 %0 %0 20 %0 %0 %0 %0 %0 %0 %0
30 %0 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 434
%9 322 $LE 3GE %001 20 %0 319 %22 %91 %02 %08 38 $LS $6¢€
%S $€T 28 %8 %96 20 30 %61 %81 $2 3€T %8 29 %07 SL %8
€ 11 81 LT 6b 0 0 0g 11 8 0T 6€ |4 82z LT 6% papiospun
302 %02 322 $22 %0 $00T %0 %22 %69 %8 362 %69 %91 360 %S¢
3L 521 %5 %S %0 $8L %0 SL $LS 3T $8T $L $TT %8 $L %8
01 0T 11 11 0 (32 0 1T 23 {4 A8 23 8 52 LT 60 piing Jou Buoyg
$hT %0 3L8 EY AR %0 %00T %0 3EP %62 362 %62 $LS %62 £33 %62
$Z %0 %2 %0 30 STT %0 32 %€ $1 3¢ 3T %€ $T 5T $T
1 0 b 1 0 L 0 £ 4 4 4 4 Z € 4 L piing Jou AAS
E3%4 %0 %62 %62 %0 $00T %0 £33 4 EY A £33 $HT $TL %0 £3%4 $LS
%G %0 3T 31 %0 31T %0 %2 %4 $T $T 3T %0 3T %2 3T
£ 0 4 z 0 L 0 € T € T S 0 € [ L piing jou ueat
%0 %11 $6€E 124 %0 %0 3007 $L9 29 382 SLT $£8 SLT $LT 2.9
%0 %2 %€ 17 %0 %0 : 37 %8 %C 3T 3t %€ £17 31 %S 3¢
0 z L 8 0 0 81 Z1 T S € ST € € 49 8T pling ueaT
36 32T $6€ $9¢ %0 %0 %001 $EP 3€ S 26T 318 39T $1b b4
EYA 31T 321 $€T %0 %0 $ST %12 %€ $0T %81 321 $LT $0T 3€T 32T
L 6 62 Lz 0 0 VL 43 z 0¥ [A 09 Z1 o€ 43 PL Piing MS
%6 $€T 31¥ sbe %0 %0 $00T %91 %C 318 %6 316 $0T 316 $6€
%09 319 %69 $L9 %0 %0 $18 $1p %S1T 38 €V $69 %85 $69 279 %99
9¢ 18 Z91 GET 0 0 y6¢ ¥9 6 12€ 43 6GE 144 002 £6T P6¢ piing Buosg

| 30T $HT 36€ $vE %6 $1T 318 %9¢ $0T %9 $€T %98 %21 360 30%

| 09 v8 vET 102 1s £9 98 961 09 v8€ 6L LIS TL 162 8€T 009 aseg
POOA Cl seb 1esy | MQa/puUN| uea | uedT [ HQ/pPun| uea] | ues suessip| pjsiesS | BUIO [PaIey | suin lejof

uedold | jeinjeN | oujoalg /eling | /pling /eiing | /ping 10 IMS+A Hed/ing
1ON 1ON eJineN
¢awoy oA SJOARY aurg ppng ¢jing oq aulq pinoys O3dASS snje)s juawlojdw

1eay noA Aem Alewnd sy} si JeUM yim uonoejsiies

£1ou 10 }jing aq 0} pamojje aq pjnoys eale ejuobejed /uib|3
JElIou0S 9y} 0} SUlj Jamod Mau au) Uiyl noA o "spuiw Jiay) sbueyd sjdoad ‘uoiFRWLIONI I0W UM ‘DUO SIU} ajif ASAINS B JO 8SIN0Y BY] JOAO ‘sowawos  [90) 8jqel

‘ SISqUIBY aAnesadoos ou29ig AsjjeA sbuudg anyding jo Aeaing v




yoleasay pue salbsienis |9y Aq patedaiyd

891" 100" 900" 660" 8¢z’
90°g¢€ b LS 96°0¢€ 60°€Z 9¢°6 asenbg Yo

602 |Lo"z |oo'z |81°C {8z |60°C |tp'z |oz'z |e1°c |st'z |11z |et'z |®¥1'z Jel'z |z2l'z |91°T uesiy
30 %62 %0 %52 305 %08 %09 %0 %06 %0S %S¢ %62 309 2001 20
%0 3T %0 3T 52 %0 %2 %0 32 %0 %0 %0 %2 3T %0 %1
0 T 0 1 4 z z 0 z z 1 T 4 {4 0 i4 a

, %001 %0 %0 %0 %0 3001 %0 %007 %0 %0 20 30 20§ %0 $00T

| %2 %0 %0 30 %0 30 30 b 30 30 %0 $0 $T %0 3T %0
4 0 0 0 0 4 0 4 0 0 0 0 T 0 4 4 434
$ST 38 $8 3£z $9F 326 38 %8 %0 %26 9% $1€E 3€2 3G 391
%2 3T 5T 32 %9 3¢ 3T %2 %0 3¢ %2 32 32 3z 32 ¥4
4 T T € 9 4 T T 0 48 9 i £ L 9 £1 sspe Buiyewog
30 %0 306 %05 %0 $0S %05 %0 306 $0S %05 %0 %08 %0 %007
30 %0 31T 3T %0 %0 $T %0 21 %0 %0 %0 $T %0 3T %0
0 0 T T 0 T T 0 1 T 1 0 1 0 Z 4 dejog
301 $LT %07 E174 %8¢ $0§ %80 %8 %87 $€1 $LZ %26 %87 %8% %$0S
39 %8 $TT $TT %91 %9 3€T %07 $TT %07 %9 $FT %6 $0T $0T $0T
9 0T Zt ST LT o€ 62 S 11 jds 91 1€ 11 62 0g 09 POOAA
%€£2 $h2 $HT £3%4 %GT $TL %62 %9 $LT SLL $8% 30% $TT %67 $T6
$LT %91 $IT $pT 32T $€T1 36T $0T 35T $%1 %91 $6T $L $HT $FT 3pT
61 0C Zt 02 €1 09 |24 S VT S9 or bE 6 1874 44 V8 auedoid
38T £ 24 36T ey 24 $6T 316 %6 %8 3ST $LL 397 52¢€ 312 35 $LY
36€ $Eh 36€ $6€ $hE E114 $LT $LE 39€ 30b €Y $he %07 3Tb $LE %6€
£F Ss 27 9s 9g €12 12 61 S¢ 08T L0T 9L 8k €21 TT1 vee seb jeinjeN
36T %02 $12 3€2 %91 $9L Y24 %6 %91 shL 38€ $LE $€2 $LY $€6
$5€ LA $8€ 32¢ $0€ $2€ 36€ $LE $hE $€€ $1E $HE %8¢ EY4S 36¢€ Ve
6E 144 £b 9v 43 ZST 6F 6T X3 671 LL SL 9y 56 90T 102 jesy ouoe3
%61 $12 36T 372 $8T 6L 312 %6 %97 39L 3TV $LE %02 %06 $0G
T1T 821 £TT 44 90T ZLy LZT 15 96 €61 872 122 121 662 00€ 009 aseg

Ma HAGL  [ASLMOG [M0SMSE! A6E N A [suioliy| dsiH d +G9 | ¥9G¥ | vP-8l |Sjewsd| SN | |BloL
J9pun ) SIH{-uou
SHYM
¢,SaXe] 810}8q 00T, 10} SUIOOUI ealy Koy 3 eoey aby 18puan)
pioyasnoy ajewixoidde INOA sem JeypA uibj3 eyouog
ejuobejed

£osie buiyjawos Jo ‘sejos ‘poom ‘suedoid ‘seb jeinjeu ‘Jesy o110910 YIM awioy InoA jeay nok op — awoy noA jeay noA Aem Aewyd ay) st1BUM L1 9lgel

| . siaquiapy aanesadoon ouoalg AsjreA sbuudg snyding jo Asaing




yoseasay pue saibajens |9y Aq patedasd

100" 100" 61¢° 100°
69°92 1€°0L LY £2 0z €0t arenbg 1Yo
A 10°2 86°1 L2z L2°2 5172 vz e s1°2 66°T 60°2 €€°2 A A4 L0°2 L1z 66°1 91°2 ueaiy
%0 %001 %0 %06 %06 %0 %0 %0 $G2 $5T %0 205 30 %0 $0S
%0 3T %0 3T $1 %0 %0 %0 3T 3T %0 EY4 %0 %0 3T 3T
0 id 0 4 4 0 0 0 1 T Q 4 0 0 4 4 Xa
%0 %0 %0 %0 %0 %007 %05 %0 %0 %09 %0 %0 %0 $0S %0G
%0 %0 %0 $0 %0 $T $T %0 %0 3T $0 %0 %0 $T %0 %0
0 0’ 0 0 0 4 1 0 0 T 0 0 0 T 1 4 434
39b $bs $8€ $8€ %8 36T E344 $ST $€2 $8¢ 36T %8 %8 %8¢ $T1€
3¢ %2 %€ 3¢ $T 31 %z %2 %€ 17 $€ 3T $€ 172 %2 $2
9 L S S T Z £ 4 € S 4 T T S 4 £1 asje Buiyjawog
306 %08 305 %0 %0 30§ 30§ %0 %0 %0§ %0 $0§ %0 %0 305
%0 %0 31 %0 %0 31T 31 %0 %0 3T %0 3T %0 %0 30 %0
1 T T 0 0 1 1 0 0 T 0 1 0 0 1 4 iejog
359 35€ $G¢ $€T %82 $€T 3€£2 SLT %S 3£ 302 $8% %5 $€T 3€T
$LT %9 %21 %6 $€T $9 30T %8 %€ %9 $8T 3£2 30T 3L 3¢ %07
6€ 1%4 12 a8 LT 8 i 01t £ 8 Z1 62 € ] 8 09 POOM
Y% %56 $LZ $0€ 281 %52 %62 %52 281 311 36T $L2 %5 25T $LT
39T $€T 3€T $LT 31T 36T $LT %81 %€ $L %02 $81 $€T 381 %6 %1
LE 9% €2 14 ST 12 vz 12 ST 6 £1 £2 i 12 €2 58 auedold
%9¢ $€9 %91 392 31¢ $LZ %92 $€2 3€2 %22 5L %6 17 $9T 3£9
$LE 3Th 312 30% %€5 sLy E3%4 %9% %9b $2b $b2 %81 3€€ 3€E %96 36¢
58 8FT 8¢ 09 zL p9 19 29 €S 25 9T 44 0T 8€ 8T 1434 seb [einjeN
31€E %69 F1 %22 $bT %61 %61 $ST %02 3%2 $TT 3€2 %9 312 $8€
$LZ $8€ 315 %62 312 382 $L2 $92 $6¢€ %8¢ $GE 38¢€ %0b $LE %62 $bE
£9 8€T 16 a2 82 8¢ 8¢ 1€ ob 8k £2 Lb 21 Zb LL 102 jeay 230913
$6€ 319 $0¢€ $5¢ $€2 $€2 Y X4 302 %67 $12 $TT 312 %S %67 E144
1£2 G9¢ 6LT 0ST GET 9¢1 428 81T ST1 SZT 99 SZt 0g STt 79z 009 aseg
ON S9N | +0€1$ | 0O¢is G8% GG$ | =u0jeq Y0 10 isye | epuj|3 [uobejed| xoo|ny [uosuag | EISIA | [EJOL
-98% | -95% -0$ (o /661 |02-8661|02-G00C}40 80OT |/Sslsug| ejlouog Beuals
uibig
¢bunesy mig 31vQ3 NOD 101d1Lsia
pue Jiy [ejus)

éase Buiyiawios Jo ‘Jejos ‘poom ‘suedoid ‘seb [einjeu ‘Jesy oujos|e Yim awoy INoA Jesy noA op -- swoy JnoA jesy noA Aem Aiewiud oy StIBUM (4L 9jqel

sioquIspy aAnesadoos o1309|3 AdjjeA sbuudg inyding jo faaing v




yoieasay pue salbejens [gy Aq paiedaid

100" 100" 100" 080" FAN
+000T 69 °6€ G8°9¢ 0Lz z9°02 aienbg Yo
00" ¥ 00°€ 002 00°T 20°2 26°2 L0°2 912 £9°2 80°¢ (43 £€1°¢ £2°2 £1°¢ L1z 91°2 uespy
30 %0 %0 20 %0 %S¢ %G1 %0 352 $GL 308 205 %05 352 362
%0 %0 30 %0 %0 $2 $T 30 %2 31 3¢ %0 %€ 30 %0 5T
0 0 0 0 0 T € 0 T £ 4 Zz 4 T T v pu1e]
%0 %0 30 | %0 %0 206 %09 %05 %0 %08 %08 %06 %0% %0 308§
%0 %0 %0 30 %0 %2 %0 3T %0 30 31 %0 31 %0 %0 %0
0 0 0 0 0 T 1 1 0 T T 1 T 0 1 4 434
20 30 %0 %0 %0 %8¢ %79 %9% %€2 $1€ $ST %68 35T 38€ %9%
%0 %0 %0 30 30 %8 %z -1 %S 3T 3€ $2 3¢ %2 3¢ 52
0 0 0 0 0 S 8 9 £ v z 11 Z S 9 €1 asi@ Bulyiawios
30 %0 30 %0 %0 %05 %065 %0 3001 %0 %0S $0S 30 %06 30§
%0 30 %0 20 %0 %2 30 $0 %€ %0 31 30 %0 %0 %0 %0
0 0 0 0 0 T T 0 4 0 T T 0 T T 4 iej0g
3001 30 %0 30 1= $£2 8ZL $LZ $6T %85 32T $L8 32T %2k SLb
$00T %0 %0 30 %9 %22 26 $0T %61 %6 %6 $0T %01 %6 32T $0T
09 0 0 0 € [ 157 91 6 Se L 4 L 14 8¢ 09 POOAA
%0 2001 %0 30 ET AN $21 $VL $%2 36T %19 36T $€8 %8 329 %0¢€
%0 $00T %0 30 E3 X4 291 $€T 3€T %22 3€T, %91 $HT 30T $8T 31T 37T
0 ¥8 0 0 Z1 0T 29 02 €T 15 €1 los L zs 14 78 suedold
%0 %0 $00T %0 %8 3L %68 L1724 %9 %69 $0T %68 %6 36¥% 3T
30 %0 300T 30 $LE $LZ $Th $LE %52 32k %62 %0% $TE %0% $Tb $6€ .
0 0 x4 0 61 LT 861 LS ST Z91 £e 602 44 SIT L6 %4 seb [einjeN
%0 %0 %0 3001 38 SL 358 %8¢ %8 k9 36T %58 26T 39% $6€
%0 %0 %0 3001 3€€ %22 35¢€ $9¢ %8¢ $€€ $8€ 3€€ EYA S CYAN %€ 3he
0 0 0 102 LT AL 0LT 96 LT 821 [o]3 LT 0€ Z6 6L 102 jesy oujoel3
30T $hT 26€ E143 %6 a1 318 392 $0T $%9 3€T %98 EYAT 36b %0%
09 78 2 X4 102 18 £9 98% 96T 09 v8¢ 6L LIS TL 162 %4 009 ased
POOAA e seb jeay Hd/pun| ues | uea |HMa/pun| uee | ues |snessip| pisneg | Jeyio | pamey | awh ejol
uedoid | [eanjeN | ouP9|3 /piing | /pling /ping | /piing 0 IMS+A pedsing
JON JON leinaN

¢awoy noh 8JoASY 8ul pling &iling 8q sul pjnoys O3NSS snigjs Juswhojdwy

jeay noAk Aem Aewiid ay} st Jeymn ) Uim uoijoejsijes

£9s1e Buiyiewos o ‘Jejos ‘poom ‘suedoud ‘seb jeinjeu ‘Jeay ouIs[e YIm swioy InoA Jeay noA op -- awoy InoA Jeay noA Aem Alewud oy} st1BUM 01} 9lgel

sioquiapy aAneiadoon au309|g AsjjeA sbuudg Jnyding jo Asaing v




yoieasay pue saibsiens 19y Aq paledaid

REYR LLT” L2Z" 060" vez”
98°8T v6°8 LZ°ST £€6°8T L aienbg 1yo
vL'e |g9'e lese |ese |18te |19ve |evce |6 |sse |iste |19ve |evce |u8'e |ste |1ste |v9e uesiN
%52 %05 %0 %52 %0 3SL %0 352 %0§ 174 %0 352 20§ 362 205
%€ %S %0 $2 30 32 %0 %5 %9 3T $0 $1T 57 E ¥4 $2
1 4 0 1 0 € 0 T 4 T 0 T 4 T 4 4 AQ
%001 30 %0 %0 %0 $00T %0 %0 $00T %0 %0 $00T 30 %001 %0
%€ %0 %0 %0 %0 5T %0 %0 %€ %0 %0 3T %0 51T %0 %0
T 0 0 0 0 1 1) 0 1 0 e 1 0 1 0 1 434
$LT $€T 322 %22 %92 %96 £17 $€T $LT 20L %92 $0€ £247 %25 %8%
30T $L %21 31T %61 $HT 32 $9T %21 31T %8 %6 322 3T 30T 31T
4 £ S S 9 144 T € |2 91 9 L 01 Z1 11T £z ainsun
26T %02 %22 $12 %02 $0L $0€ $0T $LT $HL $Py $9€ %81 $16 %6¥ >
367 %6% $TS 35y 5€9 LY 3€9 $€9 %05 30§ 285 367 $6€ %G9S LY 305 sJes,
61 0c 44 184 0Z L 1€ 0T LT SL 14 LE 81 4 0s 201 ¥ uey} i8p|o
%12 s€z s1¢ $0€ 35 $6L $12 35 LA %78 $Th 30¢ %82 YA %8S "
$£2 %4 312 $82 %9 %22 81 $TT 25T $hZ $cz $LT %92 26T %4 312 SIEdA € pue
6 01 6 €T 4 23 6 4 g 9¢ 8T €T 4 8T sz £v Jeak e usamiag
%52 %02 362 302 $0T $0L $0€ 35 3ST %08 $0€ %8S $0T %06 %05
$€T $0T 321 %6 %9 %6 32T %G %6 31T %8 $6T 37 $TT %6 $0T
g b S b z v1 9 T € 91 9 11 z 01 01 0z Jesk e jnoqy
%0 %22 %22 s€€ %22 $8L %22 %22 CYA4 296 %22 %96 322 31T %68
%0 %S %S 29 %9 35 £14 sTT %9 %€ %€ $L 014 3T %8 £17
0 4 z € 4 L Z z 4 S 4 s z T 8 6 Syjuouw jeieAsg
36T %02 $TC £31%4 $91 2GL EY &4 %6 $LT ShL 38€ $LE $€2 SLY %28
6€ 184 £v Ly [43 28T 60 61 23 6hT LL SL 9% S6 90T 202 aseg
Ma +1GL  AGLMNOGI0SAHST| AST N A oo fiy| dsiy d +G9 | ¥9-G¥ | v¥-QL |Slewsd| S|y | |elol
Jepun SIH-uou
SJIYM .
£.S9Xe} 210}aq g00Z 10} SWOdUL ealy Ayotuyyg /ao0ey aby Jopua)
ployasnoy ajewsxosdde JNOA sem Jeypn ulb|3 ejouog
eiuobeled

¢wiaisAs Bueay oupos|e INoA si pjo sieah Auew moy Jhogy :Z| dlqel

siaquisiy aapetadoo oyo9|3 AsjieA sbuuds inyding jo Asnung v




yoseasay pue salbajens |9y Agq pasedald

LiL- 905" 910" LSE"
0L"€ SZ LT £Z°€¢E Z26°62C aienbg 1yo
€L°c |6s°¢ Jzo'e |ss'e - fste |Tece |were lsoce |sore 90w |evre (ibce |zve |oLce |18 |®9°E uespy
305 %06 $00T |30 %0 %0 %0 %0 252 %52 %0 %0 %0 %62 $SL
3€ 31 5 %0 %0 %0 %0 %0 3€ 29 %0 30 %0 37 % ¥4
4 4 |4 0 0 0 0 0 T € 0 0 0 T £ 4 AQ
$00T | 30 20 %0 %00T | %0 300T | %0 %0 20 %0 %0 30 %00T | 30
$Z %0 %0 %0 sb %0 z¢ 20 %0 20 %0 30 30 %2 %0 %0
1 0 0 0 1 0 1 0 0 0 0 0 0 1 0 1 43y
30€ %0L $5€ %22 $LT 392 %6 %6 $LT 319 $LT 5 %6 322 $8%
311 $21 %6 $TT $pT 391 %5 %9 %01 262 LT %4 $LT 321 $bT $TT
L 971 8 g ¥ 9 z z ¥ A [ 1 z g 11 €z alnsun
s€€ 3L 3ct $€2 $vT 312 25T 312 302 %81 $01 %62 5 %02 39¢€ p
$e¢ 26% 38% %25 205 355 36€ 289 305 3L se $b9 Y4 $LY %8% %05 Sies
e 39 by €T vI 12z ST 1z 0z 81 0T o€ g 0Z LE Z0T ¥ uey} Jepjo
%92 svL | %6¥ $€2 32T %91 €2 %6 382 312 $L %61 3L %92 $2¥ P
$LT 3€2 3€2 3€2 28T %81 %92 2€T 30€ %81 $€T $LT 352 %92 3€2 312 Siesh ¢ pue
1T 43 |14 01 g L [ |4 Z1 6 [ 8 € 11 8T b ieak e usamieg
30¢ $0L %65 36T %02 $0T $5€ 35T %5 %02 202 30€ %0 $ST 35€
26 301 $21 3L 591 S %81 %0T 3¢ 28 $LT 36T %0 3L %6 $0T
9 v1 11 £ b z L > T v b 9 0 £ L 0z Jeak e noqy
$€€ $L9 $h¥ s€€ %0 822 3c€ $TT %22 31T %22 %22 322 $22 $TT
%5 2y 5 3L 30 %5 28 %€ 35 52 %6 sb $LT 55 31 P
€ 9 4 [ 0 4 £ T 4 1 Z z 4 Z T 6 SYyjuow |elsnsg
32¢ %89 $9% 322 $7T %61 %61 35T 202 $%Z $TT 3€2 %9 $12 $8¢
P9 8ET Z6 4 82 8¢ 8¢ 1€ oF 6% £C LE Z1 £h LL (414 osed
ON | seA | +0E1$ | oci$ | 98 | 656 |oM0)8q | 0 10 | J18ue | epw3 [uobejed| XOOM |uosuag| EISIA | [eloL
-98% | -9s% -0%$ (40 /661 {02-8661(02-G00Z|4C 800Z |/seYsuS| ejiouog eusig
ub3
¢bunesy TIg 31va NOD 1o1d1sIa
pue Iy [eRus)

Jwoyshs Buneay ouosje InoA si pjo sieah Auew moy Jnoqy 4zl algel

slaquiapy aaneladoon 2130913 AsjjeA sbuudg snyding jo Asaing v







uyoleasay pue saibsjens |gy Aq pasedald

T00° pIT" 100" 961" 9%0°
9€ " 8¢ bhL z9°¢2¢ 88°11 IL°6 asenbg 1Yo

TP°T (2T |zvT |ev'T |zstt {sect |8vcT (kT |esT leett |ovT |se T ST |SETT |91 |TvT uesiy
%0 %0 %0 $00T %0 30 $00T %0 $00T %0 %0 20 %001 %001 %0
%0 %0 %0 3T %0 %0 5T %0 3T %0 %0 %0 $T %0 %0 %0
0 0 0 T 0 0 1 0 1 0 0 0 1 1 0 T Ma
$00T %0 %0 %0 %0 %001 %0 %001 %0 %0 %0 %0 %05 %0 $00T
3z %0 %0 30 30 %0 %0 s¥ %0 %0 %0 %0 3T %0 31 30
4 0 0 0 0 Z 0 z 0 0 0 0 T 0 z 4 434
30 %0 %001 %0 %0 3001 30 30 30 %001 %0 %0 $00T %001 %0
%0 %0 $1 %0 30 %0 %0 %0 %0 %0 30 $0 3T %0 %0 30

| 0 0 1 0 0 1 0 0 0 1 0 0 T T 0 T ainsun
$LT 3€T 36T 392 3%z 3SL %52 %8 %02 $2L $Z% 29¢€ 302 396 E1474
$9¢€ 3€2 30% £ %25 $LE $Sh 35€ 367 $LE $0% 28€ %8¢ $€h ShE $6€
op 0€ Sk 19 56 ELT LS 81 Lb 991 86 £8 9% 621 10T 1€2 ON
36T $LZ 28T %22 37T 318 36T %8 $€T $8L E384 $8€ %02 %97 E349
$29 SLL %65 296 %8% 2€9 VS 319 %05 2€9 %09 $29 %09 396 %99 319
69 86 L9 08 15 962 69 1€ 8b 98¢ 0ST 8T zL 891 L6T G9¢ SOA
36T 312 36T E3 24 $8T $61L 312 %6 %91 $9L EA%4 $LE %02 205 %05
Tt 8zt €TT 428 90T ZLb L2t 16 . 96 €5k 8% 122 121 662 00€ 009 aseg

A HAGL ASLHN0GM0SAMGE| NG N A By iy dsiH d +G9 y9-Gv | v-glL |slewsd| SleN | [ejol
19pun SIH-uUou
SJIYM
£ Saxe} a10}aq 800 10} dWIOOU] ealy Ryoiuylg 7eoey aby 1apua)
pioyasnoy sjewixoisdde Jnok sem Jeypp uibjg ejouog
eiuobejed

| ;wiasAs Buipeay pue Buiuopuod Jie [enuad e aaey NoA og gl slgel

s1oquisiy aAReladoon 2139l AojjeA sbuudg anyding jo Asaing v




yoseasay pue saibajens |9y Aq pasedaid

100" 6L2° 100" ) STG”
00°96S SEVT L0°2€ 1 ST alenbg 1yo
00°2 00°T 51 GE" 1 1 9v "1 96°1 €1 921 A AN+ A AN 051 LE'T %" T 9¢°1 1T ueaiy
20 %0 %007 %0 %0 30 %0 %0 %0 $00T %0 $00T 30 %0 30
$0 %0 31 %0 %0 %0 20 %0 %0 3T %0 31 %0 %0 %0 %0
0 0 1 0 0 0 0 0 0 T 0 1 0 0 0 1 Ma
30 %0 %0 %0 30 $00T %06 %0 %0 %05 %0 %0 %0 30§ 30§
20 $0 %0 %0 %0 $1 $T %0 %0 3T %0 20 %0 $T 30 %0
0 0 0 0 0 z T 0 0 T 0 0 0 T T 4 434
30 %0 %0 %0 $00T %0 %0 %0 %0 $00T %0 %0 %0 $00T %0
%0 30 %0 %0 3T %0 %0 %0 %0 31 %0 %0 %0 31 %0 %0
0 0 0 0 T 0 0 0 0 T 0 0 0 T 0 T ainsun
3001 %0 $0€ 3¢2 $€2 %z $€€ 29T s€T %61 321 362 35 $8T %0
$00T %0 36€ 35¢ $0% $1b 3bS $2€ %92 3HE LY44 $9% $LE $9¢€ 86¢ $6E
€2 0 69 zs ¥S 96 9L 8¢ Q€ €¥ 8z 8§ 1T 197 £6 1€e ON
30 $00T | 30¢ $LZ EYA4 312 38T 322 3£2 322 %01 %81 3G %02 sLY
%0 %001 $19 %59 %65 %LS 39% %89 $bL 2€9 $8G 3€6 %€9 %€9 379 319
0 G9¢g 60T 86 08 8L 59 08 S8 6L 8¢ 99 61 ZL 0LT 59¢€ SOA
$6€ $19 $0€ E374 $€2 $€C £3 24 %02 36T 312 $TT 312 %5 %61 E144
1€T S9€ 6LT 0ST SEl 9¢€T 421 811 STT 62T 99 Szt 0g STT voc 009 aseg
ON S9N | +0€1% | OEi$ G8% G6$ | alojaq 0 L0 Jjoye | epuj3 [uobejed| xoom |uosuag| eisiA | [ejoL
-98% | -9s$ -0$ (40 /66l |02-8661 [0Z-G00Z|10 00T |/SSlISuUG| ejiouog eusig
, . ulbia
¢bunesy mnig 31va NOO 1J141s1a
pue Iy [eljua)

W swajshs Buieay pue Buluonipuod die [esued e aney noAog qgl slgel

siaquisyy aApe1adoon 21439913 AsjleA sbuuds anyding jo Aening v




yoseasay pue saibajels |y Aq patedaid

200" SLY” T69° z8¢” POt "

! 8T°1¢ 86" L 96§ 8T'F P2 €1 asenbg 1yo
69°T |6v°'T |re°1T [T1€°T {66°T |bS'T |66°T |wvo-1 fsb-1 |ee1 {81 |66°T |8v'T |0pT |61 |[TIp°T uesy
%0 3001 %0 30 20 %0 3001 %0 %0 %001 %0 %001 %0 %0 2007
%0 3T %0 30 %0 %0 %0 %0 %0 30 %0 30 %0 %0 %0 %0
0 T 0 0 0 0 T 0 0 1 0 T 0 0 T T Aa
%0 $0 %0 $0 %0 %0S %05 %05 20 $0S %0S 206G $0S %0 206G
%0 %0 %0 %0 %0 $2 %0 3T %0 %0 $1 %0 3T %0 30 %0
0 0 0 0 0 1 1 1 0 T T T 1 0 1 z 434
%0 %0 %001 %0 %0 %0 $00T $00T %0 %0 %0 $00T $00T %0 %0
%0 %0 %0 %0 %0 %0 %0 %1 1 %0 %0 %0 %0 31 %0 %0 %0
0 0 1 0 0 0 1 1 0 0 0 1 T 0 0 T ainsun
$LT 391 $LE $LT %6 $€1 $8L $LZ %21 319 3ST b8 3€T $0S 28¢
359 £3474 39¢ $1€ $6€ 367 $LE 30% E44 $LE by $LE EAR7 %0% $LE $6€
6E LE S8 £9 0¢ 1€ 08T £9 LZ e SE €61 62 STT L8 1€2 ON
%9 SET 3Th %8¢ %8 %8 3€8 $5T %6 $99 $21 %88 31T 28% $1¥
$G€ $G§ $£9 %69 %19 %6¥ %29 %86 $SS $€9 $¥S $29 %95 %09 3€9 319
1z 9k 8vT 8€T 1€ 1€ £0¢€ 16 €€ %2 £ 12€ 114 9LT 6% T s9¢ SOA
$0T SHT $6€ £33 %6 31T 318 %92 %0T %9 $€T %98 37T %67 %07
09 v8 vET 102 1§ 1g9 98¥ 951 09 v 8¢ 6L LIS 1L 162 g€z 009 ased
POOM 4 seb Jeay 1HM@/pun( ues | ues |MQ/pun| ues] | ues |spessip| pispesg | JBYio | pPaIisy | swy lelol

uedoid | [enjeN | oU108|3 /oung | /piing /plng | /piing 10 |MS+A pedyng
JON 1ON [ennaN
¢awoy anok 8JoAaY 8ui piing éiling 2q sul pjnoys OINSS sme}g juswiojdw3
yeay nok Aem Asewnud ayy sl Jeyp yim uoloejsines

S WiIsIsAs Buniesy pue BulUORIPUCD dle feljus & aaey noA og :9gL a|qel

sisquialy aAneradoon auyoasg AsjjeA sbundg inyding jo Aoning v




yoleasay pue salbajens 19y Aq patedaid -

LTI0" S6L° 100" TIT” £€6G°
IS°FC £0°1 01" 8¢ vE 0T 06°1 alenbg 1Yo
pT°T g0t |s80°T |60°T |so't lso'T {so'T |pz'T |T0°T |80t |ot'T [s0°T {zo'T JLotT |OT'T [80°T uespy
%0 $0 %0 %0 %0 %0 %0 %0 %0 20 %0 20 %0 %0 30
%0 %0 %0 %0 %0 %0 %0 30 %0 %0 %0 %0 %0 %0 %0 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 p. (6]
%001 %0 %0 %0 %0 3001 %0 3001 %0 %0 30 30 %0 $€€ $L9
3¢ 30 %0 %0 20 5T %0 29 %0 %0 %0 %0 %0 %0 3T %1
3 0 0 0 0 £ 0 £ 0 0 0 0 0 1 Z € 43
$5T %0 362 %0 305 $SL 352 %0 %0 $00T %GL %0 %52 206 $0G
31 %0 3T 30 32 $T 3T %0 30 31 $T %0 31 $T 31 3T
I 0 T 0 4 € 1 0 0 4 € 0 1 4 4 |2 yjog
$ST £3 24 $TC $9€ 3€ 391 EY 24 26 $€ %88 %86 $€€ %€ $6€ 319
%S %9 %9 %6 51 %5 %9 %9 3T %9 %8 %G 3T £17 $L %9
S 8 L 4! 1 %4 8 £ T 62 61 11 T €T 0z €€ feuoseag
$8T $12 36T $€2 %81 6L 312 %8 $LT 3GL $0% %8¢ 312 316 %67
%26 b6 $€6 316 $L6 3€6 %€6 388 366 %6 316 256 %86 %56 326 3€6
20T 02T . S0T 62T €0T ¥ 871 S¥ 76 0ZF 922 01z 611 £8¢ 9LT 6GS Arewitid
361 312 361 $%2 %81 S6L %12 %6 291 $9L $TP $LE %02 %06 %06
11T 821 £TT TPT 90T Ly LZI 18 56 174 8¥e 122 12T 662 00€ 665 ased
xa +NGL PISIH0G|M0S-AMGZ| ASe N A [Bulojy| dsiH d +S9 ¥o-Gv | -8l |Oewsd| SeiN | [Bjo]
Jspun SIH-UoU
SJYM
¢S9Xe} 210}8q 9007 10} SWOdUI ealy Apoluy)3 /aoey aby JEIER)
ployasnoy ajewixordde inok sem Jeypn uib|3 ejlouos
ejuobejed

¢@ouapisal Alewnd INoA Jo aouspisal [BUOSESS B E3JE SIU} Ul SWwoy JNoA S| 18| s|qel

sioquIdly aAjesadoo) 1430913 AsjjeA sBundg anyding jo Aaaing v




yoiessay pue salbajens |gy Aq patedald

766" 100" €81" vE6”
vE"0 89" €€ 9621 29°% alenbg 1Y)

60°T |co'T |[T10°T |so't |ot't |tz'T oot |so'T o1t [wrT 90T [s80°T [£0°T [2ZT'T (80°T [80°T uesiy

50 %0 %0 20 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0 %0

30 %0 %0 %0 %0 %0 %0 %0 20 %0 %0 %0 %0 %0 %0 %0

0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 A

$€€ 3€€ %0 %0 $c€ %L9 $€€ $€€ %0 3€€ %0 %0 %0 3€€ $L9
| %0 %0 %0 %0 $T $1 3T 5T %0 $T %0 %0 %0 $T $T 3T

1 T 0 0 1 4 1 T 0 T 0 0 0 T 4 € 43

%05 %05 %0 %0 %52 %SL 114 %0 %52 %52 %0 852 %0 %0§ %62

$T 8T %0 £0 $1 ¥4 $T %0 51 31 %0 $T %0 52 %0 5T

4 4 0 0 1 € 1 0 T T 0 T 0 Z T 4 ylog

%6€ 319 %€ 312 124 %25 %6 %6 %12 39¢ 32T L1 24 %€ 312 $6€

%9 36 3T %5 29 $€1 X4 $€ %8 $0T %9 29 $€ 29 %S %9

€1 0¢ T L 8 LT € 3 6 4 |2 8 T L €1 €€ leuoseag
h $8¢ $19 3Z¢€ %92 Y44 %0¢ E134 %02 261 %02 311 312 %S $6T 337

$€6 576 %66 %56 %6 %P8 %96 $L6 516 %68 $¥6 $€6 $L6 516 3b6 $€6

viz Zre LLT £vT SZI1 vIT LET PIT 50T 01T 29 91T 62 p0T 8ve 655 Aewnd

58¢ $19 $0€ %52 $€2 $€C 324 %02 %61 %12 $TT $12 %S 36T 13372

0£2 $9¢ 8LT 0ST GET 9¢T Ml 81T STT (241 99 STT o€ V1T p9z 665 asegd

ON SaA | +0¢L$ | OEL$ G83% S6¢ | @J0j9q ¥0 20 Jaye | epuy3g |uobejed| xoojipp [uosuag | eisip | jelol
-98% | -9s% -0$ |40 /66) |0C-8661|02-G00C|10 00T |/SelsuUSG| ejloucs eLsIg
ubi3
¢bunesy T8 JLvad NOD . 1oidl1sIa
pue Jiy |esjuad

¢aouspisal Arewd 1noA 1o @ouspISal [RUOSESS B BaJE SIU} Ul Swoy JnoA S| :qg| dlqel

siaquIay aAReiadoos o14393|3 AsjjeA sBuudg snyding jo Aaaing v




yolessay pue saibsjens igy Aq pasedaid

786" q9%" 967 ° £6b " T00"
42K v9°S LG ov-2 0£°6¢ aienbg 1Yo
€0°T |80t |s8o0°T |so'T jzr't |Ttr't |s8o°T |[60°T |€0°T f{60°T [TT°T ([80G°T (LI'T (60°T {SO°T [80°T uesiy
30 %0 %0 30 %0 %0 20 %0 %0 %0 %0 %0 30 %0 %0
%0 %0 %0 %0 20 30 %0 30 30 %0 %0 %0 %0 30 30 %0
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 A4
%0 %0 3€€ $€€ $€€ 3€€ $€E $L9 %0 $€€ $€€ $L9 $00T %0 20
%0 %0 50 - %0 %2 %2 %0 5T %0 %0 3T 20 034 %0 %0 $T
0 0 T T T T 1 z 0 T T 4 € 0 0 € 434
%0 %S¢ %S¢ %62 %0 %0 $00T %0 %0 %001 30 $00T %0 %06 %06
%0 31 %0 %0 %0 %0 3T %0 %0 3T %0 3T 30 $T 3T $1T
0 T T T 0 0 4 0 0 |2 0 2 0 Zz 4 4 yjog
%9 $ST CY44 %9¢€ %6 %21 $6L %2 %9 30L %81 %28 %6 $0L %12
%€ %9 %9 %9 39 %9 39 %S 3¢ %9 %8 3G $¥ %8 3¢ %9
4 S v ZT £ 2 9Z 8 z £2 9 L2 £ €2 L €€ jeuoseag
30T $HT 26€ $€€ %8 %071 318 %92 %01 %9 $€1 3.8 $ZT £1:34 $1b
$L6 $€6 3€6 3€6 $26 %26 %6 3v6 $L6 %£6 316 $b6 326 316 %96 $€6
LS 8L 812 L8T Ly LS SSh 9%1 8§ §6¢€ ZL v8¥ 59 992 822 655 Arewud
301 $HT 36€ $bE %6 %07 $T8 %92 30T %%9 3T $98 321 36% 0%
65 v8 4 X4 102 18 29 98% 96T 09 €8¢ 6L LIS TL 162 LET 666 aseg
POOM 9 seb jesy |Maspun| uesa | uea |MA/PUN| UBST | uea |slessIp| pisnes | YO (pamey| swg lejoL
uedoid | feinieN | ou3o9|3 /ping | /piing /eling | /pling 0 IMS+A Hedyng
1ON 10N | |BdineN

¢auwoy inok ajoAy aul pling £ling aq aur pinoys O3NSS snjes juawhojdwz

1eay noA Aem Aiewnid auy sijeypp yim uoloejsies

¢ oouspisal Arewnd InoA Jo eouapisal [eUOSEDS B BaJe SIY} Ul Swoy oA s| (08| ojqel

siaquialy eAnpesadoos suyaelg AsjieA sbuudg inyding jo Aamng v




yoieasay pue saibajens jgy Aq pasedaid

100" €10° 100" 100" LOL”
£8°88 91°91 SL°59 +000T LL'E azenbg 1Yo
9’V |eb'e |pse |69't |zece |zee |86 |so'v |€z'e . [g8'e |o0°s is8se |Tp'T [8L€ |9Le |LLE uesiy
%00T 50 %0 %0 %0 $€€ $L9 $00T %0 %0 %0 %0 %0 s€€ $L9
%€ 30 %0 %0 %0 %0 £ 14 %9 %0 %0 %0 %0 %0 %0 $T 5T
€ 0 o) 0 0 T 4 £ 0 0 0 0 0 T 4 € X4
$€8 %0 5Ll 30 %0 $€8 $LT %05 $LT s€€ %0 50 %0 %L9 $€¢€
%S %0 3T %0 %0 3T 3T %9 31 %0 %0 30 %0 5T 3T $T
S 0 T 0 0 S T 3 1 z 0 0 0 4 4 9 434
352 EYA $LT 372 %€2 %08 %02 5L %21 $18 %001 %0 %0 %6% 31§
%95 %€2 $LE EYA47 3€6 $Th %6¢ $S¢€ $1¢ 127 $00T %0 %0 %0% LYA $Iv
z9 62 44 65 95 661 6% ST 62 102 87z 0 0 121 LZT 8v2 +G9
$€T %0¢ $LT $€2 %9T $ZL %827 %6 $11 %08 %0 %007 %0 %G5 F17
%ST $0€ %61 $1¢ %02 36T %82 $22 %51 $€T %0 %8S %0 $€2 %61 312
LT 8¢ 44 0€ 12 Z6 9¢ 11 Ay €01 0 821 0 oL 8% 821 $9-GS
36T 36¢€ SLT %22 $TT $HL %92 %8 %61 $EL %0 3001 $0 $8% %25
3€T %92 SvT $7T 36 36T $6T 87T $6T $ST %0 LYA4 %0 36T %91 $9T
a1 €€ 9t 0z 0T 69 X4 L 8T 89 0 £6 0 S¥ 8F £6 y5-G¥
%9 30€ $z¢ %92 %9 %28 28T 50T %92 %79 30 %0 $00T EYA Y %85
%€ 321 SvT %6 %€ %6 $L 30T $hT $L %0 %0 STV SL %01 %8
€ 6T 9T €1 € 184 6 S €1 43 0 0 0§ Iz 62 0§ ¥Ge
30T %81 $€2 5L2 3€2 %26 %8 %9 %82 %99 %0 %0 $00T %25 38%
%9 $0T $vT s€1 $ST 291 %S %8 $12 $0T %0 %0 %65 XA sT1T %21
L £1 91 61 91 59 9 v 0z Ly 0 0 1L LE a3 1L ¥E-8l
36T $12 %61 £1Z4 %87 $6L 512 %6 29T $9L $1¥ $LE %02 %06 %08
ITT 821 £TT |48 90T Ly L2 15 56 £6¥ 8%z 122 121 662 00¢ 665 oseqg
p. e} +NGL ASLH0G|M0GG2! AGe N A Byo|y| dsiH d +G9 vo-Gy | v-8L |Slewsd| ey fejol
1epun SIH-uou
SNUM
¢ Saxe) aiojaq 900z 40} awodul ealy Kyoiuyy3 /e0ey by 13puag
pioyssnoy sjewixoidde InoA sem Jeyp uib|3 eyouog
ejuobejed

oby g1 e|qel

siaquialy aAnesadoon auyoeig AsjleA sbuudg anyding jo Aeaing vy




yolseasay pue salbajens gy Aq paledald

€88 901" 100" £00°
9¢'e bL G2 1981 90° LY alenbg 1yo
Z8°€ 9L"€ LS°€ SL°E 9L € L0 ¥ {8 80"t £5°¢€ 92 LZb 86°€ €L € 68°¢ zs°¢€ LL° € uesiy
$€E $L9 %0 3€€ s€¢ $€¢ 30 %0 $€E %0 $0 $L9 30 %0 $€€
%0 3T %0 $T $1 $T %0 20 3T $0 %0 %2 %0 %0 %0 31
1 4 0 1 1 T 0 0 T Q 0 Z o 0 T £ NG
$€€ 208 SLT $L1 SLT 30§ $LT %06 %0 3LT $€E $L1 %0 $LT 3€€
$1 $1 31 $T 51 %2 51 %€ %0 sT %€ $T %0 3T 3T 3T
4 £ 1 1 1 £ 1 5 0 1 4 T 0 1 Z 9 434
209 %09 $bZ %52 $£2 $LZ %8¢ £ %4 %91 38 $HT 361 %9 302 | %1F
£33 $1b she LA 8Zh %06 %59 %05 %5€ %ST %26 %8¢ %06 €Y 36€ 31t
86 0ST 09 £9 LS 89 €6 65 (0] 6T 43 8k ST 6b 207 8%2 +G9
sTh $6G $1€E %$2¢ %S¢ LY 44 %92 $LT %61 %91 $€T %8C %2 %S¢ $TE
$£T 31¢ $2¢ 361 £ 14 $1C $€T $6T 31C $LT $92 262 $0T %82 $ST $12
43 9L 0¥ 82 43 8z €€ 144 24 12 LI 9¢g € 143 oF 8¢t ¥9-9G
F12% L9 26€ $LT %91 %87 E1 2 %02 $2T $22 %6 $5C $S $TT 316
$€T $LT 30¢C $LT $TT $€T %6 %91 $LT %91 $2T %81 $LT %6 38T %91
T€ 29 9¢ 14 ST LT €T 6T 0¢ 02 8 £2 S 01 LP €6 14
£33 %9G £¥4 2 $2¢ $HT %21 37 %91 %92 $2h %9 287 %9 %91 %S
30T %8 $CT 311 %G £34 3T $L $1T $LT $S $L 30T $L $0T %8
44 8z 12 91 L 9 z 8 4 12 £ 6 £ 8 Lz 0s PGe
$he $29 %8¢ $€T $1€ %81 %0 $0T £324 %65 $€ %8 %9 %02 $€9
$0T $2T $1T $TT %91 301 %0 %9 $ST $hE %€ %S $€T1 %21 $LT %21
ve 44 0Z 37 44 €1 0 L LT Z¥ 4 9 |2 [a 4 TL ve-8l
%8¢ $19 %0€ 362 $€T $€T 344 %02 %61 312 $TT 31T £3 36T $hb
0£2 G9€ 8LT 0ST GET 9€T [4a 811 STT [Z48 99 SZ1 0€ PIT 792 666 aseg
ON S9N | +0€l$ | 0ELS 58% GG$ | u0jeq ¥0 L0 Joye | epuji3 juobejed| xool\ Juosuag] EIsiA | lejol
-98% | -95% -0$ {Jo /661 |02-8661[0C-G00Z| 40 800C |/Ssksug| ejouog BlSIS |
b3
¢bunesy 1g 31iva NOD 1O141SIa
pue Iy [enus)

eby :g6l s1qeL

slagquioly aAnesadoos o1yo9lg AojjeA sbBulidg anyding jo Asaing v



yoleasay pue saibsjens |9y Aq patedaid

650" €€0° 100" 6hL" 00"
81°8¢2 £p°22 Z0-€¢€ 9 "€ ZLTLZE alenbg 1Yo
L€ €T ¥ 6L°€ 99°¢ b6 € 68°¢€ L€ 9 "€ S6°€ L8°€ LS°€ 08°€ €1°¢ 89° b $8°2 LL°E uesiy
$€€ %0 $€€ $€E %0 %0 %001 %0 %0 %001 %0 %007 | %L9 3€E %0
L¥4 %0 %0 %0 $0 %0 ST $0 %0 31 30 $T 3€ %0 %0 3T
1 0 T 1 0 0 € 0 0 3 0 3 z 1 0 3 Ma
%0 $LT 3€€ 3€€ $LT 209 3€€ 3€8 %0 SLT SLT 3€8 3€8 3L 30
%0 3T 5T 31 8¢ %S 30 %€ %0 %0 $T $T $L 20 %0 3T
0 T 4 4 I > 4 S 0 T T S S T 0 9 434
%9 391 €V 3¢ %01 %6 318 %02 %01 30L $€T 3.8 17 358 %07
$LZ 38t %9b $8€ LY 3¢ $2h $1€ EYA 4 £ $6€ EY44 $HT SEL 31T $Th
9T 0¥ LOT LL 24 44 202 6% 52 vLT 1€ S1Z 01 21z 9z 872 +G9
391 302 $0€ EYAS %9 %91 %8L $€2 3ST 229 $0T 268 %21 %97 E¥44
29¢€ $1€ SLT %02 391 EYAS $1¢ 361 %2¢ 312 %91 %22 $1C %02 $£2 312
12 9z 6¢ 157 8 0z 00T 0€ 61 6L €1 VIT ST 65 ¥S 821 ¥9-6S
$TT %6 %0% 3LE 31T %8 328 $2¢ %6 %66 BT %98 31T LT %2L
SLT 30T %91 $LT %02 $1T %91 26T $€1 T . | %91 36T $hT %S %8¢ %91
0T 8 LE 43 0T L 9L 0g 8 s €1 08 01 91 L9 £6 ¥S-Sv
$hT %8 $8¢€ %8¢ %01 017 %98 bz %8 289 %81 %28 $8T 34 38L
32T %S %8 %6 $0T %€ %6 %8 $L 36 31T %8 $€T 3T 291 %8
L 2 61 61 S Z £h 4! 2 vE 6 117 6 4 6E 0% bir-Ge
%9 $L 3T¥ %8¢ 17 31T 358 %Zh %9 $2S $LT $€8 382 %0 $CL
3L %9 321 3£T $9 3€1 $21 36T $L %0T 36T $1T %82 %0 %22 %21 :
|2 S 62 L2 € 8 09 0g {4 LE 4 65 0z 0 15 1L ¥e-8l
$0T $hT 368 | 3be %6 %07 318 %92 %01 3H9 $€1 %98 CYAl 360 %0p
6S v8 [4X4 102 1S Z9 98% 96T 09 £8¢ 6L LIS 1L 162 LET 665 aseg
POOMA 9 seb jesy |M@/pun| uesy | uesT (HQ/pun| ueeT | uee] |snessip) pisheg | JBYO | pamey | awg [ejol
, uedold | jesnjeN | o399|3 /piing | /ping /ping | /piing 10 IMS+A pedping
1ON JON jesnsN

¢awoy nok 8]0A3Y 8u pling éling q suij pjnoys O3NSS snje}s juswiojdwy

yeay noA Aem Arewnid ayy st Jeypp yIm uonoejsies

oby 081 9lqeL

siaquapy aanesadoon auaelg Aojjea sbBuuds anyding jo Aoaing v




yoJeasay pue salbajens 1Y Aq pasedaid

100" [ZZ°R 106° 100" 100"
+000T 6E°F €€ 1T 66 LG p0 €T asenbg Yo
00°L oL ¥ 00°€ 00°2 00°T 27283 8L ¢ 86°¢ £2°¢ z5°¢€ pS € 96°¢ LT € og°¢€ €L°E 15°€ uespy
%001 %0 %0 30 30 SLL 3€Z $HT $€T $EL 295 $82 %6 %05 %06
%001 20 %0 30 30 $8T 302 $1¢€ %67 $8T $52 $H1 %8 %67 $8T 36T
I1T 0 0 0 0 G8 9z 9T b 18 Z9 1€ 01 96 SS 11T AQ
%0 $00T %0 20 %0 30L 30€ 3b $LT $8L £3%14 $6€ SLT 292 sbL
30 381 %0 30 %0 3¢ %9 $Z 17 3¥ £37 374 %€ 3z %9 17
0 £2 0 0 0 91 L T v 81 0T 6 2 9 LT £2 +0S1
%0 $00T %0 %0 %0 $EL LT %6 31T %08 %81 %08 EYAS $6€ 319
%0 3HE %0 20 %0 SL 36 %8 %S %8 %€ 30T %21 %9 %6 $L
0 a2 0 0 0 [43 4 v S 1 8 44 A LT LZ A A0S1-3001
%0 $00T 30 30 %0 $SL 352 $L 297 $LL %87 %99 391 327 %95
30 %80 30 30 $0 30T %21 %8 %07 30T 37 %81 38 %6 $TT $0T
0 19 0 0 0 9% ST v 0T LY 1T 0¥ 01 L2 Ve 19 A00L-%SGL
| %0 %0 %001 30 %0 318 36T $L 36T $8L $LE $vE %82 $S¥ %55
%0 %0 %001 %0 %0 36T $LT %91 %81 36T $LT $LT %92 $LT %12 361
0 0 €11 0 0 z6 1z 8 LI 88 F44 8¢ [43 IS 29 £1T ASL-X0G
%0 %0 %0 3001 %0 308 %61 %S %81 SLL L¥44 2G€E 3€2 260 20S
30 %0 %0 $00T %0 E37%4 312 $HT $LT £ %4 344 $€2 %92 $€T B4 e XA
0 0 0 449 0 pIT LZ L 9z 60T 6S 0§ (43 oL TL [4a° 40S-ASC
%0 %0 %0 %0 $00T 328 $8T 30T %61 $TL $€G 262 %87 %89 $2€
%0 %0 %0 %0 3001 287 35T $22 31C $L1 $€2 EY A %91 352 311 %81
; 0 0 0 0 90T L8 61 11 0Z SL 96 1€ 61 zL i3 90T AGZ epun
36T 312 36T E374 %81 26L 312 %6 %91 $9L $T¥ SLE %02 %09 306
11T 821 €11 474" 90T Ly LZT 1s 96 £S5k 8k2Z 122 121 662 00€ 009 aseg
AQ HAGL |ASLM0G | M0S-MG2! 6T N A Byo iyl dsiH d +G9 | y9-SP | v¥-8l |Slewsd| Sew | [ejol
1epun - SIH-uou
SIUM
¢S9Xe} 21059 g00Z 104 SLODUI ealy Auoiuy)3 fooey aby 189pusn
pioyasnoy ajewixoidde JnoA sem Jeym uib|3 eyouog
eluobejey

Sexe) ai0joq g00Z 10} SWodUI pjoyasnoy sjewxoidde InoA sem Jeum  Zz ejgel

sioquisly aApesedood o139 AsjjeA sbBundsg anyding jo Asaing v




yoieasay pue saibarens 19y Aq pasedaid

| 100" 01¢” 687" 902"
16°92 0s°22Z 08°0Z - 0% 62 alenbg Yo
vi'e |e€Lce |89°€ |wpe |wvpe |9p'e |€sT€ |TLce [Tete |vI'E |S0°€  [18°€ LZ'E |ST'E [89°€ [TIS'E uesiy
%9¢ %29 3€€ 312 $€z | s€2C $0¢ 3€T $HT LYA 30T $£2 %S 38T 34
$LT 36T $1C $6T 26T 36T 3€2 $22 $HT 30T $LT 312 SLT $LT 36T %61
0¥ 69 LE [ %4 14 9z X 92 91 €1 T1 9z S 0z 6b TTT AQ
%6 316 $LT $LT $0€ %6¢€ 3LT 3€1 $LT $0€ %6 $0€ %0 %6 32§
31 %9 32 %€ %5 %9 3€ 3¢ %€ %9 %€ %9 %0 32 %5 3%
4 12 {4 i4 L 8 |2 £ 4 L z L 0 4 4 £2 +3061
3€2 $LL 30€ $1v %91 $PT 29T 362 3€T $HT L ¥4 $LZ $L $TT 32§
W £17 %6 3L %21 %5 172 %S %6 %6 %G E¥4 20T 30T 14 %6 $L
| 0t 42 €1 8T L 9 L 1T 0T 9 T ZT € S €2 a4 A0S1-3001
$0€ 30L 38¢ %92 $€2 $€T %02 %87 $€T $1¢ %S %52 %€ $€T $kS
28 CYAS $ET $TT 30T | %9 28 %6 %21 30T %S 321 $L $L 3€T 30T
8T £F €2 9T v 8 4 11 a8 €1 € ST 4 8 €€ 19 - A001-4SL
$0% %66 $2€ 3£2 %02 %52 302 312 3971 %92 $ET %61 %9 $LT %SY
%61 %81 %02 $LT $LT 312 %91 %02 %91 $£2 $€2 $LT 3£2 $LT 26T 36T
Sk L9 g€ 92 £Z 8z €2 4 8T 62 ST 12 L 6T 18 €11 AGLN0S
£33 %96 $1¢€ 352 %02 39z LY A4 $LT 3€£2 £324 $1T %81 3% 352 EYA4
%92 $22 $6¢ Y24 $1Z $5¢ %22 %02 %82 $L2 E34 %02 %02 30€ 3€2 $%2
19 08 A4 9g 8¢ vE 153 24 [43 vE 91 14 9 SE 09 42 A0G-MSC
326 28p 31z %52 %62 362 30€ 28T %02 %22 $LT %87 $L %62 $hE
372 b1 32T 3871 3€2 36T $€2 39T 88T %81 $LZ %ST $€£2 3€C $PT 38T
sS 15 (44 LZ 1€ 9z 43 61 12 144 81 6T L 92 9¢ 90T - 3GZ lepun
$6€ $19 $0€ %52 3€2 $£2 E1 %A %02 %61 $1C $TT 312 %S 36T £3414
182 S9€ 6LT 0ST GET 9€T 4 811 STT szI 99 S21 o€ STT ¥9C 009 ased
ON ssA | +0€1$ | Oci$ G8% S6$ | sJ0jeq 0 L0 19)e | epuji3 |uoBejed| xoolipn [uosueg| elsIA | [ejoL
-98% | -9s% -0$ |40 /.661|02-8661[02-G00C|40 800C |/SSUSUS| ElioUOS . eLlsig
ulbig
¢bunesy g 31va NOD 10141S1a
pue Jiy [eauan

£Saxe) 210joq go0Z J0} swodul pjoyasnoy sjewixoidde Jnok sem JBUM  :qZZ eiqeL

siaquisy aApeiadoo? o1o9)g AsjleA sbuudg anyding jo Aeaing v




yoieasoy pue salbajeng 1gy Aq patedaid

LIL” SE0° 8FT" £6G° 100"

61 01 £z°22 po LT 9% 686§ asenbg 1Yo
88°¢ GL'E 65°¢€ 86°¢ 26°€ 16°¢€ Lv'E L9°¢ LZ'€ 6b°€ 98°¢ Sb€ 69°€ FAAR 8s°¢ 15°¢ uesiy
%5 $LT $6€ 36¢€ 32 %61 $0L $be %01 %99 $LT 318 $LT %66 £ %4
30T $€Z %81 361 $1¢ $L2 %91 %2 38T %91 b2 | sLT $L2 $22 $11 %61
9 61 %4 6€ 91 LT 8L 8¢ 1T Z9 6T 06 61 59 L2 1T Ad
36 %6 32§ $0£ 3P %0 %96 %92 $b 30L $LT 3£8 %6 3G€E $LS
3¢ %2 %S %€ CYA %0 %5 sb %2 £14 35 3b %€ 3€ 84 3k
4 4 48 L 1 0 44 9 T 91 4 61 4 8 £1 £2 +10G1
%6 %02 $9¢ SPE sL %6 378 %€£2 $T1T %99 %6 316 3b1 $LZ %66
3L 311 3L SL %9 %9 %8 %9 %8 %8 %G %8 %8 3k 311 $L
4 6 9T ST £ 4 LE 01 S 62 |2 0b 9 4 92 b A0SGL-300L
%L $6T 14 $1E 3L 3L %8 %0C 3L L $9T $b8 SL $0€ 39
$L 31T XA %6 %8 %9 $TT %8 $L $Zt 3€T 301 %9 %9 %91 %07
4 6 LT 61 14 4 €5 4 i4 14 0T 15 14 8T 6€ 19 A00L-AGL
31T 31T %6€ $8¢ $L %S %88 $€C %6 %89 %21 %88 %6 €Y 28%
$0¢ E3 AN %61 312 %971 %01 %02 $LT $LT %02 %81 $61 HT $LT $£T 261
Z1 41 [ 4 [ %7 8 g 66 92 01 LL [ 66 0t 6% %S €11 ASL0S
31T $HT 26€ $2€ %9 $T1 3£8 312 %6 $0L $€T %98 %8 325 %0%

362 3%2 344 $€C %91 %52 E124 %61 $22 %92 $€2 £124 $6T %52 E1 %4 352
ST 0z 9S 9% 8 91 81T 0€ €T 66 8T 221 11 vL LS vt A0G-ASC
39T 821 £33 $0€ 301 $ST $SL $Z€ %ST $€S %6 316 $8T 319 212
%82 35T $ST %91 %22 $5¢ $91 %22 $L2 $ST $€T %61 3LT $22 %6 %81
LT £1 9g 43 11 91 6L vE 91 3s 01 96 61 59 44 90T 3GZ J9pun
30T $HT $6€ £343 %6 $TT 318 %9¢ %01 3%9 $€T 398 32T $6¥ $0%
09 g [4%4 102 18 €9 98% 96T 09 p8¢ 6L LIS TL 162 8€C 009 oseg
POOM 9 seb jeay Md/pun| ues | ued [HQ/pun| uee] | ues |spessip| pjsheg | JSUYIO | paiey | swh jejoL
uedold | fesnjeN [ ou09|3 /oing | /pling /ping | /pjing 10 IMS+A yedaing
1IN 10N fennaN

¢awoy anok 9]0ASY aui piing éling oq aulg pjnoys O3NSS snjejg yuewhojduig

yeay noA Aem Asewiud ay s! JeUm Yim uoloejsies

£SOXe)} 310}9q 00T 10} dwiooul pjoyasnoy sjewixoidde Jnok semjeypy  9gZ djgel

siaquay aApesadoon o183 AsjeA sbuudg inyding jo Aanng v



yoseasay pue saibajens jgy Aq patedaid

100" 020" 100" T Gg6- 8v0"
vSULTT 0T'GT ¥S°oF 09°§ 69721 alenbg 1y
o6°c {¥6'c jos'e |tse |zez |sbe |16 |zocw |1ete |iLsce joste {99'c |Lvte [8ptg | 99°€ | LS'E uesiy
%001 |30 30 %0 %0 $0L $0€ %06 301 30% %0¢ 202 %07 $0% %09
%6 %0 %0 %0 20 3T 27 20T $T 31 31 3T 3T $T 3z 37
0T 0 0 0 0 L € g 1 ¥ £ 4 1 v 9 01 A
$71T $L 362 3E 5L %98 SpT 262 851 $LS X7 %€P $bT set 3LS 5
T T b 17 1 3¢ T 38 14 14 14 13 32 3z 3¢ $Z ‘ ebsjjoa
2 1 b 9 T zT z b z 8 9 9 z 9 8 P1 Joun{ /eouyos}
§LT 3pe 36T 32 $TT 0L 30¢ 36 82T 38L 8T 30% 38T 307 209 sa.bep
512 sLE 361 $€2 $bT $12 3€€ %52 $8T A% 362 352 312 3871 382 362 padueApe Jo
€2 Ly 12 €g ST L6 44 €1 LT 60T LS 96 14 SS ¥8 6€T [o0yos sjenpels)
322 $L2Z $02 202 31T 3G %52 %5 $TT $b8 $6¢ %0b %02 $€S $Lb
%8¢ $0€ %92 %02 12 $€2 382 VT $LT %92 %22 %92 Y% 262 %22 $hZ
1€ 8¢ 62 62 ST LOT SE L 91 61T SS LS 62 SL L9 ZhT pe.b absjjon
$LT 28T 312 362 $12 3€8 $LT $L 3€2 269 3T 36¢ $€2 266 3TF
$52 3€2 $0¢ $L2 $z¢ 262 312 $b2 $0% %62 $LZ 292 %1€ $z€ 322 $L2
8¢ 62 |2 8¢ PE 9€T LZ Z1 8¢ €11 L9 LS LE 96 L9 £91 obsjjoo swiog
31T $TT X4 3TE 352 %98 $bT $L $pT $6L 13 36€ %22 %6% $TS 6
30T %6 %02 3€2 $52 26T $TT $pT 35T %81 $81 291 381 $LT $LT $LT Sjenpes
1T IT (X4 (4 Sz 88 a1 L 2 18 a4 9¢ ze 0§ zs Z0T jooyos ybiH
%02 sL $L $€1 $€6 %€8 3€1T 301 3L 3€9 $€5 $€2 $LT 3EF 3€5
25 32 37 3¢ %61 %5 3¢ 29 38 27 %9 3€ %b 3 36 X jo0yos
9 4 4 v 91 14 i € 8 61 91 L S €T 91 o€ ybiy uey) ssa
%61 ¥4 36T 4 38T $6L 312 %6 $9T %9L 3T 3LE 302 %06 %06
TTT 821 €11 428 90T Ly L21 15 96 €6t 8%z 122 121 662 00€ 009 oseg
pie] +AGL PASLI0G|H0S-AGT! ASe N A Yo fiy| dsiH d +G9 vo-G¥ | v-8lL |ofewad| SeN |ejol
Jopun SIH-uou
. SHUM
T .sexe] 9Jojoq 800 10} Swooul ealy fnoiuy3 /eoey aby Japuso
ployasnhoy ajewixoidde JnoA sem Jeysn uibj3 ejouos
eluobejed

spojejdwiod aAey noA uoneonps jo [9Ad) 1saybiy syl sijBUM €2 dlgeL

siaquIoi aapgesedoon 21439913 AsjjeA sbuudg inyding jo Aeaing v




yoieasay pue saibajens |9y £q palredaid

112" 150" 629" €20°
6€°8 9L 8z 8% ST 0L 6€ aienbg Yo
sp'e |€97e |os'e |1ee lzere |sote |eb'e |ss'e foste |9vte- |tzre |68'¢ |er'e lzere Jo99e [isce ueaiN
%09 206 %02 %02 %02 $0% %07 %0b $0T 202 %0 $0€ %0 %02 305
%z 51 $T 31 31 3€ 5T 3£ &1 ¥ %0 $2 %0 527 327 %2
id S 4 4 4 4 T i 1 4 ] £ 0 4 S 01 Ad
3Eh LS $bT %06 %62 $L 206 3L $12 $pT $L $L %0 $12 %59 5
3¢ 3z 31 S € 5T 26 31 3€ %2 | 52 $T %0 3€ 3¢ 32 9b9)j00
9 8 z L b I L T 3 z T 1 0 € 6 pT Jojun{ jjeotuyoa L
s30¢ 39 8z¢ 312 36T $L2 502 502 302 8.1 8L 362 b 421 3Lb saubep
$22 5%z 862 %61 202 $82 %02 $vZ %4 36T $6T s€€ 302 36T 362 $€2 paoueape Jo
0§ 88 SP 62 LZ 8¢ 8Z 8z 82 ve 01 ¥ 9 LT 59 6€T |0043s ajenpels)
1€ %69 $LT $z¢ %02 %02 %12 %L1 %61 3€2 $T1T $52 $b 6T %0%
%61 $LT 312 $1€ %12 $1¢ $12 202 $€2 %92 $b2 362 %02 2€2 $22 $v2
V¥ 86 8€ o 6C 62 o€ 44 Lz z€ 91 9¢ 9 Lz LS 44! pesb abgj100
$EF %96 30€ %87 $€2 $6T $82 302 $8T 312 %21 %91 %5 38T %6¥
%0€ $5¢ $L2 %0€ %82 $€C sz€ $L2 %52 3L 262 $12 $L2 %92 30€ $LZ
0L z6 6% 4 BE 1€ 14 43 62 vE 6T 92 8 0¢ 08 €971 absjjoo swog
%0% $65 %2€ ST $He %62 %0¢ % %22 352 25T $HT %9 $0€ %5€ 6
38T 391 %871 $0T $8T %22 Sy %02 36T 202 3€T 31T %02 3Lz $HT $LT Sjenpe.l
184 09 €€ ST ve 0€ 0z ve 44 T4 ST A 9 1€ 9¢ 20T jooyos YbIH .
2€6 $L¥ $€€ 302 $LE %0T $LE $LT $LT 302 $LT 3€1 $€T $LT 20%
3L 3 %9 3 38 %C 38 $b 37 %S 38 € 3€T 30 3G %G |00Yos
91 A 0T 9 11 € 11 5 5 9 S b b g 4 o€ ybiy ueyy ssaq
$6€ 319 $0€ %62 3€2 $€C %4 202 $6T 312 311 %12 %S 2671 $hd
, 1£2 S9g 6LT 0ST SET 9¢T ZyT 811 STT szt 99 SZT o€ STT ¥9z 009 aseg
| ON SBA +0€1$ | 0SL$ 8% GG63% aJ0jsq 0 10 laye | epuy3 |uobejed| xoo|ny [uosuag| eisip | felol
-98$ | -95¢ | -08 |io 2661 |0z-8661|02-5002/40 8007 |/sousUS | epouos eiusig
uibig
¢bunesy . Tg 31vad NOD 10141S1a
pue Iy [enus)

£pa1ejdwos aAey NOA uoReoNps JO [9As)] 1SaybBIy aY) SI JBUM  GEZ BideL

sJaquiapy aaneladoo suyoag Aojjea sbundg inyding jo AsAing v




yoseasay pue salbajens 19y Aq pasedaid

1% Z€0" 181" 9T 200"
69°81 0§°22 €291 SL'6 £8°0¢ asenbg Yo
05°€ |ss'e |9se |o9'e |see i{sov leste jov'e |eece joore [18e |wste |ewe |spre [oLte |iste ueapy
%0 %0 %09 $0€ $0T 50€ %09 %0% 30T %06 %0T %06 %06 30T %0%
. %0 %0 3€ $T Y %6 31 s€ %2 31 $T 227 $L %0 $C 82
0 0 9 £ T 3 9 4 1 S T 6 S 1 |2 0T NG
3L $L $9¢€ $€F %0 L %€6 %62 $L $b9 L %€6 $L $9¢ $LS 6
52 5T 52 € %0 %2 $€ $€ $T 52 51 %€ 5T 32 %€ 32 99|00
1 T g 9 0 1 £1 b 1 6 1 £1 T s g BT Jown[ freotuyos )
21 502 $2¢ $2¢ 3L 381 562 3461 391 359 312 361 L 59 $Lb saubep
%8¢ s€€ 26T szz %02 %0% §12 $LT sLE $42 $LE $12 3BT %22 5.2 3€2 paoueape 1o
LT 82 Gb 5P 01 44 vOT 92 22 16 62 01T 01 b9 59 6€T [00yas ajenpel)
%6 §11 $2h $5¢ $0T %8 %78 $L2 %9 %99 §T1 268 %01 $8b %47
¥ 44 %6T %92 35¢ $LT %61 $he $5¢ %ST %4 361 Y% %02 $€2 352 352
€T 91 09 0S i 1 91T 6€ 6 v6 ST 9z1 [a 89 09 42" peJb ab9j100
%8 %0T 152 $5€ $L %6 358 $b2 %6 $L9 321 $L8 $€1 325 $6€
32z $6T $0€ %8¢ Y44 322 $82 352 362 382 3§52 $L2 $0€ 262 A %4 $L2
€1 91 oL LS 11 71 8ET 6€ ST 60T 02 15T 12 s8 LS €91 abajjoo swog
32T $LT %8¢ 362 %0T %S $58 3TE %0T %65 201 %06 $€T %06 3LE 5
302 302 $LT $ST $02 28 281 $1¢ $LT 397 $€1 381 381 381 $9T A Sjenpe;
Z1 LT 6€ o€ 01 S L8 4 0T 09 01 Z6 €1 Ts 8¢ 20T 100yos ybiH
$€T $02 $0¢ s€€ $LT %01 s€L %0% $L 3€5 $0T %L8 $€2 $LS %02
$L 3L 3b %5 30T %5 %6 %8 € 3b $b 2 30T %9 ¢ 85 jooyos
v 9 6 01 s € ze z1 z 91 € 92 L LT 9 g ybiy ueyy sse
%0T 39T %6€ $vE %6 $TT $18 $92 %01 $%9 $€1 %98 321 %6% %0F
09 8 . PET 102 15 €9 98¥ 961 09 v g€ 6L LIS 1L 16¢ 8¢€T 009 aseg
poom | @ seb | jesy |yMQ/Pun| ues ] | ues |MA/PUN| UBS] | UES |SHESSIp| pisheS | Joyl0 | pained | ewl | [ejol
uedoud | [esnjeN | oujosig /g | /ping ming | /ping | 10 [MS+A ped/ind
10N 1ON [elnSN

¢awoy Jnok 9joAaY auIl piing &iing aq aur pinoys D3NSS snjejs juswhojdwy

yeay noA Aem Asewid auj st 1eym Uwm uogoe)sijes

Zpaleidwon aaey noA uoneonps Jo [9A8)] 1saybiy syl st JBUM  9€Z Slgel

slaquapy aaneiadoos sLyoalg Aojjen sbuuds inyding jo feaing v




yoseasay pue saibsjents 19y Ag pasedaiy

T00° 6LT" 100" 100" 100°
81°L6 81°0T 26°2ZL 8L°182 59°Zh asenbg 1Yo
9T ¥ 09°2 AR £b-¢€ 2% 16°¢€ 1€°¢ 06°¢ v6°C €5°¢€ CEM 1872 L0°2 69°€ sz'e Ly € uesiy
3001 %0 %0 %0 %0 %0 $00T %001 %0 %0 %0 306 30 %0 $00T
3z %0 %0 %0 %0 %0 32 $ %0 %0 %0 %0 %0 %0 3T 30
4 0 0 0 0 0 4 Zz 0 0 0 T 0 0 4 4 Ma
%001 %0 %0 %0 %0 $00T %0 %007 %0 %0 %0 %0 %0 3€€ $L9
$€ %0 %0 %0 20 3T %0 %9 %0 %0 %0 %0 %0 %0 3T 5T
€ 0 0 0 0 £ 0 € 0 0 0 0 0 T 4 € 434
%52 $LT 3LT SLT %62 3€8 $LT 28 352 $L9 %S¢ $1¢ E¥A %€8 $LT
28 %G %5 1/ %8 %9 %S %9 %6 %4 37 %5 321 $0T %2 %9
6 9 mE 9 6 0€ 9 € 6 &4 6 11 ST o€ 9 9€ JoXewswoH
%22 $€T LT 35¢ %22 %08 302 %8 STT 318 $EL %92 3T 306 30§
%6G $0€ 3€P 326 319 208 35F 35h $HE 32§ 358 3bE $2 %8Y %6b 26F
S9 8€ 6F VL 59 [4%4 LS £2 €€ SET [4%4 SL 4 SHT 9vT 162 padijay
2HT 262 30 b1 3€h 298 $HT $HT %0 1 %98 $HT $HT $LS 298 $HT
3T 32 %0 31 %€ 3T 31 $Z 30 31 %0 %0 %€ %2 %0 %1
T 4 0 1 3 9 1 1 0 9 T T |4 9 T L juspnig
$LT SLT SLT $LT %0¢€ 28L %22 26 Y7 $L8 %0 %26 €Y %8b £
37 $€ £37 %€ 3L E12 £17 3F $T £37 %0 %S %8 sb 14 L3
v b p b L 8T g z 1 0z 0 z1 01 1T 4 €2z pakojdwaun
%8 374 39T 312 $2€ 39L 3bC %S 38T $9L $Z¢€ $2€ $LE $9L :Y7x4
3¢ 3L F1 %9 31T 39 $L $¥ 3L 39 %S %G 321 $0T %€ %9
€ 6 9 8 Z1 62 6 4 L 62 4 (45 VT 62 6 8¢ swi} Jed
$2T 3G¢€ she 352 %S 39L EY 744 %8 L4 0L 3L 356 %8¢ 36€ 319
322 I CTR R 47 $5€ %6 %2€ $LE %62 $8% 3TE %9 36% $€9 %92 F187 3€€
¥z 69 8k 6% 0T ZST Ly ST 9% 6ET A 60T 9L LL (448 002 sy |in4
36T 312 %61 E3%4 381 $6L 312 %6 391 %9L E184 $LE 502 30§ 20§
TiT 821 €TT Zvl 90T ZLY LZ1 15 96 £6F 8% e 122 121 662 00¢ 009 | osed
pila] HASL  |ASIMNOG | A0SANSE] ST N A [JBuo|ly| dsiH d +69 | ¥o-G¥ | vP8l |oSlewad| SN | |ejol
Bpun SIH-uou
UM
¢,SOXe) 9J0}og 8007 10} dwooul ealy Aoyl jeoey aby lapuac)
ployasnoy ajewixoidde inok sem jeypp uibj3 eyouog
ejuobejed

Jioxewoawoy e Jo paiyal ‘pakojdwe ‘pakojdwiaun yuspn)s e Ajusund noA a1y pZ Siqel

siaquispy aAneiadoos su3oelg Asjlea sbuudsg inyding jo Aeaing v




yoieasay pue saibsiens jgy Aq pasedaid

TLG® 152" 100° LET"
pL'S 16° %2 62" 8L 96" 2€ aJenbg 1Yo
2s°¢ |eve |erzce |tpe |evce {v8c |81'v |sLce |pZe |69°2 lego'v |2e'e |ev'€ |88'€ |gTE |LPE uesiN
%0 3001 $0S 306 %0 %0 %0 30 %0 %0 %0 %001 30 %0 %0
%0 3T 3T 31 %0 %0 30 %0 %0 %0 30 %z %0 %0 30 %0
0 4 T 1 0 0 0 0 0 0 0 Z 0 0 0 4 Aa
$£€ $€€ %0 20 $€€ $L9 3€€ %€€ %0 $€€ %0 %0 %0 3€¢€ $L9
30 %0 %0 %0 3T 3T $T 31 %0 $1 %0 %0 %0 3T $T 3T
T 1 0 0 1 4 T 1 0 T 0 0 0 T 4 £ 434
%9¢ 519 $2h $PT %82 $LT 311 %82 $0T $T€ $LT $LT %8 %62 $€€
%9 %9 $8 %€ $L 117 %€ 38 Y %6 %6 25 %07 28 %8 %9
€1 44 ST 5 01 9 [ 01 S 11 9 9 £ 6 Z1 9¢ JayewsuloH
30% %09 %52 %92 %12 %82 36€ %22 %81 %01 $HT %61 %S %22 %0b
%06 %87 3Tb 318 £334 %09 2€L 35 %6b 322 319 3Sb $Lb %96 E3A7 %6b
STt 9Lt bL 9L 09 18 £0T 79 4] 82 0p 9% v 79 LIT 162 paHay
$LS €Y E1 A 26¢C $6¢ %62 %0 s¥T %62 $LS E1 A $HT %0 %6¢ $EV
%z $T 3T 31 $1 %1 %0 $T %2 %€ $2 3T 30 %2 3T 3T
4 € 1 4 z 4 0 T 4 ¥ T T 0 4 € L juspnis
%8% %25 %0€ %22 $S5€ 3€T $€T %6 $92 $G€ 17 $2¢ %0 %22 %25
%S $€ 37 %€ %9 $C $2 $Z 34 %9 32 17 %0 £17 %S 17
11 z1 L 5 8 ¢ £ z 9 g T s 0 g 4 €2 pakojdwaun
$LY %€§ %62 344 $9¢ $1C 812 8€T 391 %92 3€T b2 %S 312 $LE
28 %S %9 %9 $L %9 %9 3¥ %9 %8 %8 3L 3L 3L %S %9
8T 0¢ Tt 6 01 8 8 S L 01 S 6 4 8 [A 8¢ swi Jed
$5€ 369 36€ %92 %22 $LT 821 %81 £ Y44 $2¢ $L 2€2 %9 $€1 %25
30€ $5€ $6¢€ %SE $€€ $SC %91 %0€ $LE $0S %02 $LE $LE $€C $6€ $€€
69 621 0L 2s {44 43 €T SE 44 €9 €1 9% 11 9z v0T 002 sw jind
36€ $T9 %0€ %52 $€2 $€T £ 44 %02 261 $12 3TT 312 %S %61 F3727
1€2 $9¢ 6LT 05T GET 9€T [4as 81T STT 6zt 99 G2t 0¢ STT v9Z 009 aseg
ON saA | +0ci$ | Oci$ G8% S6$ | aJ0jeq ¥0 .0 1oye | epuy3 {uobejed| Xoojp |uosueg| BISIA | felOL
98¢ | -95% -0% |40 /661 |02-866){02-G00Z| 10 800C |/sSlSUSG| B}OUOS eusig
, uibig
| ¢bunesy T8 31vQa NOD 1oi1sIa
pue Jiy [esjuad

siovewsawoy e 1o paes ‘paiojdws ‘pakojdwiaun ‘Juspnis B AjuaLnd oA aiy  :apg ojqel

slaquisiy aAelIadoo) o139913 Keojjea sbuudg snyding jo Aeaung v




yolessay pue saibsejens |9y Aq pasedaid

60€" ) zs¢e” LEO® obg” 100°
89°€2 0b°ST £L°¥T T6°L +000T aienbg Iyo
8z'¢ {88'¢ |ov'e {ov'e |erce |vse |ep'e |sece jo9e |ose |Lze |oste le6'F |oo's |9TT [Lb'E uesiy
%0 %0 %0 3001 %0 30 %001 %0 %0 %001 %0 $00T $00T 20 . %0
%0 %0 %0 $T %0 %0 %0 %0 %0 31 %0 %0 %€ %0 %0 %0
0 0 0 4 0 0 4 0 0 4 0 4 4 0 0 4 Ad
20 %0 $€€ 3€E 3€¢€ 3€€ 3€€ $L9 %0 $€€ 3€E $L9 %001 %0 30
%0 %0 %0 %0 32 %2 %0 3T %0 %0 3T %0 £33 %0 %0 3T
0 0 T 1 T T T Zz 0 T T 4 € 0 0 € 434
$LT $HT 3€€ $€€ %8 %8 3€£8 £337 %8 $Lb 36T 518 $00T %0 %0
30T %9 %S %9 39 %5 %9 20T 35 3¥ %6 %9 216 30 30 %9
9 S Z1 Z1T € € 0¢ 91 £ LT L 62 9€ 0 0 9€ JoyelawoH
%6 %81 $0% EYAS %01 30T %08 %02 $TT %69 31T %68 %0 3001 30
3Zh %29 %6¥ $9% %55 $8b 38b %8¢ $€§ $2S 36E %05 30 %007 %0 %6%
ST 43 STT z6 82 0g (X%4 6G 43 002 1€ 862 0 162 0 162 paijay
20 %62 $HT £3%4 %0 3EY $LS $LS %62 $71 %0 3001 $00T %0 30
30 EY4 %0 3T %0 %S 5T %€ 8¢ %0 %0 $T $0T %0 %0 31
0 4 T € 0 € 4 4 Z T 0 L L 0 0 L juspms
17 %0 %S¢ %2§ 37 SET %€8 $G€ %6 $LS %22 $8L $00T %0 %0
%2 %0 $€ %9 %2 E1] 14 %S %€ %€ 39 %€ $2¢€ %0 %0 17
1 0 g zt 1 £ 6T 8 z €1 s 81 €2 0 0 €2 pakojdwaun
3€T %8 Y44 $vE 311 31T 6L %92 28 %99 31T %68 %0 %0 2001
%8 3 3L %9 %8 %9 %9 %9 %5 3L %S 3L %0 %0 %91 %9
S € 9T €1 i |2 0¢ 0T £ 14 |2 i3 0 0 8¢ 8¢ auul) Jed
%271 31T $Tv s€€ $L $0T 378 362 %6 3£9 %91 $¥8 %0 %0 %007
38€ %92 3G¢ $€€ %12 30€ $hE SLE $0€ $€€ 36€ $2¢ %0 %0 %78 3€€
£€C 144 18 99 A 6T L9T LS 8T S2t 1€ L91 0 0 002 002 awl} jind
$0T EY A $6€ $¥E %6 $TT 318 $92 30T %79 3€T 398 32T %67 20b
09 V8 pee 102 15 €9 98k 951 09 v8¢ 6L LTS L 162 8¢e 009 aseg
POOMA C] seb Yeay |MQ/pun| ued | ues] MA/PUM| ues] | ues |snessip| pisieg | JAYQ |pamey | awh lejoi
uedold | jeanjeN | o093 /eing | /piing /eing | /ppng 0 IMS+A pedying
JON JION fennaN

Zawoy nok 8JOASY aun pling 4iing g sun pjnoys O3ANSS snje)s Juawhojdwiy

jeay nok Aem Arewnud ay} st JeUM UyIm uonoejsijes

Jioewswoy e o paines ‘pahojdws ‘pafojdwaun ‘Juspnis e Apusiund nohk aly 247 siqeL

staquispy aaesadoos su3o9)3 AsjjeA sbuudg anyding jo Asning v



yoleasay pue salbajens |gd Aq patedald

100" 0Z1° 100° 850" 90¢& "

LLZ9 01°0T +0001 16°12 9T L asenbg 1Yo
98°T [0%'T |6€°T |[se'T (65T |os'T |vs'T |80°Ss |o00'z |00°T |op'T [6ép°T |€S°T (6T [29°T |IS'T uesw
298 %0 30 %0 svT 3EP $LS $00T %0 30 EI A %€ 3bT %62 $TL
%S %0 %0 %0 $1 51 s€ SV %0 %0 %0 5T $T $T %2 3T
9 0 0 0 1 £ b L 0 0 1 £ 1 z S L p[e]

| $EL %6 %0 %87 %0 %28 %87 3001 20 %0 %9€ 2.2 %6 39¢ 379
$L 31 %0 3T %0 %2 %2 $22 %0 %0 32 5T 5T 5T %2 32
8 T 0 z 0 6 4 11T 0 0 4 £ T 14 L 11 434
%0 %92 %92 %5 £Y44 %8 39T $00T %0 %0 %2h $Lb 31T %92 3L
%0 14 sb 51 %8 33 LY A $LE 20 30 %€ %5 $2 %2 %S %€
0 S S T 8 91 £ 61 0 0 8 6 4 S {28 61 JB8UlO
$62 $HT $HT 362 $bT %001 %0 %001 %0 %0 %62 $62 $62 $LS £137
%2 %1 31 51T $T 31 %0 YA %0 30 3T $T $2 $1 3T 3T
4 T T 4 1 L 0 L 0 0 4 z 4 4 € L ueisy
| %0 %62 %62 262 $¥T %007 %0 $00T 20 %0 $EY $HT £ £237 $LS d
%0 X4 L ¥4 $T %1 $1 %20 2% %0 %0 $1 30 3T 31 31 $T diuedsiH-uou
0 4 4 4 T L 0 L 0 0 £ T £ € {4 L Xoeig
36T %02 38T $LT $12C $SL 124 %0 %001 30 $0€ $€€ $hE s6b 306
3€T %51 357 %81 $6T $GT %87 %0 %001 30 LA $bT $LZ 391 39T %91
ja 61 LT 9z 02 ZL £C 0 96 0 62 43 £€ Ly 8% 96 oupe puedsiy
381 $22 %61 37T $LT 36L %12 %0 %0 $00T £344 %8¢ ETA %25 $8% d
3€L $8L $8L 3LL $TL $9L $5L %0 20 $00T | 318 $LL $59 28L s€L 391 dluedsiH-uou
18 00T 88 60T SL 8s¢e S6 0 0 €Sk 102 TLT 6L [2%4 612 £G¥ AlUM
36T $TZ | 361 E37%4 $8T %61 $1C %6 %91 9L $Th $LE %02 %0S $0G
111 8zl €11 4 90T LY LZT 18 96 £5F 8k¢ 122 12t 662 00€ 009 aseg
1a HAGL  DISLMOGII0GHGE| AST N A [euolly] dsiH d +G9 | voGy | 8L |ojewad| SeiN | |Ejol
Jspun SIH-uou
SUYM
¢.59Xe} a10}8q g00Z 10} SWodUl ealy Ayoluy)g ra0ey oby Japuan)
ployasnoy ajewixoidde Inok sem Jeypn uib|g ejiouog
eiuobejed

| Aoy eoey gz ojgel

siaquIapy aAneladoo Uyl AsjjeA sBuudg anyding jo Aeaing v




yoleasay pue saibajens gy Aq paledald

90T 618" 6LS" 502"

Ly 0T 9¢°11 02°91 b 62 asenbg 1Yo
$S°T |9%°'T [0B°T |9%9°T |®p°T [98°T |eo't |ev't |seT |®b'T |2v°T |SS'T |LeT |zp'T {9s'1T |1I5°1 uesiy
s€h %€h %62 362 %62 $HT %62 %0 %0 $bT %0 $LS %0 $bT 362
51 $T $1 3T 31 $T $1 %0 %0 3T %0 %€ %0 $T $T 31
€ £ z Z 4 T 4 0 0 T 0 4 0 T 4 L XA
256 $0€ %81 $9€ %6 %9¢€ 29¢ £8T %6 %81 %0 $9T %0 %81 %59
2€ $1 31 s 51 ¢ € %7 3T £%4 %0 Y %0 $2 3£ $2
9 4 4 id 1 |2 |2 4 1 Z 0 4 0 z L 11 434
$1¢ 36L §12 $z¢ 512 $92 $z¢ %92 $2€ %5 $12 29T %5 $12 sLE
$2Z 3p %2 3b € 3y $b Y 35 $T %9 %2 %€ 3¢ 3€ 3¢
4 ST |4 9 4 S 9 S 9 1 |2 € T 2 L 61 184l
$E $LS %0 $LS $71 %62 $EV $HT %62 $HT %0 %0 %0 35T $98
3T 31 %0 $€ 3T $T %z $T %2 3T %0 %0 %0 $T %7 51
€ ¥ 0 v 1 z € 1 4 1 0 0 0 I 9 L ueisy
%62 $TL $H1T %62 262 %62 $6¢ %0 $hT $LS %0 %0 %0 %0 300T g
37T $1 37 $1 3T &1 $T %0 $1T %€ %0 %0 %0 %0 %€ $T dluedsiH-uou
4 S T 4 4 4 Z 0 1 |2 0 0 0 0 L L Xoelg
36% 205 $€E $5¢ 312 312 322 26T %917 252 3€T 2b2 $L $HT $€Y
%02 3¢1 $8T %91 25T $6T 357 $GT $€T 26T 391 381 %€z 31T 291 %91
Ly 8¥ (43 134 0z 0z 44 81 St ve 45 £z L €T 147 96 oupeT iuedsiy
$LE $€9 %0€ $52 $€2 $€C s€7 %02 %02 %02 $TT 312 $G 312 3€h v 4
szL %8L SLL szL $8L $5L 3€L %82 $8¢ $hL $9L SVL $eL 328 €L 39L olledsiH-uou
991 982 8€T 801 SOT Z01 POT z6 06 z6 0§ €6 [44 6 v6T €5t BJIUM
26€ $T9 $0¢ %52 3£z $€2 244 %02 %61 312 $T1T 312 %S %61 $bY
1€£2 G9¢ 6L 0ST GET 9¢€T 4 81T SIT SZt 99 SZT o€ STt v9¢ 009 aseq

ON | SaA | +0€i$ | oci$ | <83 | G5 |=iojed | +0 20 | foye [ epujig |uobejed| XOO)MA [uosusg | EISIA | [ejoL
-98% | -95% -0% [40 /661 |0C-8661(0C-G00Z|40 800C |/S9MUSUS | BJiOU0S euaIS
VLE]
¢bugesy Tg 31vad NOO 101d1S81d
pue Jiy [enue)

Ayowuyy3 /e0ey 1952 Alqel

siaquio aAnesadoos a393s1g AsjjeA sbuuds anyding jo Asang 'y




yoieasay pue saibsieis |9y Aq uwhmmw._n_

90G” 962" z9¢" 89T " 100"

GZTLT - 80°pT 0T°€1 60°6 8% " LE asenbg Iyo
09°T |ev'T |91 |est |eecr |esr w1 |evcT |€9°T |6v°T |89°T |uv'T |26'T |T¥T [0ST |IS°T uesiy
362 %0 $hT E3%7 %0 %62 $TL 20 %62 $IL $62 STL $LS $HT %62
%€ %0 $0 3T %0 %€ 3T %0 %€ 3T %€ $T %9 %0 3T 3T
4 0 T € 0 4 S 0 Z S 4 S 4 T z L . [a]
%6 38T %9¢ $L2 %6 %9¢€ 35§ %55 30 £134 $9€ %56 $9¢ $LZ $9¢€
32 32 %2 3T 32 %9 3T EY 20 ST %5 3T %9 3T 32 E¥4
T Z {4 [ T |2 9 9 0 S {4 9 {4 € 2 11 434
31T $91 32¢ 3LE %G %91 $6L 29T %91 %89 $1T %68 $TT %89 312
%€ 17 3£ 3€ $2 %5 $€ 32 %5 3¢ $€ %€ 3¢ 17 $2 %€
4 € 9 L 1 € ST € € €1 z LT z €1 i 61 JBY10
30 $0 %98 2HT $HT %0 298 %62 $HT $LS $HT %98 E1 A $€p 3EY
30 %0 3¢ %0 32 %0 3T 31 %2 31 31 3T $T 3T 3T $1
0 0 9 T 1 0 9 4 T |2 T 9 T £ £ L uelsy
%0 %0 %62 $TL %0 $HT 298 EI%% 30 $LS 30 %001 %0 3€Y $LS d
%0 %0 $T %2z %0 $2 T %2 %0 3T %0 8T 20 51 32z 3T dlueds|H-uou
0 0 4 S 0 T 9 € 0 |4 0 L 0 £ i L Xoe|g
$TT 361 $9¢ $HE $L %6 $€8 EY7%4 31T %59 31T %88 30T E123 36§
$8T $LT 3ST 29T $HT $HT %91 36T 38T 291 3BT 29T $HT 31T %22 %97
1T jas sg £e L 6 08 £z 1T 29 11T 78 01 €e €5 96 oue /ouedsiy
30T $HT %07 $€€ %6 %07 318 %92 %6 %59 $€1 $L8 31T %26 3LE "
3€L $LL $LL sbL | 308 $0L %92 $9L $2L %9L %5L $9L $0L 318 3TL $9L dluedsiH-uou
4 S9 jost 60T 1b b 89¢ 611 £F 162 65 Z6€ 0§ 4 891 £6¥ SIUM
30T 3pT 36 $hE %6 $TT 318 %92 $0T $%9 3€T %98 $ZT %6% 30%

09 v8 vET 102 16 €9 98% 96T 09 X1 6L LIS TL 162 g€ 009 aseg
POOM e seb jeay MA/pun| uea | uea [MA/Pun| uesT | ues |suessip| pjsiyes | JBuIQ |paigeY | swh ejol
uedold | [esnjeN | ouo9|3 /ming | /piing /ping | /piing 10 IMS+A Hedying
1OoN JoN jennaN
¢awoy nok 9joAsYy 8ulq piing éling oq aur pjhoyg O3ASS smejs Juswiodwgy
jeay noA Aem Arewsud ay si Jeup yum uoloejsies

Aouyig /eoey 96T dlgel

siaquialy aAnesadoo o130913 AsjjeA sbundg anyding jo AaAing v




yolessay pue saibsjens |gy Aq paiedald

100° 8FL" 980" TOL" 100°
£€8°02 01°0 Z6° % L0 00°66S arenbg 1yo
061 61T SP°T 0S°T 89°1 0T 16°1T ge'1 6% T ST 67T ST 8F°T 00°2 00°T 05T uesin
26T $LT $LT $€2 324 $8L %22 %9 %91 $8L %0¥ $8€ 26T $00T %0
206 $6€ 35 306G $89 %06 316 3S€E 36b %28 36% %26 %8% $00T 20 20§
95 0S 19 0L ZL vee 59 81 Ly rEZ 121 STT 85 662 0 662 sjewsd
%81 %92 $1¢ L34 31T 36L $12 31T %91 $EL EY4 3GE $12 %0 $00T N
%06 319 356 305 %2¢ 306 367 259 3TS 38b 318 38b 328 %0 3001 $0S
Sg 8L z9 TL vE 8€C Z9 €€ 8¥ 612 LZT 901 £9 0 00€ 00¢€ SjeN
$6T 312 261 144 $8T %6L 372 %6 %91 $9L 21b $LE %02 306 %05
11T 821 €11 ThT 90T ZLY LZT 15 G6 £5b 8bz 122 TZT | 662 00€ 665 sseg
a4 HASL PISLMOGIN0SANST| N6Z N A [Buyojly| dsiH d +59 | ¥9-GP | vp-QL [dewsd | SleN | [ejol
. Jepun SIH-UoU
SYM
¢ Saxe] ai0jaq g0z 10} Swooul eany Apoiuy)g /o0ey aby 19pusn)
pioyasnoy sjeulixoidde snok sem jeupn uiB|3 ejouog
ejuobejed

Jspueo :ggalqel

slaquialy aAnesadoos auydalg AsjleA sbuudg anyding jo Aaaing v




yoseasay pue salbajens 19 Aq pasedaid

L10" z06° z0e” L08"

TL°§ 8570 z9'p 19°1 asenbg 1yo
96" 1 9% 1 1671 6V°T 8y T 51 LS°T Ly T vhT 6% 1T €571 1671 ov' T 1S°T 67T 0s°1 uesiy
£33 296 $0€ £124 %22 $ve $L2 26T $LT 302 %21 312 £34 %61 £15%7
%96 %9% %15 %67 %87 $2S $LS $LY £12%4 36F $€S 31§ $0b 31§ £1:14 %06
621 89T 06 gL S9 TL 18 95 18 19 SE 79 4 8§ 0€T 662 sjeway
$HE %99 $6¢ %9C $€C $2¢ 20¢ 21¢ 31T $12 $0T %02 %9 $6T E134
£44 $hs 36% 315 %S $8% EX4 4 $€S %95 %15 LY 360 $09 267 31§ %06
10T L6T 88 LL oL 59 19 |29 ¥9 €9 1€ 19 81 95 veT 00€ ofeiN
%8¢ 319 $0€ %52 $€T E1%4 $¥C %02 26T 312 $1T %12 %S 26T £127
0€£T S9¢ 8L 0ST GeT 9€T 4a 811 STT (24 99 szt o€ PTT ¥92 665 aseg

ON seA [ +0€L$ | OELS 58% G6¢ | aiojeq ¥0 20 Jsye | epuyi3 [uobejed| xoojiAp [uosuag| eisip | [elof
-98% | -9G% -0$ |40 /661 |02-866)|02-G00Z| 10 800T |/s8UsUG| ellouog | elsis
ulbig
¢bunesy 71g 31va NOO 10141s81d

pue Jiy [enus)

Jopusg qgg olqet

siaquisy aapeladoo olyosig AojjeA sbBulidg anyding jo faaing v




yoleasay pue seibejeils 19y Ag paledald

GeL” GZ0° £V0° 902" €00°
82°1 1%L 1£°9 09°T by IT asenbg 1Yo
6v°T |6%°T les'T o1 [so't |s8s't |eb'T fesT [€9°T {cvcT |evoT [TST {89°T [o0s'T |SsP'T |OS'T uespy
30T $HT EI84 32¢ $1T LYAS SLL $LZ 3€T %09 $TT 388 39T .| $8b 3¢
367 %60 $€S $LY $59 %8G LY $€9 $€9 $LY $EY 316 %89 308 E147 %0G
62 184 £21 S6 €€ 9¢ 0£2 Z8 8¢ 6LT 43 292 8% SPT 901 662 sjewis]
30T 3BT $LE $GE %9 %6 268 352 %L $89 36T %58 %8 $6¥ £347
$16 318 SLY $€8 3¢ CYA 4 2€6 $LY $LE 3€§ $LS 36% $2¢ %08 %8S %0S
0€ %4 T1T 901 81 92 962 bL 44 v02C S¥ 4 X4 951 16T 00€ SjeN
$0T $hT 26€ SbE %6 30T 318 %92 %01 %49 $€T %98 %21 %60 %0%
65 78 FET 102 18 Z9 98¥ 96T 09 €8¢ 6L LIS IL 16¢ LEZ 665 aseg
POOM 9 seb jeay MQ/pun| ueea | ues |MQ/pPun| ues] | uee] spessip| pjsneg | JBYIQ | paiey | swh lejot
uedold | jesnjeN | o083 /ping | /piing /eing | /ping 0 [MS+A pedqing
10N JION lesjneN

¢awoy anok 9JOASY 3ul pling élling 8q suii pjnoys O3NSS snje)s juswdiojdwg

jeay nok Aem Arewd ay) si Jeupp ypm uoloejsijes

Jopuss 297 9|qel.

staquisiy aApeIadoo s13os|3 AsjjeA sbuuds anyding Jo AsAing v




yoleasay pue salbajens gy Aq pasedald

zo% 100" €€9° S00° 8bL"
€0 ¥ 00°665 1670 99°0T 010 asenbg 1Yo
LLT €L T 1871 1871 281 00°2 00T Z8°1 9L T 6L°T 081 €Lt 88°1 8Lt 6L°T 6L°T ueay
%81 %02 26T L3174 %81 $00T %0 %6 %ST 39L $2h £123 $22 30§ %0S
SLL $€L 318 318 %28 $00T %0 %8 39L 6L %08 $EL $88 $8L 26L $6L
68 ¥6 43 V1T L8 ZLy 0 47 ZL 85¢ 66T 191 901 vee 8€2 LY N
202 $LZ LT $1C $ST %0 3007 $L 28T $SL 36€ LY %21 3TS 36%
3€2 $LT %61 %61 %81 %0 %007 38T $b2 31T %02 $L2 321 %22 31T 312
9z Ve 12 LZ 67 0 LZT 6 €2 S6 6% 09 ST S9 29 LZT A
36T 512 36T £33 $81 36L 312 %6 %91 %94, $Ib $LE 302 %06 %06
TTT 821 €11 ThT 90T Ly LTI 15 56 £5p 8vZ 122 121 662 00€ 665 aseg
»a PAGL PISIA0G M0SMST| AST N A [Jsyoypy| dsiH d +G9 | ¥9-S¥ | 8L |Slewsd | SN | [ej0L
Jepun | SIH-UoU
SHUM
¢Saxe} a10jaq @O0z 10} SWiooul ealy Apoiuylg jaoey oby 19puan
ployssnoy ajewixoidde JnoA sem Jeupy uib|3 eyouog
ejuobejey

ealy wib|3 eyouog eluobejed :2z s|qel

sIoquIaiN aapesadoos oujaeig AsjjeA sbuudg anyding jo Asning v




yolteasay pue salbajelig 19y Aq pasedald

180" 8€0" S8T" 100"

26°2 £v°8 8% 86°GLS asenbsg Yo
.°1 18T [Tt ezt lzs't jza't |[wet lze't loest |se'1 |ootz |10t |00z {61 |00z |6L°1 uespy
$LE $€9 $LT %92 $h2 $v2 %82 362 3€2 %92 SPT %0 %9 144 %95
%SL 518 STL 328 328 %28 36 %26 %96 %86 $00T 5T %001 $L6 %00T $6L
£LT 962 LT £21 11t 111 £t 80T 01T 121 99 1 o€ 111 ¥92 LY
2G¥ 595 30% 512 36T %02 %L 38 %% E¥ 20 %86 %0 %2 %0
%52 %61 $6¢ %8T $81 %81 %9 38 $b %2 %0 %66 %0 %€ %0 512
LS 69 1S LZ ve 4 |6 01 S £ 0 vzl 0 3 0 LZT
%8¢ 319 $0€ %62 $€2 $€C 352 502 %61 312 511 $12 26 36T Y47
0£Z 59¢ 8LT 0ST GET 9¢T 48 81T STT vZT 39 szt 0g jans ¥9Z 665 osed

ON S8A | +0ci$ | OEL$ G8% GG | aJojeg $0 L0 Jeye | epuji3 |uobejed| xoojipA |uosuag| EISIA | [BlOL
-98% | -95% -0$ |10 /661 |02-8661|02-G00Z|10 800 |/selsug| enouog eusIg
uib3
¢bunesy e 31vA NOD 1om1SIa

pue Iy [enus)

eaJy ulb|3 eyiouos euobejed :q/g olqel

sioquiepy aaleiadoos o1309lg KajjeA sBunds anyding jo Aeaing v




yoseasay pue saibajens gy Aq pesedaid

100" 100" 100" T00" 10S"
£€°2§ 6% 82 £0°¥2 88°G1 8€°T alenbg yo
16°T tte't |te't Joct fesT |estt |tet |oer |zor |eect [zorT {est losr o8 T |9LT |eL'T ueaiN
%9 3€T $S¥ EY4S %01 3L $€8 30€ %8 329 %01 $68 $2T %05 %8¢
$TS $TL 516 $9L %88 $£5 518 %06 %29 SLL %29 $28 %08 %08 39L 36L ;
0g 09 4 2st SP €€ v6E 1A LE v62 6% zTh LS vET 181 2Ly N
$£2 %61 $LT 26¢ 26 $€2 $TL 52T %81 $0L $v2 $GL $TT %S¥ £127
%60 %62 %6 £ 24 $2t 3Ly %61 $0T %8¢ 3€2 $8¢ %81 %02 %02 L1144 512 v
62 ve 12 6% 9 62 Z6 ST £2 68 o€ $6 s LS 96 L21 A
%0T 3BT $6¢€ $¥E %6 %01 518 $92 %01 $b9 $€T %98 CTA 36% %0¥
6S 4 vET 102 15 29 98¥ 96T 09 £8¢ 6L LIS 1L 162 LET 665 aseg
POOAA i seb jeay |Ma/pun| ues] | uesT |M@/pun| uesT | ues |[snessip| pjsnes | JBUIO | paiey | ewl | [ejol
uedold | |esnjen | ouo8l /piing | /ping /eing | /ping B IMS+A pedfing
1ON JON |elnaN

¢awoy inok 9]J0A3Y 8ul piing éling 8q aur pinoyg O3NSS snyejs Juswikojdwy

Jeay noA Aem Aiewnid ay) si Jeupn UM uoljoejsiies

eaJy. uibj3 eyouog eluobeed 97z siqel

siaquiapy aanesadoon oudelg AsjjeA sbuudg Jnyding jo Aealng v




yoseasay pue saibajens |9y Aq pasedaid

9€6" 8€0 " pLE" 060" 206"

Z6°01 : £V 8 9% "9 ¥6°0T 860 aienbg 4o
v9° 2 SL°Z 29°2 £9°2 e 962 z8°¢ f3i 4 L2 29°¢2 9y "2 Lz 6L°2 19°¢ €9°¢ 29°¢ uespy
$12 %22 %02 %52 %21 $TL %82 %S %81 $LL $pE EYA 4 $€2 %08 %6¥
$€€ 31€E 32€E 3TE 312 $LT $0F 38T 3€€ $0€ 344 £372% $vE $0¢€ %62 30¢
LE oy 9¢ jid’4 44 LZT 15 6 43 8cT 09 9L 157 06 88 6LT +0€L

| 35T %52 SLT 352 38T %28 38T 321 %97 $2L 32k 3GE 312 367 %15
| 312 30€ $€T 362 362 %92 312 $5€ %52 $he %62 $b2 %92 E3 x4 %9¢C %52
€z 8¢ 9¢ 9¢€ LT €21 Lz 8T vz 80T €9 €S 143 €L LL 0ST o€l -98
36T 312 $LT $1¢ $£2 328 38T SL 36T %8L 82k 36€ 312 38% 326
3€2 322 %02 30T %62 EY4 36T %02 312 3€2 $€2 $1¢ E3 %A %22 $€T $€2
¥4 82 £2 82 1€ 11 24 01 02 S0T LS LY 62 S9 0L SET 68-99
36T %91 312 352 36T %28 $87T $0T 36T $GL 20§ $€g $%T %25 $8%
$€T $LT $6¢ 372 %52 %2 302 3LZ 312 3€¢ $LT %02 39T e A EYA4 3€2
92 (44 82 ve 92 TIT §Z ja 0z 20T 89 S¥ 61 1L 59 9¢T G6G-0
36T 312 36T E37%4 %81 %61 $TC %6 %91 29L $1h 3LE $0Z %06 %06
I1T 821 €11 Zh1 90T Ly Lzt 1S 96 £6b 8vZ 122 12t 662 00¢ 009 aseg
AQ HASL  PISLM0GI0SMGE| AGC N A |@woqv| dsiH d +G9 | ¥9Sk | vv8lL |Sewsd| S|y | |ejoL
lapun SIH-uou
SJIUM
¢ SOXe} a10}aq g00Z 10} swoou! Baly Ruouyyg /o0ey aby 1opua)
ployasnoy ajewixosdde JnoA sem Jeypn uib|3 epouog
eluobejey

T8 ‘8 sigel

siaquuisiy aapesadoos Lol AsjieA sbundg Jnyding jo Asaing v




yoleasay pue saibajens igy Aq paledaid

28 100° 8¢’ 800~

LT +000T GL 1T £€L°92 aienbg yo
85°¢ 6972 00°F 00°€ 00°2 00°T §9°2 €L 2 LS'2 8€°¢ L9°2 8L°Z 06°2 15°¢ 567 ¢ 29°2 uesiy
26E 319 $00T %0 %0 %0 312 3€£Z %61 %91 %21 $LZ %8 38T 35€
30€ %0¢ $00T 30 %0 %0 %92 $S€E $0€ $€2 $2¢ 26€ 306 382 3€£T $0€
69 60T 6LT 0 0 0 LE 1F vE 6C 12 6% ST 43 z9 6LT +0EL
$5€ %59 30 $00T %0 %0 31€ 361 $LT %61 31T $LT %€ %02 %67
%£2 $LZ %0 3001 %0 %0 EY4S E1 24 %22 %22 £344 312 $€T %92 %8¢ [144
4] 86 0 0S1 0 0 9p 82 14 8¢ 91 9z 4 0g vL 0ST 0cl -98
307 %65 %0 %0 %001 %0 F124 36T 312 322 $11 38T | 8¢ 3T %66
$€Z $22 %0 %0 %001 30 3€2 312 £324 L3174 $€2 $6T $€T %97 %82 $€2
i3 08 0 0 GET 0 43 sz 82 0€ ST 24 2 8T bL SET g8-9S
3TF $LS 30 %0 %0 3001 %02 38T $12 %8¢ 30T 26T %5 %92 $0%

E X4 $1Z %0 30 30 %001 361 %02 vz 30€ 312 312 3€2 %0€ 30¢ $€T
9g 8L 0 0 0 9€T LZ x4 82 8¢ A 9z L Gg i 9¢1 G6G-0
36€ $19 %0€ 35T $€C %€2 EY 24 %02 36T 312 $TT 31T 1S 36T £347
1€2 G9¢€ 6LT 0ST SET 9¢T At 81T STT Szt 99 4 o€ STT v9Z 009 aseg
ON ssA | +0ci$ | O€L$ 58% G6$ | ai0jeq 0 10 Joye | epuy3 |uoBejed| xoop [uosusg| elsIA | [ejoL
-98% | -9s% -0$ |40 /661 {0C-8661{0C-G00Z|10 800C |/sdYsSug| ejouos BURIS
LLE]
¢bunesy g 31va NOD 1old1sia
pue iy [eaua)

g ‘agcejgel

si1aquiapy aapeledoo) ou3oeig Aajjep sbuudsg inyding jo Asaing v




yosessay pue saibajens [gy Aq pasedaid

100" S62° 859" 90€" T€0"

90" kS 62 L A3 29°¢ 78 €1 alenbg 1Yo
08z |09°z |te'z |wve'z |ecz |€9°z |®¥9'z |so'z |ss'z {zocz |sLz |09tz [89'z |ev'z lorz |z9°2 uesiN
32T $€T 312 $TS %9 $TT 3%8 $LZ %6 %59 $LT 3¢8 %€T 3Th 3SY
35€E $LZ %91 E14 %02 $0€ $TE $TE $LZ %0€ %8¢ %62 $FE $5C 3HE $0€
12 £€C g€ 16 01 61 0ST 8% 91 STT 0€ 8FT Ve pL 18 6LT +0¢l
%6 $LT 30¥% %62 %6 $€T %8L 3he 311 %59 $ET $L8 %6 316 $Tv
3€2 30€ %$9¢ %22 $LT $0€ £124 $£T %82 %52 sbe %52 38T %92 39¢ 252
a8 14 09 idid 2 61 LTT 9¢ LT L6 61 1€t €T 9L 19 0stT 0cl -98
31 31T $€6 312 $0T 29 3v8 31€ %8 319 %01 306 %91 £347 $0%

%82 $8T $1€E 3HT 352 3€T €T $LZ 38T 312 $91 e x4 %0€ 312 3€2 3€2
LT ST ZL 82 €1 8 vt 4 11 4] €1 44 12 09 i SET G8-9S
%9 36T $LY 382 30T $€71 $LL %22 32T %99 $€T %68 $0T %09 $1€
3€T %52 $LZ 36T $LZ $LZ $22 %61 $LT $€T %22 %22 %871 %82 28T %€2
8 12 ¥9 8¢ 2 LI 50T o€ 91 06 LT 91T €1 18 44 9cT Gs-0
$0T $HT $6€ $hE %6 $TT $18 $92 30T $¥9 3€T %98 32T 260 20%
09 V8 vET 102 18 €9 98% 961 09 v8E 6L LIS TL 162 8€C 009 aseg
POOM & | seb Jeay |Mqa/un| ues] | uea] MQ/Pun| ues | ueeT [shessipi piSHeS | JeyiQ | PaIeY | swh L2
uedold | fenjeN | oMo8I3 /ping | /ping /ping | /piing 0 IMS+A pedfing
10N 1ON [elinsN

¢awoy Jnok 2J0ATY aulf piing éling eq suli pipoys O3NSS snje)s awiojdwiy

jeay noA Aem Arewud auj si Jeupp YIM uonoejsiies

g 08c 3lqgel

siIoquisiy aAljesadoon suydelg AsjieA sbuudg anyding jo Asning v



yoseasay pue saibsrens |gy Aq pasedaid

£70" 100" 6Eh " Z00° L08"
¥8°92 85°5LS b6 L 9L b2 19°1 aienbg 4o
Le"z 81T 8c°2 1€°2 65°2 €671 S6°¢ ¥0°2 0§°2 9€°2 Sh-e A £€8°T [:Jahr 4 ge°2 92 uesiy
3LT %6 $€2 LY A4 $LZ %007 %0 %9 %87 $9L %28 $8€ 28 3€6 SLY
$0T %5 3€T 31T $LT $HT %0 %8 $€1 31T $HT $TT L1 %21 %07 31T
1T 9 ST 9T 81 99 0 i4 48 0s Ve 62 S Sg 1€ 99 epujj3/ssysung
%12 $LT SLT %02 26T 3T %66 3L 281 E3 78 38¢ SLY %21 31§ %6¥ B
$€2T %LZ %671 %871 28T %0 %86 %81 $b2C $1¢ %61 %LZ $z1 312 %02 31z ElUODE)E]
9z 23 12 sz 61 T 24 6 £2 €6 8b 6S ST 79 19 G2t eyouog uibjg
$LT SLT $€T %02 3€T 3001 %0 %€ $€2 $€L 308 $LT 3€2 30¥ %09
%S £14 %9 Y4 5L $9 %0 %z $L 25 39 %% %9 17 %9 35
S S L 9 L o€ 0 T L (44 ST 8 L Z1 81 0€ X0
$LT $€T $LT $0€ 3514 %16 %€ $L 311 %28 3€Y $LE 36T 206 %67
$8T CTAN $LT 144 252 L3724 E34 29T $HT %12 %02 36T 38T 36T 36T %61
0z ST 61 Sg 9z - T1T € 8 £1 v6 6% 44 44 8s 95 STT uosuag
%61 %92 36T $€2 3P 3001 %0 $TT %91 €L $6€ s€¢ $LZ %67 $1S
Y44 3€6 %6% $2% $ve %95 %0 $LS $€¥ £33 $Tb 36€ %09 3€h %% £33
6% 89 18 09 9€ v9¢ 0 62 184 B6T Z0T L8 ZL 0€T vET 792 EISIA BURIG
36T %12 %61 )24 %81 $6L $12 %6 %91 $9L F347 SLE %02 %05 %05
17T 821 £TT 4" 90T LY LZ1 15 96 €5k 8z 122 121 662 00€ 009 oseg
xa HGL PSS |M0SMGE| NSZ N A [0 jiy| dsiH d +G9 | ¥9Gy | v-8L |dewieg| Sfe | [ejoL
Jepun SIH-uou
SYM
£.S9Xe} 210J2q g00Z 10} SWIooUl ealy Roluyg /e0ey aby lspusgy
ployssnoy ajeulixoidde JnoA sem Jeupy uib|3 epouos
ejuobejed -

10o1d1sia -6z aigel

siaquisiy aApesadoos o1yo9|g A9jeA sbunds inyding jo Aaaing v




yoleasay pue saibsjens |9y Aq pasedaid

€52” 800" LET® 100"
9e° g £L°92 SE°LT +000T asenbg 1Yo
165°¢ 9z°2 v9°2 0z'2 L1z s€°z FAANA 922 06°1T LT 00°§ 00°% 00°¢€ 00°2 0071 9€°2 uesiy
CYA S %86 EYAS E3 %4 $€2 312 €€ %62 $£2 36T $00T %0 %0 30 30
221 $0T %21 STT 311 %07 361 %91 %€ %8 3001 %0 %0 %0 %0 311
82 8¢ 12 31 ST jas zZ 61 ST 01 99 0 0 0 0 99 eply|3/saysung
$9% 3€G 36E 31¢ 36T $1¢ %8 %8 $€ %2 %0 %001 %0 %0 $0 6
857 287 sL2 $LT %81 $61 3L %8 %€ 32 20 $00T | %0 %0 %0 312 eluoveled
8S 99 6b 92 &4 9z 0T 01 4 € 0 SZT 0 0 0 T4 ejouog ulbj3
$LE $€9 %05 $€T1 3€T 3€2 $LE $LZ 20T $LZ %0 %0 $00T %0 %0
%S %S %8 %€ $€ %S %8 $L %€ %9 %0 %0 $00T %0 %0 %S
T 61 ST id 4 L 11 8 € 8 0 0 0€ 0 0 0€ XOOM
$9€ %€9 %8¢ %92 %97 $0€ 367 $€T 2€2 $€2 30 50 %0 3001 %0
38T %02 %81 %02 s€T %92 $€C 3€T $€T %22 %0 20 %0 %001 30 36T
1574 ZL 43 0€ 81 GE €€ Lz 9z L2 0 0 0 STt 0 STT uosuag
3G€ 2b9 3€2 $82 $8¢ %02 %52 %02 $SC 362 %0 30 %0 %0 $00T
$0% LY $5€ %60 %55 $0% %9% %9% %8S 329 %0 %0 %0 %0 %001 £324 :
£6 OLT 29 vL pL vS 99 [ L9 LL 0 0 0 0 v9Z 792 BJSIA BUBIG
36€ 319 $0€ 36T $€£2 %€C 324 %02 361 312 $TT 312 %S 36T 13727
1€2 S9¢ 6LT 0ST SET 9€T [4a 811 STT SZI 99 S2L 0g STT ¥92 009 oseg
ON saA | +0€1$ | OEL$ 683 GG$ | =J0jeq ¥0 10 jaye | epujig |uobejed| xooppn [uosusg| EISIA | [ejoL
-98% | -95% -0$ [Jo /661 [02-8661|02-5002}40 800C [/sSysug| ellouog BlRIg
L]
tbunesy THg 3ivQa NOD 1o1d1sia
pue Jy enuan

1OI41SIg ‘g6¢ 8iqel

sisquisiy aanesadoo o393 AsjjeA sbunds anyding jo Aaaing v




yoseasay pue salbajens igy £Aq paledsid

100" 100" 100° T00° 760"
86°16 L6°LZ 1€°LZ b v 9G6°€T asenbg 140

8h € 6L°2 08°1T 672 1€°2 v6°2 62°2 zz°C £L°2 Ge°¢ Lz {24 LE°2 474 5272 92 uespy
%81 202 24 $G€ $21 %6 26L $9¢ %6 %66 $€ 3L6 %21 $19 $L2

202 36T %L $TT 391 $0T 31T %61 %01 %6 $€ 321 $TT $bT %8 31T

4 £1 91 £z 8 9 4 24 9 9¢ z 79 8 0b 8T 99 eplyjja/saysung
%€2 %87 28T $8€ %9 %22 $2L ETA $8T $0L $G2 | sbL 311 $Sb F1727% 6

%87 $LT %6 $€£T SvT 344 %61 %01 %8¢ 3€2 36¢ 281 302 36T EX%4 312 eluobejed
62 £2 44 LY L 8z 06 ST (%4 L8 1€ z6 VT 9s SS 1A ejiouog uibig
%07 3€T $€€ %0% %L $€ %06 3E€ 3¢ 3€9 $0T $06 30T SLY 3ch

%S %5 174 %9 %7 $2 %9 %9 X4 $S £1 7 %S £%4 %S %S %S

€ |4 01 4 4 T LT 01 1 6T € LT € a8 €1 0€ XOOIM
$L %81 3€€ %LE %6 %07 %18 %92 %8 %99 %8 316 $ST %96 30€

3€T 362 £97 312 %02 %61 $61 %61 $ST 302 $1T %02 E3 XA %22 $HT s6T

8 |¥4 8€ [44 01 Z1 £6 0¢ 6 9L 6 SOT LT ¥9 123 STI uosusg
$€ %6 296+ %62 26 %9 %58 %62 %8 %€9 3ET 3L8 $TT £33 E14

3€T $LZ $€9 %8¢ $Lb %52 $9% 367 $G¢ £33 F3%7 £324 $Tb 30b %06 £
| 8 €2 8bT LL Ve 91 j244 LL 12 991 vE 62¢ 62 LTT 8T1 $92T EISIA eldIg
%01 SHT %6€ EY A %6 31T 318 292 30T 2F9 $€T %98 ET A 267 %0%

09 78 [4%4 102 16 £9 98% 967 09 pgg 6L LIS 1L 162 8€C 009 aseg

POOAA 9 seb Yeay M@/pun| ues | uea] |HQ/PuN| ues | ues |snessip| pjsieg | JBUYIQ |paaiey | swl lejol

uedoid | feanjeN | oujoe|3 /ming | /pling /eing | /pling 0 [MS+A yeding
JION 10N [einsN
¢awoy anoA 8j0ASY Baulf pling éling 8q auif pinoyg O3ASS snje}s Juawholdwg
Jeay nok Aem Arewid ayl st Jeyma yim uoljoejsiies

101d1sia -6z eiqel

siaquiapy aanel1adoon ou3o9|3 AsjjeA sbuudg inyding jo >w>=..m v



yoieasay pue saibsjeng 1gy Aq paredaid

LGT" 681" I19° 100" 20z
Z8°91 Z8°¥ 60 % 9€°221 29°h aienbg 1Yo
06°2 bo 2 A4 £p°2 £9°2 ps° 2 £6°2 GL°2 9p°2 65°2 LO'€E £€5°¢2 09°T £€9°2 8k 2 $5°2 uesiy
3€2 %91 %91 %22 $€2 36 %9 $21 %61 $EL %59 $2¢€ 3T $LS 3l
%8E $€C 324 %9C shE %8C 18 $6€ $LZ $82 $bY $LZ £X4 $€€ £ X4 %82
33 %4 €2 1€ 4> €ET 6 LT 12 vOT €6 9% 4 18 19 (428 8l0Jaq Jo /661
$2C $1¢ $0¢C $0C %97 $26 %8 $L %51 $8L %0S $S€ $€T $LY $€S
$0€ $6C %92 302 %0T $€C $LE %87 $€2 £3 %4 $82 E1 74 $HT $22 £174 %2
9z 14 24 x4 61 801 01 8 8T 26 6G 187 ST 9s 29 81T ¥00Z-8661
KT $%2 %971 %8¢ $8T %96 £17 %6 3T %8L $G€ $8¢€ $92 £327 %95
281 $LT %61 %9¢ LY A4 3£2 361 $€C %61 %2 $6T %92 $LT $0¢ %92 $€C
91 82 81T 43 12 011 S 01 ST 06 oV |4 0¢ 1s 79 STT 200¢-6002
30T $12 EINA %LZ %81 $L6 3¢ $L 261 $hL %51 $€€ %05 $6¥ $0S
35T 85¢ $1€ %82 $¥Z %92 $TT 302 31€ $%C %6 ke $LS E3 %4 E1%4 %52
€1 9z 62 ve 14 121 € 6 Ve z6 61 134 £9 19 €9 14 Jayje 10 8002
38T 302 261 174 261 £349 %S %6 291 $9L $Th 3hE %22 306 %0S
88 Z0T 76 12T S6 Ly Lz 44 8L 8LE 112 LT 01T 6v2 0sZ 00§ aseg
»a +AGL AGL0G|M0S-MGT] ST N A [syofty] dsiH d +59 ¥9-Gb | vi-81 |olewsad| SeiN | [ejo)
Jepun SIH-uUou
SUUM
¢, Saxe] a10}¢ 00T 10} SWOdUI ealy ApoIuyg /a0ey by FETIED)
ployasnoy ajewixosdde Jnok sem Jeups uibj3 ejouog
eluobejed

J1VA NOD :0colgei

siaquuisy w>_uﬂwncoo oioalg AsjjeA sbuudg Jnyding jo AoAIng v



yosleasay pue saibsjens 19y Aq paledaid

100° 8zz" 100" LET"
6T°92 SL 1T +000T ST LT asenbg 1yo
6Lz |ev'z |19tz |ezLrz 1stz |petz j{oocv |oo'e |o00°Z [o00'T |og'z foo'e €Lz lssz |1ptz |ss°2 uesiy
%75 $9% %92 $2€ $€2 %67 %007 %0 %0 %0 $ST 3L $ 3€T $9%
$Tb $1¢ 29¢ 29€ %8¢ $€T %007 %0 %0 %0 $€E $LE $LE %62 %52 %82
9L 59 LE 9% [43 LT 44 0 0 0 (44 0t 11 €€ 99 42 210j9q 10 /661
L4 %89 $S€ 344 $1¢ %02 %0 %001 %0 %0 %91 %8 $L $€2 29%
%02 $9¢ %62 %22 Y44 312 %0 %001 %0 %0 $6C $LE $L2 vz 7 | 802 $%T
8¢ 08 142 8¢z 4 44 0 81T 0 ] 61 0T 8 LZ VS 81T 00C-8661
392 vl $0¢€ %22 E3 %4 £ 44 %0 %0 %001 %0 3€T %€ 3¢ $€T %8S
%91 %82 K124 %02 124 124 %0 %0 $00T %0 $£2 $ST $0T $€2 $52 $€2
0€ 58 43 T4 8¢ 82 0 0 STT 0 ST 4 € 9z L9 STT 100¢-5002
$HE $€9 362 L Y44 £374 $0€ %0 %0 %0 3007 %8 %2 %9 222 %29
3£2 %92 312 $22 %92 $Z¢ %0 %0 %0 $00T $ST $TT $LT E3 A %62 %52
£P 6L 62 82 o€ 8€E 0 0 0 Gzt 0T € 8 Lz LL A J8ye 1o 800
$LE 329 $82 %52 $€2 3€C $8C t3%4 $€2 352 $€T %S 29 $€2 %€S
L8T 60E 121 LZ1 SIT LTT [4a BI1 STT szl 99 Lz 0g €11 ¥92 00S aseg
ON S8\ | +0€L$ | 0EL$ 58% GS$ | @i0jeq ¥0 .0 Jee | epuji3 |uobejed| xooup [uosueg| EisIA | [eloL
-98% | -95% -0$ (40 2661 |[02-8661|0T-G00C| 40 8OOZ {/SOUSUS | BlOUOS eusis
wbi3
¢bunesyy. g 31va NOO LOILSIQ
pue Jiy [eqjuan

31vd NOD -90€ °lqelL

sisquisly aApesadoo o13998i3 AsjjeA sbundg inyding jo Aoning v




yoseasay pue saibajelis gy Aq paledaid

190° LEL” 622" 26" 100"
L2791 5S¢ £1°8 vy 0 6% 69 asenbg 1Yo
9872 L8°2 962 ge"¢ 1972 oLz £5°2 L£°2 19°2 €9°¢ 19°¢ 6s5°¢ 01-2 86°¢ 5172 §6°¢ uesiy
30T $LT %€ $L2 207 %6 318 312 %6 - 30L $TT $68 %9 SEL %22
$0% 35€ $82 $72 30¢ $0€E %82 $12 %0¢€ $2¢ %62 262 $FT E¥44 %91 %82
A 44 19 8¢€ A €1 STT 0€ €T 66 91 921 8 €0T 1€ 428 8lojaq Jo /661
%8 38T 39% %92 %8 %01 328 $2¢ %6 %86 $€T1 398 321 2bS $vE
%62 $0€ 352 302 $02 %82 L34 292 %62 ExA4 $LZ %€2 3%2 %92 $12 £ %4
| 0T 12 BS 1€ 6 ret L6 8¢g 1t 69 St 20T Al ¥9 0¥ 811 ¥002-8661
%€ 2T 29% 3S€ %21 %6 $6L 382 %6 %€9 %01 %06 311 E1e14 3P
%6 %22 124 352 $0€ $€T $22 $22 %€T 3€2 312 $€2 %22 312 %92 $€2
€ ST £6 014 v 0T 16 (43 0t €L Z1 £0T €1 Zs 0§ STT 1002-500C
%9 3L 3Tk 38€ $L %9 398 39¢ 28 396 %07 %68 %61 %22 %85
$€2 $€T %2 3TE %02 361 %97 . | %1€ $£2 3€2 $€2 %62 1347 31T %8¢ %62
8 6 [4s) 8b 6 8 80T Sh 0T oL €T 1Tt vz 82 €L G2t J8ye 1o 8002
3L $HT £344 $TE %6 %6 578 262 %6 $29 $11 %88 EYAs %6% $6€
13 69 0ze LST 9y 4 1t¥ SPT A 1€ 9s A 66 LyZ v6T 00S aseg
POOAA o seb jesy | Ma/puni uea | uest M/pPuUN| ues] | ues |siessip| pispes | JBYi0 [ paulpsy | eswi lejot
uedoid | JeinjeN | oujoel3 /oling | /pling /eing | /piing 0 IMS+A ‘ yedping
1ON 1oN jesnsN
¢awoy anok SJOASY au piing éiing eq suif pjnoys O3NSS snje}s juawhojdwgy
Jeay noA Aem Asewd ayj st Jeyp ypm uonoejsies

31va NOD :0¢€ alqel

sloquIspy aAleladoo au3o9)3 AstjeA sBuuds inyding jo Aeaing v




270 HOURS OF OUTAGES PROVES IT IS NEEDED.

270 VS 3 HOURS OF OUTAGES SEEMS LIKE A GOOD REASON AND THEY NEED THE POWER.

ABLE TO BUILD TO FIT THE POWER IN THAT AREA

ADDITIONAL GROWTH.

ALL ABOUT PROGRESS.

ALLEVIATE THE PROBLEM BY THE EXTRA POWER CREATED BY ALTERNATIVE POWER SOURCES FROM WIND & SOLAR.
ALOT OF POWER OUTAGES AND RUINING APPLIANCES.

ANOTHER LINE SHOULD BE BUILT TO SUPPORT ALL THE PEOPLE IN THE AREA.

AREA 1S GROWING FASTER THAN WHAT COOP CAN ACCOMIDATE.

AS LONG AS THEY KEEP RATES LOW AND DON'T DESTROY FARM LAND.

AS LONG AS UNDERGROUND POWER IS CONSIDERED.

AS THE AREA GROWS-MORE NEED FOR ELECTRICITY.

AS THE POPULATION GROWS MORE ELECTRICITY IS NEEDED.

AS THE POPULATION GROWS MORE ELECTRICITY IS NEEDED.

BASED ON GROWTH, THEY NEED AND EXTRA LINE.

BE ABLE TO HAVE ENOUGH POWER INTO THE AREA.

BECASUE THEY HAVE THE RIGHT TO BULD IT THERE AND IT IS NEEDED.

BECASUE THEY SHOULD HAVE DONE IT LAST YEAR. THEY'RE WASTING THE TAXPAYERS MONEY.
BECASUE WE NEED A BACK-UP ON THE POWER. IT IS MORE IMPORTANT THAN THE VIEW.
BECAUSE DOWN THE ROAD THEY'RE GOING TO HAVE POWER.

BECAUSE | LIKE POWER - ELECTRICITY IS MY FRIEND.

BECAUSE IF YOU DELAY IT WILL BE EXPENSIVE AND JUST PUT THE LINE UP,

BECAUSE IT-HAS TO BE DONE NOW. THEY NEED RELIABLE ELECTRICITY.

BECAUSE IT NEEDS MORE LINES BECAUSE ONE LINE WON'T BE ABLE TO HANDLE THE ELECTRICITY.
BECAUSE IT WILL HELP MAKE THE OUTAGES LESS AND IT WiLL HELP WITH THE COST OF THE UTILITIES.
BECAUSE IT'S CRAVING AND iT NEEDS MORE LINES TO HANDLE THE GROWTH.

BECAUSE IT'S NECESSARY FOR THE GROWTH. ONE LINE CAN'T HOLD ALL THAT ELECTRICITY.
BECAUSE IT'S NEEDED.

BECAUSE MORE PEOPLE ARE GONNA KEEP COMING.

BECAUSE OF ALL THE PROBLEMS THEY ARE HAVING. WE NEED A NEW POWER LINE.

BECAUSE OF POWER OUTAGES AND SOMETHING NEEDS TO BE DONE.

BECAUSE OF POWER OUTAGES!

BECAUSE OF POWER QUTAGES, WE NEED MORE POWER.

BECAUSE OF THE POOR QUALITY OF POWER.

BECAUSE ONE LINE IS NOT ENOUGH AND IT WILL HELP WITH THE OUTAGES.

BECAUSE POPULATION HAS INCREASED THERE AND THEY NEED IT.

BECAUSE THAT'S WHAT THE STUDY CONCLUDED.

BECAUSE THE AREA 1S GROWING AND THEY NEED MORE POWER LINES TO HANDLE ALL THAT ELECTRICITY.
BECAUSE THE AREA OUT THERE IS GROWING TOO FAST, AND THEY NEED IT.

BECAUSE THE DEMAND IS THERE & THEY NEED IT.

BECAUSE THE GROWTH IN THAT AREA NEEDS MORE POWER LINES FOR THE GROWTH.

BECAUSE THE LINE IS OUT DATED AND THEY SHOULD BUILD IT.

BECAUSE THEY DON'T HAVE TOO MANY OUTAGES. 2ND SO IT'S NOT A BURDEN ON THE OTHER TAXPAYERS.
BECAUSE THEY NEED EXTRA LINES TO NOT HAVE THOSE OUTAGES.

BECAUSE THEY NEED IT DESPERATELY BECAUSE OF THE ONE LINE 1S NOT ENOUGH.

BECAUSE THEY NEED 1T.

BECAUSE THEY NEED IT. A LOT OF BUILDING GOING ON IN THAT AREA.

BECAUSE THEY NEED IT. BECAUSE THEY'RE ALWAYS OUT OF POWER.

BECAUSE THEY NEED MORE LINES TO SUPPORT THE UTILITIES, AND THAT WOULD ELEMINATE THE SHORTAGES THEY ARE GETTING.

BECAUSE THEY NEED MORE POWER IN THAT AREA.

BECAUSE THEY NEED MORE THAN ONE LINE.

BECAUSE THEY NEED NEW LINES NOW, SO IT CAN HAVE THE COST LESS.
BECAUSE THEY NEED THE ELECTRICITY.

BECAUSE THEY SAY IT IS REQUIRED.

BECAUSE THEY WON'T GO NUCLAR. SO WE NEED MORE POWER LINES.
BECAUSE TOO MUCH GROWTH. THEY NEED MORE LINES TO HANDLE THAT ELECTRICITY.
BECAUSE WE NEED ANOTHER UINE.

BECAUSE WE NEED POWER.

BECUASE WE NEED MORE LINES BECAUSE OF THE GROWTH.

BEFORE | SUPPORT THE NEW TIME | WOULD LIKE THEM TO USE ALTERNATIVE & RENEWABLE SOURCES.
BETTER POWER TO PEOPLE IN THAT REGION. MOST COST EFFECTIVE POWER.
BETTER SERVICE AND THE AREA IS GOING TO GROW.

BETTER SERVICE THEN WE HAVE NOW.

BETTER SERVICE.

BETTER SERVICE.

BUILD A NEW LINE OR FIND ANOTHER SOURCE FOR ELECTRICITY.

CAN'T STOP PROGRESS & COOP HAS THE RIGHT TO DO WHAT THEY WANT.
CHEAPER FOR EVERYONE.

CHEAPEST FAIREST WAY TO GO.

CHEAPEST WAY TO DO THIS.

COMMON SENSE. IT'S NOT THAT NEGATIVE A THING.

COMPLY WITH THE LAWS TO BUILD IF ITS THE RIGHT WAY.

COST AND FUTURE RESOURCES

COST AND GROWTH.



COST AND NEED.

CUSTOMER NEEDS AND RELIABILITY.

DANGER FACTOR ON OVERLOADING ELECTRICAL LINES.

DECREASE POWER OUTAGES, KEEPING UP WITH TECHNOLOGY.

DEMAND FOR DEVELOPMENT.

DEMAND OF NEED & CONTINUED NEED OF ALTERNATIVE SOURCES COULD BE BUILT & BROUGHT ONLINE QUICKLY ENOUGH TO BE EFFECTIVE.
DEMAND.

DEPENDABLE SERVICE TO THE AREA.

DEVELOPMENT OF MORE PEOPLE WE NEED MORE POWER - THE MOST ECONOMICAL THING THEY CAN DO.

DONE ALL THE STUDIES THEY NEED AND SULPHUR SPRINGS IS A GOOD COOPERATIVE. ALL STUDIES ARE AGREEABLE WITH SULPHUR SPRINGS.
DON'T CONTINUE TO DO STUDY'S AND COST ME MONEY. | WISH WE COULD DO IT UNDERGROUND. IF THEY DON'T LIKE IT THEY SHOULD PAY THE DIFFERENCE.
ECONOMICALLY FIT. IT WILL NOT HURT THE ENVIRONMENT THAT MUCH.

ECONOMICS.

ELECTRICITY 1S ESSENTIAL AND IS NEEDED.

ELECTRICITY IS OUR UIFE STYLE. ELDERS NEED POWER.

ELECTRICITY IS VIABLE SINCE 1930'S IN RURAL ELECTRIC KITCHEN PROGRAM. THEREFORE SHOULD BE DONE.

ENERGY NEEDED FOR THAT AREA.

EVERYONE DESERVES ELECTRICITY OT MEET DEMAND.

EVERYONE NEEDS POWER.

EVERYONE'S COMPLAINING ABOUT POWER BUT THEY DON'T WANT A POWER LINE. THEY DON'T REALIZE HOW MUCH WIND, ETC POWER IS.
Ft THEY WANT {T. THEY NEED A LINE.

FOR GROWTH.

FOR HEALTH, SAFETY & ECONOMIC VIABILITY.

FOR {T, BUT WANT IT UNDERGROUND

FOR LESS OUTAGES-WOULD NOT WANT TO BE INCONVIENCED.

FOR PEOPLE DOWN THERE TO HAVE POWER.

FOR PEOPLE WHO NEED IT.

FOR THE COMOFRT OF AMERICAN CITIZENS.

FOR THE PEOPLE LIVING THERE.

FROM WHAT THEY SAY IT'S GOING TO HAVE TO BE DONE SOONER THAN LATER.

GET IT DONE NOW BEFORE IT GETS MORE EXPENSIVE.

GETTING ELECTRICITY TO THE PEOPLE WHO NEED IT.

GROWING AREA. WE HAVE GOT TO KEEP UP DEMAND & SUPPLY.

GROWING POPULATION.

GROWTH N AREA NEEDS IT.

GROWTH OF THE AREA

GROWTH.

HAVE TO USE A LINE ANYWAY. MORE COST EFFECTIVE.

HAVING EXPERIENCE FROM LINE OVERLOADS.

HELP CUT DOWN ON POWER OUTAGES IN THE AREA. THEY'RE GUHDING MORE DOWN THERE & THEY NEED POWER.

HELP PROMOTE GROWTH OUT THAT WAY.

HELP WITH THE ELECTRICAL OUTAGES.

HELP WITH THE OUTAGES.

| AGREE WITH THE PEQPLE. ELECTRICITY COULD BE MORE.

| AM TIRED OF ALL POWER OUTAGES. WE NEED A RELIABLE SYSTEM.

| DIDN'T MOVE HERE TO LIVE IN A 3RD WORLD COUNTRY. WE NEED ELECTRICITY TO HANDLE THE GROWTH.

| DON'T KNOW.

| HAD PROBLEMS WITH OVER-POPULATION & FREQUENT OUTAGES TILL A NEW LINE WAS BROUGHT IN.

1JSUT GENERALLY AGREE WITH THEM.

| OWN LAND AND WE HAVE COMMERCIAL PROPERTIES. | AM FOR JUCING UP THE AREA.

| THINK IT WILL TAKE FOREVER FOR SOLAR & WIND POWER AND AT A DECENT PRICE.

| THINK IT'S DOABLE IN THE TIME FRAME. WE NEED IT. THE OTHERS | DON'T THINK ARE DOABLE.

I THINK MAYBE IT IS NEEDED.

I THINK THE POWER COMPANY HAS LOOKED INTO ALL ALTERNATIVES AND IS DOING THE BEST THEY CAN BY BUILDING THE NEW POWER LINE.
I THINK THEY CAN USEIT.

} USED TO LIVE IN DOUBLE ADOBE HOUSES AND HAD ALOT OF OUTAGES, SO THEY NEED A NEW LINE. | KNOW WHAT IT IS LIKE.
| WILL SUPPORT IT AS LONG AS IT DOES NOT COST MORE MONEY.

| WORKED FOR AN ELECTRIC COMPANY BACK EAST AND 2 FEEDER LINES IS THE BEST WAY TO GO.

IF IT'S NEEDED THEN THEY SHOULD BUILD IT.

IF IT'S NOT DONE, PEOPLE WILL COMPLAIN ESPECIALLY NEW PEOPLE.

IF IT'S THE MOST LOW IMPACT WAY FOR THE ENVIRONMENT & PEOPLE, I'M ALL FOR IT.

IF PEOPLE WANT ELECTRICITY, THEY HAVE TO BUILD THE POWER LINES.

IF POWER 1S NEEDED THEN THEY NEED TO BUILD THE LINES.

IF THE OPPONENTS WANT MORE STUDIES, THEY SHOULD PAY FOR THEIRSELVES & ADDITIONAL MATERIAL COSTS FROM WAITING TO INSTALL THE POWER LINE.
IF THE STUDY SAYS IT'S THE BEST THEN THEY SHOULD.

IF THERE ARE PEOPLE THERE AND MORE TO COME YOU NEED TO BE ABLE TO SERVE THEM.

IF THERE 1S A POWER SHORTAGE THEY NEED IT. THEY HAVE HANDLED THIS WRONG. THEY CHOSE THE WRONG ROUTE.

IF THEY ARE GROWING, THEN THEY NEED TO HAVE MORE ELECTRICITY, NO MATTER WHAT.

IF THEY ARE HAVING TOO MANY OUTAGES THEN THEY NEED THE LINE NO MATTER WHAT THE PROBLEM 1S.

IF THEY NEED THE POWER, THEN THEY SHOULD UP THE LINES.

IF THEY WANT SOLAR, IT WOULD TAKE UP ALOT MORE LAND AREA. ONCE THE LINE IS IN, PEOPLE WON'T EVEN NOTICE IT.

IF THEY WERE WORRIED ABOUT MOUNTAINS AND VIEW THEY WOULDN'T HAVE BUILT THEIR HOMES THERE.

IF TO PROVIDE MORE JOBS. THERE IS ALREADY EXISTING LINES. THEY DON'T NEED TO DISTURB ANYTHING ELSE USE WHAT'S THERE. JUST UPGRADE.
IF WE NEED iT, WE NEED IT.



I'M NOT REALLY FAMILIAR W/THE ISSUES. | JUST MOVED HERE, BUT IF WE NEED NEW POWER LINES & IT'S A BIG ISSUE, THEN WE NEED A NEW POWER LINE!
IMMEDIATE NEEDS OUT WEIGH ANY DELAYS SO MOVE FORWARD EXPEDIOUSLY TOWARDS RENEWABLE ENERGY.
IN THE LONG RUN MORE POWER WILL BE NEEDED.

INCREASE IN POPULATION.

IT HAS TO BE DONE THE ALTERNATIVE ENERGY SOURCE AREA READY YET.

ITIS A NECESSITY,

IT IS CHEAPER AND IT SOUNDS LIKE THEY NEED IT.

IT IS COST EFFECTIVE. RESIDENTS KNEW 1T COULD HAPPEN.

IT IS GOOD FOR THE COMMUNITY,

IT IS NEEDED AND OUR RATES WOULD STAY LOW.

IT IS NEEDED AND PEOPLE IN THE AREA HAVE WAITED A LONG TIME FOR ANOTHER LINE.

IT IS NEEDED FOR DEPENDABLE ELECTRIC SERVICE.

IT 1S NEEDED TO TAKE CARE OF POWER OUTAGES AND HANDLE THE GROWTH.

IT 1S NEEDED.

IT 1S NEEDED. STUDY HAS EXPLAINED THAT IT IS THE MOST REALISTIC WAY TO GO.

IT IS WHAT NEEDS TO BE DONE FOR THE COMMUNITY.

ITJUST MAKES SENSE OVER THE OTHER ALTERNATIVES.

IT JUST MAKES SENSE. BUILD IT IF THEY NEED IT.

T MAKES MORE SENSE ELECTRIC IS MORE DEPENDABLE THE OTHERS SHOULD ONLY BE USED FOR BACK UP.
IT MAKES SENSE. MOST COST EFFECTIVE & EFFECTS LESS PEOPLE.

IT MAKES THE MOST SENSE AND MOST COST EFFECTIVE FOR WHAT THEY ARE GETTING.

IT NEEDS POWER AND THEY CAN'T HAVE EXPANSION WITHOUT IT.

IT ONLY GOOD BUSINESS IF YOU WANT A GOOD COMPANY TO SERVE YOU, YOU SHOULD SUPPORT THEM.
IT SEEMS LIKE A GOOD IDEATO ME,

IT SEEMS THEY ARE EXPERIENCING A NUMBER OF OUTAGES AND THAT SHOULD BE ENOUGH REASON.

IT SHOULD BE BUILT 3-TIMES AS LARGE SO THIS WON'T HAPPEN IN THE FUTURE.

IT SOUNDS LIKE IT WOULD BENEFIT THE PEOPLE OUT THERE.

IT SOUNDS LIKE THE MOST COST PRODUCTIVE WAY TO REDUCE OUTAGES IN THE AREA.

IT WILL BE MOST EFFICIENT, .

IT WILL BE THERE WHEN MORE PEOPLE MOVE TO THE AREA AND IT WILL HAVE LESS OUTAGES.

T WILL CUT DOWN ON OUTAGE PROBLEMS AND THE AREA NEEDS IT.

IT WILL GIVE PEOPLE POWER. THE OUTAGES WE HAVE ARE SOMETIMES LIKE 3 HOURS LONG TO RESTORE THE AREA.
IT WILL HELP ALOT OF PEOPLE OUT ALOT.

IT WILL HELP KEEP OUR RATES DOWN.

IT WILL HELP MORE PEOPLE THAN HURT

IT WILL HELP THE QUTAGES FROM HAPPENING OUT THERE.

IT WILL HELP THE RATES.

IT WILL REDUCE EVERYONE'S RATES IN DUE TIME.

IT WON'T HURT PROPERTY VALUES. IT WILL INCREASE IT. IF THEY DON'T HAVE POWER, HOW WILL THEY SELL THEIR HOMES ANYWAY?
IT WOULD AID DEVELOPMENT OF THAT AREA.

IT WOULD HELP GET POWER TO THE REST THAT DON'T HAVE IT

IT'S A GROWING AREA AND THEY NEED PROGRESS.

IT'S AN NECESSITY.

IT'S BEEN A GROWING COMMUNITY AND THEY NEED MORE POWER.

IT'S BEEN NEEDED FOR A LONG TIME, THE ALTERNATIVES AREN'T FEASIBLE AT THIS TIME.

IT'S COST EFFECTIVE. TOO MANY DELAYS COULD IMPACT THE COST.

IT'S GOOD FOR THE WHOLE COUNTY. DOWN THERE IT WON'T MATTER IF IT WAS WATER. THEY STILL DISAPROVE. SOMEONE WILL ALWAYS COMPLAIN.
IT'S MUCH MORE EXPENSIVE TO WAIT, THEY WILL KEEP WANTING STUDIES TO DRAG IT OUT LONGER AND LONGER.
IT'S NECESSARY.

IT'S NEEDED

iT'S NEEDED BECAUSE THEY NEED THE POWER.

IT'S NEEDED QUT THERE.

IT'S NEEDED.

IT'S PROGRESS. PEOPLE NEED POWER.

IT'S THE ONLY LOGICAL WAY TO SOLVE THE PROBLEM.

IT'S THEIR LAND THEY SHOULD BE ABLE TO BUILD ON ITIN ORDER TO BEST ALLOW BEST SERVICE FOR CUSTOMERS, WAITED AS LONG AS THEY COULD HAVING TO PUT OUT
IT'S WHAT IS BEST FOR THE COMMUNITY.

IT'S WHAT IS NEEDED

I'VE LIVED IN SONAITA AND THE POWER OUTAGES ARE UNTOLERABLE. IT HAS TO BE DONE.

KEEP IT ECONOMICAL & IT'S NEEDED FOR RELIABILITY SO | SAY BUILD IT.

KEEP THE COST DOWN AND PREVENT OVERLOADING.

KEEP THE COST DOWN FOR EVERYONE.

KEEP THE POWER ON.

LATER IT WILL COST MORE AND THEY'RE GOING TO HAVE TO HAVE IT SO MIGHT AS WELL DO IT NOW.

LESS OUTAGES.

LESS OUTAGES.

LESS POWER OUTAGES AND MORE PEOPLE COMING OUT TO ELGIN TO PICK FRUIT FROM FARMERS.

LESS POWER OUTAGES!

LESS POWER OUTAGES, LESS COMPLAINTS.

LESS POWER OUTAGES.

LESS POWER OUTAGES.

LESS POWER OUTAGES. COST EFFECTIVE.

LIMIT HURTING RATES. KEEP RATES LOWER.

LIVED IN RURAL AREAS & EVERYBODY HAS A RIGHT TO ELECTRICITY.



LONG TERM SOLUTION AND COST EFFECTIVE.

LOWER OUR RATES. LIMIT QUTAGES.

LOWER RATES.

MONEY.

MORE COST EFFECTIVE IF THEY ARE HAVING THAT MANY OUTAGES THEY MUST NEED IT.
MORE ELECTRICITY IS NEEDED.

MORE EXPENSIVE THE LONGER THEY WAIT.

MORE PEOPLE MOVED IN OUT THERE.

MORE PEOPLE YOU GET, THE MORE POWER YOU'RE GOING TO NEED. IT'S BETTER TO FIX IT EARLY.
MORE POWER ACCESS, LESS OUTAGES.

MORE POWER IS NEEDED IN THE AREA. TOO MANY OUTAGES.

MOST REALISTIC WAY OF DEALING WITH THE PROBLEM.

NA

NEED IT DESPERATELY.

NEED MORE ELECTRICITY A YEAR.

NEED MORE GROWTH.

NEED POWER & OUT OF POWER. THEY NEED TO ACCOMODATE PEOPLE AND BE PRACTICLE.
NEED THE LINE.

NEED THE POWER AND ARE COMPLAINING ABOUT POWER OUTAGES BUT WON'T ALLOW THE LINE.
NEEDED TO AVOID THAT FUTURE PROBLEM. NEED TO TAKE CARE OF OLD FEEDS.

NO ENOUGH LINES.

NO NEW HOOK UPS ALLOWED RIGHT NOW.

NO OTHER ALTERNATIVE BUT A NEW LINE.

NO OTHER ALTERNATIVES WOULD BE AS EFFECTIVE & MAKE LAND VALUES GO UP.

NOT TO HAVE POWER OUTAGES.

ONCE ESTABLISHED & PEOPLE LEARN TO ADAPT TO WHAT WAS ONCE A PROBLEM AND SOLVE BLACK OUT PROBLEMS.

ONE LINE IS OVER-LOADED.

ONLY IF IT DOESN'T RAISE CURRENT ELECTRIC RATE.

ONLY IF THE POWER LINE'S ARE UNDERGROUND

OUTAGES

OUTAGES ARE VERY STRESSFUL.

OVERALL GROWTH. CUT OFF GROWTH WITHOUT POWER.

PEOPLE ARE GOING TO MOVE DOWN THERE AND THERE WILL NOT BE ENOUGH POWER.

PEOPLE ARE GOING TO NEED THE ELECTRIC. IF THEY DON'T GET IT THEY'LL BLAME THE COOP & IT'S THEIR FAULT FOR NOT LETTING THEM DO THEIR JOB.

PEOPLE ARE GOING TO NEED THE POWER.

PEOPLE DESERVE MORE POWER.

PEOPLE DO NEED POWER.

PEOPLE NEED ELECTRICITY, AND THAT EXTRA POWER LINE.
PEOPLE NEED ELECTRICITY.

PEOPLE NEED ELECTRICITY.

PEOPLE NEED POWER.

PEOPLE NEED POWER.

PEOPLE NEED THE CHEAPEST WAY.

PEOPLE NEED THE ELECTRICITY NOW.

PEOPLE NEED THE ELECTRICITY.

PEOPLE NEED THE ELECTRICITY.

PEQPLE SHOULD NOT HAVE TO EXPERIENCE THAT MUCH OUTAGE.

PEOPLE WHO LIVE IN THE AREA WITH THEIR VIEWS & ALTERNATIVE ENERGY IS NOT WORKING. THEY NEED IT. THE COST WILL CONTINUE TO GO UP.

PEOPLE WHO LIVE THERE NEED THE SERVICE.
PEOPLE WHO MOVE THERE WANT POWER, SO THEY NEED A POWER LINE.

PLAN FOR THE FUTURE.

POPULATION & GROWING & IT'S REALLY NEEDED WITH A GROWING POPULATION
POPULATION EXPLOSION.

POPULATION IS INCREASING.

POWER IS NEEDED iN THE LONG RUN.

POWER IS NEEDED.

POWER OUTAGES ARE DANGEROUS.

POWER REQUIREMENTS - OLD PEOPLE NEED THAT POWER MORE THAN ANYONE ELSE.
PROGRESS FOR THE WHOLE SOUTHERN PART OF THE STATE.

PROVIDE POWER FOR MORE PEOPLE WITH LESS OUTAGES.

PUBLIC SERVICE PROBLEM TO LESSEN.

QUIT WINING! THEY NEED THE POWER.

RELIABILITY - AND THE PLACE IS GROWING & THEY WILL NEED IT ANYWAY.

RELIABILITY ISSUES AS FAR AS IT GOING ON AND OFF.

RELIABILITY OF POWER.

RELIABILITY OF SERVICE IT CAN PROVIDE.

RELIABLE POWER AND PREVENT RATE INCREASES FROM THE DELAY.

SAFETY. '

SERVICE.

SO | DON'T HAVE TO START MY GENERATOR EVERY TIME | NEED TO WATER MY HORSES.
SO MY ELECTRIC BILLS WON'T SKY ROCKET.

SO PEOPLE DON'T END UP WITH POWER OUTAGES CONSTANTLY.

SO THEY CAN HAVE BETTER SERVICES.

SO THEY CAN HAVE MORE POWER.




SO THEY CAN HAVE NEW BUILDING.
i SO THEY CAN PROVIDE SERVICE FOR THE PEOPLE.
SO THEY DON'T HAVE OUTAGES & THE LONGER YOU WAIT THE MORE IT WILL COST.
SO THEY DON'T HAVE POWER OUTAGES.
SO THEY WON'T BE WITHOUT POWER WITH THAT MANY OUTAGES.
SO THEY WON'T HAVE SO MANY QUTAGES. THE WINDMILLS (GENERATORS) ARE BIG & UGLY WHICH BLOCK VIEW ALSO.
SO WE DON'T HAVE AS MANY POWER OUTAGES. ’
SO WE DON'T HAVE SO MANY POWER OUTAGES.
SO WE HAVE LESS INTERRUPTIONS & POWER OUTAGES.
SOONER OR LATER IT'S GOING TO HAVE TO BE DONE.
SOUTHEAST ARIZONA IS ALWAYS LOOKING FOR MORE GROWTH & THEY WILL HAMPER THAT GROWTH IF THEY DON'T BUILD THE POWER LINE.
STOP BLACKOUTS AND HELP PEOPLE. IT WON'T INTERFERE WITH THE VIEW OF THE MOUNTAINS.
STOP POWER OUTAGES. ITS GROWING AND IT NEEDS TO BE DONE.
SULPHUR SPRINGS VALLEY ELECTRIC CO-OP HAD THE RIGHTS TO BUILD THERE FIRST.
SUPPLY & DEMAND.
THAT PEOPLE ARE GOING THROUGH POWER OUTAGES.
THE ALTERNATIVE NEEDS INFRASTRUCTURE AND STILL BLOOCKS VIEWS
THE AREA & POPULATION IS GROWING & IT'S A NECESSITY.
THE AREA HAS GROWN AND IT NEEDS IT.
THE AREA IS EXPANDING.
THE AREA IS GROWING AND DEMAND 1S THERE.
THE AREA IS GROWING TOO FAST. THEY NEED MORE SERVICE.
THE AREA IS GROWING.
THE CONTINUED DEVELOPMENT OF THE AREA.
THE CO-OP HAS THE RIGHT OF WAY.
THE COOP SAYS IT'S NECESSARY THEY WOULDN'T WASTE OUR MONEY.
THE COST ISSUE AND THE INDEPENDENT STUDY.
THE COST RIGHT NOW WILL NOT AFFECT MY PROFITS DOWN THE ROAD.
THE COST WOULD DECREASE.
THE EASTENERS ARE MOVING IN. THEY HAVE TO BUILD 1T TO PROVIDE POWER.
THE ELECTRICITY IS NEEDED AS MORE PEOPLE MOVE THERE.
THE ELECTRICITY 1S NEEDED. ' °
THE ELECTRICITY IS REALLY NEEDED.
THE ELECTRICITY IS RELIABLE.
THE ELECTRICITY SHOULD BE GIVEN TO EVERYONE AS A FAIR ADVANTAGE. EVERYONE SHOULD HAVE ELECTRICITY.
THE EXPANDING POPULATION.
THE GROWTH AND IT WOULD SOLVE THE PROBLEM TO PUT UP A NEW LINE.
THE GROWTH IN THE AREA. .
THE HIGH GROWTH THAT HAS BEEN ALLOWED.
THE INDEPENDENT STUDY IS ON THE INTERNET. READ IT.
THE MORE PEOPLE THEY HAVE THE MORE ELECTRICITY THEY ARE GOING TO USE.
THE NEED FOR ELECTRICTY FOR THE PEOPLE LIVING IN THE AREA.
THE NEED FOR IT.
THE NEED FORIT.
THE NEED OF THE PEQPLE.
THE NEEDS THERE.
THE OUTAGES ARE THE BEST REASONS TO BUILD THE LINE.
THE OUTAGES.
THE PEOPLE ARE HAVING PROBLEMS WITH THE SYSTEM AND OVER LOADING THE SYSTEM AND LOOSING POWER.
THE POPULATION GROWTH - THERE USED TO BE A LOT OF LIVE STOCK BUT NOT ANYMORE.
THE POPULATION GROWTH.
THE POWER IS NEEDED.
THE POWER IS NEEDED.
THE POWER OUTAGES, WHEN NOT ENOUGH POWER IN FEED LINES TO COVERIT.
THE RELIABILITY OF ELECTRICY IN THIS AREA IS REQUIRED.
THE REST OF US SHOULD NOT SUFFER THE COST IF THE LINE IS NOT PUT IN.
THE STUDY & IF THEY WAIT IT WILL COST MORE.
THERE ARE ALOT OF PEOPLE WHO HAVE SUFFERED ALOT OF OUTAGES.
THERE HAS BEEN ALOT OF GROWTH TO THAT AREA. THEY NEED 1T.
THERE WILL BE MORE RELIABILITY.
THERE'S A NEED FOR IT & LONG RANGE THEY NEED iT, BECAUSE THERE IS NOT MUCH OUT THERE.
THESE OPPONENTS DO NOT WANT THEIR VIEW OBSTRUCTED - IF YOU PUT IN AN ALTERNATE SOURCE THEY WILL ALSO COMPLAIN.
THESE PEOPLE DESERVE BETTER SERVICE THAN THEY ARE GETTING.
THEVE ALLOWED PEOPLE TO BUILD IN THE AREA SO THEREFORE, THEY HAVE TO HAVE IT.
THEY ARE GOING TO BUILD IT SOMEWHERE IT MIGHT AS WELL BE THERE.
THEY ARE HAVING OUTAGE PROBLEMS. THEY NEED A NEW LINE.
THEY ARE TRYING TO FIX A PROBLEM. THEY HAVE OWNED THE RIGHTS FOR YEARS.
THEY CAN HAVE ELECTRICITY THAT IS NEEDED.
THEY CAN'T ADD ANY NEW CUSTOMERS TO THE AREA.
THEY COMPLAIN ABOUT THE POWER QUTAGES THEY'RE TRYING TO MOSTLY KEEP IT OUT SITE.
THEY DON'T HAVE ENOUGH POWER. YOU CAN'T STOP PROGRESS.
THEY HAD ALREADY PLANNED FOR THIS YEARS AGO & THEY HAVE THE RIGHT TO BUILD IT.
THEY HAVE HAD RIGHTS TO IT FOR A LONG TIME. IT IS LESS EXPENSIVE THEN SOLAR.
THEY HAVE SO MANY OUTAGES AND NOT ENOUGH POWER.




THEY HAVE TO BUILD IT. WE NEED MORE POWER.

THEY HAVE TOO MANY BLACKOUTS. 1T IS NEEDED.

THEY HAVE TOO MANY OUTAGES.

THEY NEED A NEW LINE. WHY WAIT TILL IT COSTS MORE AND THERE WILL BE NEW GROWTH.
THEY NEED ELECTRICITY.

THEY NEED ELECTRICITY.

THEY NEED ELECTRICITY.

THEY NEED IT AND ANY DELAY ON BUILDING. iT WILL END UP COSTING US MORE MONEY.
THEY NEED IT AND IT WOULD BE COST EFFECTIVE.

THEY NEED IT SO THERE AREN'T AS MANY OUTAGES.

THEY NEED IT. :

THEY NEED IT.

THEY NEED IT. IF IT WAS PUBLIC RECORD WHEN HOME OWNERS BOUGHT THEIR PROPERTY, THEN THAT IS THEIR FAULT FOR NOT PAYING ATTENTION.

THEY NEED IT. THERE HAS BEEN ALOT OF BUILDING OUT THERE.

THEY NEED IT. TOO MANY OUTAGES.

THEY NEED MORE ELECTRICITY IN THE AREA.

THEY NEED MORE ELECTRICITY.

THEY NEED MORE LINES OF POWER. BECAUSE ITS GROWING.

THEY NEED MORE LINES TO HANDLE THE ELECTRICITY AND IT WILL CREATE TO HAVE JOBS AS WELL.
THEY NEED MORE POWER AND IT'S THE MOST COST EFFECTIVE. | DON'T WANT TO PAY FOR THE OTHER ALTERNATIVES.
THEY NEED POWER AND T IS THE MOST REALISTIC.

THEY NEED POWER.

THEY NEED POWER.

THEY NEED POWER. TOO MANY OUTAGES.

THEY NEED THE EXTRA ELECTRICITY IT WOULD PROVIDE.

THEY NEED THE EXTRA ENERGY.

THEY NEED THE POWER T WOULD PROVIDE.

THEY NEED THE POWER NOW.

THEY NEED THE POWER TO ACCOMODATE CURRENT & NEW RESIDENTS.

THEY NEED THE POWER, AND IT'S THE CHEAPEST WAY.

THEY NEED THE POWER.

THEY NEED THE POWER.

THEY NEED THE POWER.

THEY NEED THE POWER.

THEY NEED THE POWER. THEY CAN'T COMPLAIN BOTH WAYS. THEY KNEW IT WAS COMING.

THEY NEED THE SERVICE BECAUSE OF OUTAGES.

THEY NEED THEIR ELECTRICITY.

THEY NEED THIS BECAUSE OF THE GROWTH.

THEY NEED TO BUILD NOW INSTEAD OF LATER.

THEY NEED TO BURY IT.

THEY NEED TO DO IT TO AVOID MORE QUTAGES.

THEY NEED TO SUPPORT THE GROWTH.

THEY NEED TO UPGRADE THEIR SYSTEM.

THEY OWN THE LAND. THEY SHOULD BE ALLOWED TO DO WHAT THEY WANT. | DO WHAT | WANT ON MY LAND.
THEY SHOULD NOT BURN THE EXISTING CUSTOMERS. THEY SHOULD PAY FOR THAT EXTRA LINE.
THEY WANT THE ELECTRICITY.

THEY WON'T HAVE AS MANY OUTAGES AND BETTER SERVICES.

THEY WON'T HAVE ENOUGH POWER WITHOUT IT.

THEY WOULDN'T PUT IT IN IF WE DIDN'T NEED iT.

THEY'RE HAVING BURN OUTS.

THEY'RE TRYING TO ACCOMODATE EVERYONE COMING IN. A FEW DON'T WANT IT, BUT MROE NEED IT.
THINK GROWTH IS GOOD.

THOSE PEOPLE DESERVE TO HAVE GOOD POWER.

- THOSE POEPLE NEED THOSE BUILT WINDED & SOLAR WILL TAKE TOO LONG. THE AREA IS GROWING TOO FAST.

TIRED OF THE OUTAGES.

TO ACCOMIDATE GROWTH.

TO ACCOMODATE GROWTH.

TO AVOID OUTAGES.

TO CONTINUE POWER FOR NEW HOMES.

TO CUT THE OUTAGES DOWN.

TO ELIMINATE THE AMOUNT OF POWER CURCUITS.

TO END OUTAGES IN THAT AREA.

TO GIVE THE PEOPLE WHAT THEY NEED.

TO GIVE THE RESIDENTS THE POWER THAT THEY NEED.

TO GIVE THEM ELECTRICITY.

TO HAVE BETTER SERVICE. HAVE MORE CONSTANT SERVICE.
TO HAVE CONSISTENT SERVICE.

TO HAVE LESS OUTAGES.

TO HELP LOWER EVERYONES RATES

TO WIPROVE THE SERVICE.

TO KEEP POWER OUTAGES TO A MINIMUM.

TO KEEP RATES LOWER. IT IS THE BEST SOLUTION.

TO MAKE SURE THAT EVERYONE THAT LIVES OUT THERE HAS ELECTRICITY WITHOUT OVER LOADING THE ONE LINE.
TO PREVENT MORE OUTAGES AND GIVE PEOPLE ELECTRICITY.




TO PREVENT THE OUTAGES

TO PROVIDE ADEQUATE SERVICE TO THAT AREA.

TO PROVIDE POWER TO THE PEOPLE IN SONOITA, PATAGONIA & ELGIN AREA.

TO PROVIDE SERVICE TO PEOPLE THAT ARE REQUESTING IT.

TO REDUCE NUMBER OF POWER OUTAGES. TO ALLOW MORE PEOPLE TO BUILD HOMES IN THAT AREA BECAUSE OF REFUSALS FOR HOOKUPS.
TO REDUCE POWER OUTAGES.

TO REDUCE THE NUMBER OF OUTAGES.

TO REDUCE THE NUMBER OF POWER OUTAGES.

TO RELIEVE THE POWER OUTAGES IN THAT AREA.

TO SERVE PEOPLE WHO SUBSCRIBE IN THAT AREA.

TO STOP THE POWER OUTAGES.

TO SUPPORT GROWTH IN THE AREA.

TOO MANY OUTAGES.

TOO MANY OUTAGES.

TOO MANY OUTAGES.

TOO MANY OUTAGES.

TOO MANY PEOPLE ARE MOVING INTO THE AREA.

TOO MANY POWER OQUTAGES. IT NEEDS TO BE DONE ASAP,

TOO MANY PROBLEMS IN PAST.

TOO SHORTEN OUTAGE TIME.

WE ALL NEED LIGHT.

WE ALL NEED POWER.

WE ARE EXPANDING THE AREA AND IF THEY WANT TO CUT DON ON POWER OUTAGES THEY NEED TO DO IT.
WE DON'T HAVE A LOOP & NEED A LOOP.

WE HAVE TO IF WE NEED TO PROVIDE ELECTRICITY TO A GROWING COMMUNITY.

WE HAVE TOO MANY QUTAGES AND TOO MUCH GROWTH.

WE KEEP LOSING POWER IN PATAGONIA.

WE NEED ELECTRICITY & IT WILL STOP OUTAGES.

WE NEED EXTRA LINE FOR POWER.

WE NEED GOOD SERVICE & THE POPULATION IS GROWING.

WE NEED IT AND DO iT NOW WHILE THE COST IS LOW.

WE NEED MORE POWER FOR MORE HOUSES.

WE NEED MORE POWER.

WE NEED THE ELECTRICITY FOR THE AMOUNT OF NEW PEOPLE.

WE NEED THE EXTRA POWER LINES AND THEY NEED TO BUILD THEM.

WE NEED THE EXTRA POWER THAT IT WOULD PROVIDE.

WE NEED THE POWER.

WE NEED TO THINK OF LONG TERM RESOURCES WE WOULD USE.

WE OWN A VERY LARGE BUSINESS & IT COSTS US THOUSANDS OF DOLLARS. EVERY TIME THERE IS AN OUTAGE. BEEN HERE SINCE 1947. PEOPLE SHOULD DO THEIR RESEARCH.
WE RECEIVE TOO MANY OUTAGES. '
WE'VE ALREADY SPENT ENOUGH MONEY ON THIS, JUST GET IT DONE.

WHEN WE HAVE STORMS & WINTER TIME, THE POWER GOES OUT ALOT, SO WE NEED IT.
WILL BE LESS OUTAGES.



(CONT’'D} MORE STUDIES IT WILL COST MORE.

2010 WE HAVE INTELLIGENCE, THEY NEED TO LOOK AT ALTERNATIVE POWER OR ALTERNATIVE WAY INSTEAD OF RUINING THE VIEWS.

ALTERNATIVE ENERGY MAKES SENSE IN THE LONG RUN.

ALTERNATIVE ENERGY SHOULD BE USED.

ALTERNATIVE 1S THE WAY TO GO FOR THE FUTURE.

BECAUSE 100% OF THiIS PURPOSE IS FOR THE EXPANSION FOR FUTURE USE.

BECAUSE | DON'T KNOW WHERE THE LINE GOES.

BECAUSE THE COST WOULD BE PROHIBITED.

BECUASE IT'S GOING TO COST ME MORE MONEY.

DESTRUCTION OF LANDS AND VIEWS. ALTERNATIVE FUELS ARE THE BETTER WAY TO GO RIGHT NOW.

DON'T KNOW.

GROWTH & THE STRAIN ON OUR AQUAFER. IT WILL CAUSE TOO MUCH GROWTH.

HALT THE GROWTH.

| DON'T BELIVE WE NEED IT.

| DON'T THINK EITHER SIDE HAS DISCLOSED ALL THE INFORMATION SULPHUR SPRINGS HAS BEEN VERY VINDICTIVE ON A PERSONAL LEVEL AND IT'S VERY UNPROFESSIONAL.
| DON'T WANT THE TAXPAYERS TO PAY FOR {T.

| QUESTION IF THIS IS THE ONLY WAY TO PROVIDE ADAQUATE POWER TO THE VALLEY.

| THINK ALTERNATIVE IS THE WAY TO GO.

I THINK | DON'T LIKE THE POWER LINES, | LIKE THE VIEW OF THE MOUNTAINS AND | THINK THEY COULD FIND A BETTER WAY.

I THINK IT'S CRITICAL TO DEVELOP ALTERNATIVE MEANS TO POWER, NO MATTER TIME OR COST.

IF PEOPLE DON'T WANT IT, THEN DON'T PUT IT OUT THERE.

IF THEY BUILD IT, THEY WON'T-EVEN LOOK INTO RENEWABLE ENERYG SOURCES.

{F THEY WANT MORE ELECTRICITY THEY CAN MAKE (T THEMSELVES.

"M NOT AGAINST IT BEING BUILT BUT IT NEEDS TO BE PUT SOMEWHERE ELSE.

‘M NOT OPPOSED TO ANOTHER LINE. | AM OPPOSED TO WHERE THEY WANT TO PUT IT. THEY CAN PUT IT WHERE THE OTHER ONE THAT DOESN'T WORK IS.
N 1985 | SUGGESTED THAT THEY GO INTO ALTERNATIVE ENERGY-WE SHOULD ALL HAVE ALTERNATIVE ENERGY FOR OUR HOMES-THEY BELIEVED | HAD A DUMB IDEA.
INCORRECT ON OUTAGES AND NEEDS

IT COULD BE DONE EASIER. THERE ARE NATURAL LINES.

IT DISTRACTS FROM THE SCENERY & BEAUTY OF THE PLACE & THE POWER ALWAYS WENT OUT ANYWAYS. MORE POWER LINES AREN'T GOING TO HELP.
IT NEEDS TO BE 50/50. THAT WOULD BE FAIR, THEN IT WON'T MATTER.

IT WILL DAMAGE ALL OF THE COMMUNITY SHOUL WE GO WITH ALTERNATIVE ENERGY.

IT'S A BEAUTIFUL PLACE HERE AND WE NEED TO KEEP THE BEAUTY.

IT'S DESTROYING A BEAUTIFUL AREA. ]

IT'S NOT FAIR TO THE PEOPLE THAT LIVE HERE. IF WE KEEP BUILDING WE WILL LOOK LIKE NEW YORK. WHY NOT START W/RENEWABLE ENERGY NOW?
MAIOR CONSIRACY. BIO'S STUDY.

NEED TO DO MORE WITH SOLAR ENERGY.

NO CONCERNS. | LIVE IN THAT AREA.

NOT NECESSARY.

OFFER MORE ALTERNATIVE ENERGY OPTIONS. THEY NEED TO FIGURE OUT A NEW WAY TO DO THINGS.

PROVIDES THE OPPORTUNITY TO PUSH FOR ALTERNATIVES. ,
SULPHUR SPRINGS IS TRYING TO BUILD A PATHWAY TO RORENMONT MINES AND | DON'T WANT THEM USING ANYONE. //"
THE ALIGNMENT & ROUTE - USE THE SAME ALIGNMENT THAT THE CURRENT POWER LINE OR THE ALIGNMENT THAT TEP ALREADY HAS.

THE ALTERNATIVE ENERGY NEEDS TO IMPLEMENT THE USE OF ALL SOLAR ENERGY.

THE COST AND INFRINGEMENT ON OTHER PEOPLE.

THE COST AND VIEW OF THE MOUNTAINS.

THE DISAGREEMENT OF THE PEOPLE. IF THEY SEE NO NEED FOR IT, WHY PUT IT IN?

THE ENVIRONMENTAL IMPACT. LOOK INTO ALTERNATIVES MORE DEEPLY.

THE HOME OWNERS BOUGHT THERE TO GET AWAY FROM POWER LINES AND NOT OBSTRUCT THEIR VIEW.

THE PEOPLE SHOULD BE RESPECTED AND IF THEY CHOOSE NOT TO HAVE THE LINE THERE, THEN IT SHOULD NOT.

THE VIEWS OF THE MOUNTAINS AND THE COST.

THE WILD-LIFE WILL BE AFFECTED. THEY SHOULD HAVE IT BUILT UNDERGROUND WOULD SOLVE ALOT BETTER.

THEY COULD PUT IN SOLAR ENERGY. i

THEY DO NOT HAVE ENOUGH MONEY TO SUPPORT WHAT THEY HAVE, WHY WOULD THEY SPEND MORE.

THEY HAVEN'T LOOKED AT ALTERNATIVES.

THEY NEED TO DISCUSS WHAT OTHER OPTIONS CAN BE DONE, LIKE PUT THE LINES UNDERNEATH THE GROUND. SO THE OPPONENTS CAN STILL HAVE THEIR VIEW.
THEY NEED TO LOOK AT OTHER ALTERNATIVES.

THEY NEED TO TAKE CARE OF THE PROBLEMS THEY ALREADY HAVE.

THEY SHOULD SHARE POWER WITH TETON BASE.

THIS IS TO INCREASE THE BILLS ON THE UTILITIES.

TOO MUCH EXPENSE.

WE USE SHORT TERM GAINS & NEGLECT THE LONG TERM.

WE WANT THE ALTERNATIVE SOURCES DEVELOPED.

WE WON'T EVEN GET ANY OF THE POWER FROM THE NEW LINE.




ALTERNATIVE ENERGY SOURCE WOQULD BE BETTER.

COOP NOT TRYING TOO HARD TO GO SOLAR OR WIND - DO PROPERTY OWNERS WANT TO SEE WIND MILLS?
COST & REALIBILITY.

COST AND OQUTAGES.

COST AND WHAT'S BEST FOR PEOPLE AND ENVIRONMENT,

COST EFFECTIVNESS & COST OF WHATEVER RATE PAYER'S HAVE TO PAY.

COST EFFECTIVNESS & DESTROYING THE VIEW.

COST TO THE SULPHER SPRINGS VALLEY SHAREHOLDERS.

FIRST, WHO THE OPPONETS ARE AND SECOND, EXACTLY WHAT THE COST OF THE ALTERNATIVE ENERGY SOURCES ARE.
GETTING RELIABLE POWER TO THE PEOPLE IS IMPORTANT AND SO IS KEEPING THE COST DOWN.
HOW THE NEEDS CAN BEST BE MET. HOW CAN WE BUILD IT?

} CAN'T SAY BECAUSE | DON'T LIVE THERE AND | DON'T HAVE ANY INFORMATION.

| DON'T KNOW ENOUGH YET TO SAY ONE WAY OR ANOTHER.

{ DON'T KNOW MUCH ABOUT ANY OF THIS.

| DON'T KNOW WHERE THE POWER LINE IS GOING.

I DON'T KNOW.

| DON'T KNOW.

| DON'T KNOW. | HAVE HEARD VERY LITTLE.

| DON'T LIVE THERE DO { DON'T HAVE ANY OPINION AT THIS TIME.

| FEEL THE PUBLIC NEEDS TO BE EDUCATED MORE ABOUT THIS. | THINK THERE COULD BE OTHER ALTERNATIVES BESIDE RENEWABLE ENERGY. NOT ENOUGH INFORMATION.
| NEED INFORMATION BEFORE | CAN MAKE A DECISION.

| NEED MORE INFORMATION. | DON'T KNOW WHAT THEY NEED.

| THINK | WOULD LIKE SOMETHING IN THE SOLAN AREA TO BE CHECKED OUT.

| WANT TO SEE THEM PUT IT UNDERGROUND.

IF{T'S SOMETHING THAT WILL BRING IN MORE JOBS, WHY WOULD THEY WANT TO EXTEND IT? IS IT ONLY FOR RESIDENTS?
IF SOLAR IS ALTERNATIVE LOOK INTO IT. .

IF THE PEOPLE WANT IT THEY SHOULD GET IT AND iF THEY DON'T THEN THEY SHOULDN'T - KEEPING MY ELECTRICITY LOWER.
I'M UP IN THE AIR. WE NEED MORE POWER BUT THEY NEED TO FIND ANOTHER WAY.

IS IT REALLY NEEDED?

KEEP 1T WHERE 1T DOESN'T DISTURB THE ENVIRONMENT TOO BAD.

LEARNING TO OPPOSE, TOO MUCH MONOLOPY.

LOOK AT ALL ALTERNATIVES & TRY TO WORK WITH THE PEOPLE.

MAKE THEM PAY FOR IT! WIND MILLS ARE WAY WORSE FOR THE VIEW THAN POWER LINES!

NO OPINION

POWER LINES SHOULD BE PUT IN BUT UNDERGROUND ONLY.

RAISES IN RATES.

RELIABILITY OF SERVICE. RE-USE OF RENEWABLE ENERGY.

THE COST IS ONE AND HOW MUCH THE CUSTOMERS NEED THE POWER.

THE HIKE IN COST. THE ECONOMY DOESN'T CALL FOR SPENDING MORE MONEY.

THE PEOPLE WHO LIVE THERE.

THE PEOPLES VIEWS AND THE LAND

THE SOONER THE BETTER.

THEY DO NEED SOMETHING DONE.

THEY NEED POWER LINES. IT SHOULD BE BUILT UNDERNEATH.

THEY NEED TO GIVE ME A LOT MORE INFORMATION. THIS SURVEY IS THE FIRST I'VE HEARD ABOUT IT.
THEY SHOULD NOT PUSH THAT SO FAST AND DO PHONE STUDIES FIRST.

WE DO NOT NEED A NEW FEEDER LINE. NOT OUTAGES WHERE | LIVE. ,

WHETHER IT IS REALLY NECESSARY.

WHETHER PEOPLE CARE ABOUT THE OUTAGES.

WHY CAN'T THEY BURY THEM.

WISH SOMETHING COULD BE DONE W/O ELECTRIC BILL GOING UP.

WOULDN'T WANT TO BLOCK VIEW/WOULDN'T COST MORE.



BECAUSE ITS A GREAT VALUE AND RELIABLE SERVICE.

I DON'T WANT IT.

I HAVE A DIFFERENT SERVICE THAT | LIKE.

IT IS RELIABLE.

IT WORKS BETTER THAN WHEN | LIVED ON THE OTHER SIDE OF THE STATE.
NOT GREAT SERVICE.

PHONE SUCKS BUT INTERNET IS GOOD.

SHE GETS WHAT SHE WANTS OUT OF IT.

THE INTERNET SERVICE IS SLOW & EXPENSIVE.

TOO SLow.

WE ARE RETIRED AND WE DON'T NEED THESE SERVICES.



ALREADY HAVE SERVICE.

ALREADY WITH ANOTHER PROVIDER.

BECAUSE AN ANTENNA IS NEEDED & THATS TO MUCH WORK
BECAUSE | LIKE THE SERVICE | ALREADY HAVE. THE PEOPLE | KNOW WHO HAVE THEIR SERVICE SAY IT'S NOT RELIABLE.
BECAUSE | LIKE THE SERVICE WE HAVE.

BECAUSE | SPEND ONLY SEVEN MONTHS OF THE YEAR HERE SO FAR.
BECAUSE | WANT THEM TO STICK TO ELECTRICITY.

BECAUSE I'M WITH QWEST.

BECAUSE IT DOES NOT REACH OUT HERE AT HOME.

BECAUSE ITS NOT AVAILABLE TO US IN THIS AREA.

BECAUSE IT'S TOO EXPENSIVE.

BECAUSE MY HUSBAND RUNS COMPETITION.

BECAUSE OF COST.

BECAUSE THE INSTALATION IS TOO EXPENSIVE.

BECAUSE THEY DON'T OFFER T.V. AND MY HUSBAND WOULD HAVE A HISSY FIT!
BECAUSE WE WERE LEAVING.

BETTER PROVISION BY ANOTHER SOURCE (QWEST).

BROADBAND 1S CHEAPER.

BUNDLE WITH QWEST.

CABLE IS FASTER.

CHEAPER PACKAGE.

CONTENT WITH WHAT | HAVE.

COST & AVAILABILITY. .
COST AND ANTENA ON THE HOUSE.

COST.

COsT.

COST.

COsT.

COST. QWEST IS BETTER.

DIDN'T HAVE THAT GOOD OF COVERAGE.

DIDN'T KNOW UNTIL. TOO LATE.

DIRECT TV WILL KICK THEIR BUTT.

DO NOT HAVE COMPUTER.

DO NOT HAVE THE EXPENSES.

DON'T LEAVE IN THE HOME.

DON'T USE INTERNET.

DON'T USE THE COMPUTER MUCH.

FAMILARITY WITH COMPETING COMPANIES.

FIND OTHER CHEAPER SERVICES.

GO WITH A DIFFERENT COMPANY BECAUSE IT'S CHEAPER.

HATE TO SWITCH IT'S A HASSEL, WHEN THE TIME IS RIGHT | WILL.
HAVE A BETTER OFFER FROM A DIFFERENT COMPANY.

HAVE SATELLITE INTERNET

HERE IN TOWN (COX) DOES A BETTER JOB.

1 ALREADY HAD SERVICE IN PLACE WHEN THEY STARTED OFFERING IT. T'S TOO MUCH OF A HASSLE TO CHANGE IT.
| ALREADY HAVE ANOTHER SERVICE.

| ALREADY HAVE COX CABLE AND SEPERATE PHONE SERVICE AND SEPARATE PHONE SERVICE. | DON'T WANT TO CHANGE OR DEAL WITH ANY MORE CARRIERS.
I ALREADY HAVE INTERNET THROUGH THE CABLE COMPANY.

I AM ALREADY SET UP.

| CAN GET OTHERS CHEAPER.

| CAN'T REMEMBER WHY.

} DID NOT KNOW HOW LONG | WOULD BE LIVING THERE.

I DON NOT NEED IT.

| DON'T BECAUSE THEY REQUIRE A CONTRACT.

I DON'T DO COMPUTERS.

t DON'T HAVE & | DON'T WANT A COMPUTER.

| DON'T HAVE A COMPUTER AND DON'T TRUST THEM.

| DON'T HAVE A COMPUTER AND DON'T WANT ONE.

I DON’T HAVE A COMPUTER.

1 DON'T HAVE A COMPUTER.

| DON'T HAVE A COMPUTER.

| DON'T HAVE A COMPUTER.

I DON'T HAVE A COMPUTER.

| DON'T HAVE A COMPUTER.

1 DON'T HAVE A COMPUTER.

| DON'T HAVE A COMPUTER.

I DON'T HAVE A COMPUTER.

| DON'T HAVE A COMPUTER. } ONLY OWN A CELL PHONE. | TOOK OUT THE LAND LINE.



| DON'T HAVE INTERNET.
1 DON'T HAVE THE CONNECTIONS FOR IT.
| DON'T KNOW HOW TO USE A COMPUTER
1 DON'T KNOW.
| DON'T LIKE MODEM INTERNET.
| DON'T NEED IT.
| DON'T NEED IT.
I DON'T NEED IT.
| DON'T NEED IT.
| DON'T THINK IT WOULD BE AS EFFECTIVE AS QWEST, WHICH | HAVE.
| DON'T WANT IT.
| DON'T WANT IT.
1 DON'T WANT TO CHANGE.
| DON'T WANT TO GET INTO THE INTERNET OR DIGITAL PHONE SERVICE STUFF. 'M TOO OLD.
| FIND IT NOT AS RELIABLE AS CABLE.
| FOUND BETTER SERVICE.
| GET BETTER RATES WITH OTHER PEOPLE.
| GET HIGH SPEED INTERNET FROM ANOTHER PROVIDER.
| GET MINE FROM THE TELEPHONE COMPANY.
I HAVE A BETTER DEAL NOW COSTWISE.
" I HAVE ANOTHER SERVICE I'M HAPPY WITH.
| HAVE BEEN WITH VALLEY TELECOM FOR LONG TIME.
I HAVE COX CABLE. .
I HAVE FASTER SERVICE WITH CABLE.
I HAVE HIGH SPEED THROUGH COX.
| HAVE NO COMPUTER.
I HAVE OTHER INTERNET SERVICE.
| HAVE QWEST.
| HAVE SERVICE ELSEWHERE.
| HAVE SOMETHING ELSE.
I HAVEN'T CHECKED INTO IT ENOUGH TO KNOW.
I HAVEN'T HAD A NEED FOR IT YET.
| HAVEN'T HEARD ABOUT IT. | HAVE EVERYTHING THROUGH COX.
I HAVEN'T INQUIRED ABOUT IT, | USE ANOTHER SERVICE AND JUST STUCK WITH IT.
1JUST DON'T NEED IT AT THIS POINT IN MY LIFE.
1JUST FOUND OUT ABOUT THE SERVICE.
1 JUST HAVEN'T LOOKED INTO IT.
I LIKE COX INTERNET.
| LIKE MINE BETTER.
| LIKE WHAT | ALREADY HAVE.
| LIKE WHAT | HAVE.
I NEVER HAVE, I'M HAPPY WITH QWEST.
{ PREFER CABLE MODEMS & CELL PHONES.
| SERVICE THROUGH QWEST.
| WAS WITH QWEST BEFORE | FOUND QUT ABOUT IT.
I'M HAPPY WITH COX.
I'M HAPPY WITH COX.
I'M HAPPY WITH VTC.
I'M HAPPY WITH WHAT | HAVE - ANOTHER SERVICE.
I'M HAPPY WITH WHAT I'VE GOT.
I'M KIND OF CHALLENGED BY TECHNOLOGY. | DON'T HAVE A COMPUTER.
I'M LAZY.
I'M NOT INTERESTED IN THIS.
I'M ON A FIXED INCOME AND CAN'T AFFORD THAT LUXERY.
"M ONLY HERE FOR A SHORT TIME IN THE WINTER, SO | DON'T NEED IT. 1 DO LEAVE THE ELECTRICITY ON ALL YEAR.
I'M PRETTY HAPPY WITH QWEST.
"M RETIRED FROM QWEST AND | GET MY PHONE FREE.
I'M SATISFIED WITH MY CURRENT SERVICE.
| I'M SATISFIED WITH WHAT | HAVE.
I'M WITH ANOTHER PROVIDER.
INCOME.
IS NOT COST EFFECTIVE.
IT DOESN'T REACH TO MY RESIDENCE.
IT DOESN'T WORK VERY WELL.
IT IS TOO EXPENSIVE.
IT WOULD BE MORE COSTLY TO ME.
iT'S CHEAPER WITH ANOTHER COMPANY.
IT'S EXPENSIVE.




IT'S MORE EXPENSIVE THAN MY SERVICE.

IT'S NOT AVAILABLE IN MY AREA ANYMORE.

IT'S NOT WORTH THE MONEY TO ME.

IT'S TOO EXPENSIVE AND THE ECONOMY IS BAD.

IT'S TOO EXPENSIVE.

IT'S TOO EXPENSIVE.

IT'S TOO EXPENSIVE.

IT'S TOO EXPENSIVE.

I'VE GOT QWEST & TOO MUCH WORK TO CHANGE QVER.

I'VE HAD THE SAME SERVICE FOR OVER 10 YEARS AND AM HAPPY WITH T}
JUST USE CELL PHONE RURAL AREA.

MONEY!

MORE EXPENSIVE.

MUCH BETTER DEAL WITH DIFFERENT PROVIDERS.

MY COMPANY PROVIDES FOR FREE.

MY COMPUTER IS NOT THAT GOOD, SO IT WOULDN'T BE WORTH IT FOR ME
MY FATHER 1S 91. HE HAS NO INTEREST IN COMPUTERS.

MY HUSBAND HAS RETIRED FROM QWEST AND GETS IT FREE.
NEVER NEEDED IT. I'M HAPPY WITH THE SERVICE SHE HAS.

NEVER REALLY THOUGHT ABOUT IT.

NEW TO RECENT SERVICE.

NO BECAUSE CAN'T EXCEPT IT WHERE | IVE AT THIS APARTMENT.
NO COMPETITIVE PRICES.

NOQ COMPUTER.

NO NEED.

NO REASON

NO REASONS.

NONE

NOT ENOUGH EFFICIENCY IN SERVICE.

NOT ENOUGH MONEY.

NOT HOME ENOUGH.

NOT INTERESTED. NO NEED.

QUT OF THE AREA.

PHONE DON'T EXCEPT HIGH SPEED.

PRICES TOO HIGH.

PROBLEMS WITH RELIABILITY.

QWEST HAS BETTER PRICES

QWEST IS CHEAPER & BETTER & THAT'S WHAT WE HAVE.

QWEST IS CHEAPER.

SERICE ELSEWHERE.

SERVICE ELSEWHERE.

SET WITH SOMEONE ELSE.

SIGNING A CONTRACT.

SOMEONE ELSE IS MORE COST EFFICIENT.

SOMEONE ELSE PROVIDES IT.

THE COST

THE COST ISTOO HIGH.

THE COST MORE EXPENSIVE.

THE SPEED AND RELIABILITY.

THE TIMING WAS WRONG.

THERE 1S HIGHER SPEED INTERNET WHERE  AM.

THEY ARE A POWER COMPANY, NOT A COMPUTER/INTERNET COMPANY.
THEY DON'T RESPOND TO MY PHONE CALLS!

THEY WEREN'T COMPETITIVE TO OTHER COMPANY BUNDLES.
TOO COSTLY.

TOO EXPENSIVE.

TOO EXPENSIVE.

TOO EXPENSIVE.

TOO EXPENSIVE.

TOO MUCH TROUBLE AND COST.

WE ALREADY HAVE ANOTHER SERVICE WE'RE HAPPY WITH.

WE ALREADY HAVE COX.

WE ALREADY HAVE IT THRU DIRECT.

WE ARE AN OLDER COUPLE AND NOT UP ON TECHNOLOGY TODAY.
WE ARE HAPPY WITH THE SERVICE WE HAVE.

WE ARE HAPPY WITH WHAT WE HAVE AND THEY MAKE TOO MANY CHANGES.
WE ARE SET WITH WHAT WE HAVE.

WE ARE WITH VALLEY TELEPHONE - LOCAL COOP & SULPHUR SPRING'S INTERNET IS NEWER.




WE BUNDLE WITH COX BECAUSE IT'S CHEAPER.

WE DON'T HAVE LAND LINES. WE ONLY HAVE CELL PHONES.
WE HAD IT AND IT WAS SLOWER WE HAVE BROADBAND NOW.
WE HAD QWEST FIRST AND NEVER DECIDED TO SWITCH.

WE HAD QWEST FIRST AND NEVER SWITCHED.

WE HAVE A BUNDLED PACKAGE FROM ANOTHER PROVIDER.
WE HAVE ALWAYS HAD OTHER SERVICE.

WE HAVE DIFFERENT SOURCES

WE HAVE IT WITH VALLEY.

WE HAVEN'T LOOKED INTO MUCH!

WE SUBSCRIBE TO VERIZON AND WE GET A MAJOR DISCOUNT BECAUSE MY HUSBAND IS RETIRED FROM VERIZON.

WE USE A COMPUTER AT OUR IN-LAWS HOME.

WE WENT WITH SOMETHING BETTER.

WE WERE NOT ABLE TO GET IT.

WE'RE REMODELING.

WE'VE HAD QWEST FOR YEARS & I'M HAPPY WITH THEIR SERVICE.

WHEN 1 FIRST MOVED HERE VALLEY TELECOM GOT HERE 1ST.

WHEN | MOVED HERE THE ONLY ONE | COULD GET WAS VALLEY TEL AND THAT'S WHAT | HAVE NOW.
WHEN IF FIRST GOT MY CURRENT SERVICE, | DIDN'T KNOW SULPHUR SPRINGS ELECTRIC OFFERED IT.
WHERE | AM, IT IS NOT AVAILABLE YET.

WHERE I'M AT SERVICES ARE NOT THAT GREAT. | USE WIRELESS AND IT WORKS GREAT.



